JH N i —

}A_ V2 N =] ?i? AEE IEE *fL %%i BE% 12\ Ei]
GUANGDONG HAOJIE SPEED REDUCERS CO., LTD
ot TEREEAEmEFEALEES BB 4m: 523000
B 1&5: 086-0769-88387287 13712580294 (L IE [[))

£ H: 086-0769-22477253

Http://www. dghaojie. com
E-mail:1014323638@qq. com ({8 &)

QQ:1014323638

== i = R

[~ IR R

ZIN T 7w

IR B PR 2 &

GUANGDONG HAOJIE SPEED REDUCERS CO.,LTD

2025/05h%

t I T ik

PE-R=

B F i




b &5 3 [

&3 D) €

&3 ) €

I &5 & [

>>TE M5

COMPANY PROFILE

FEERBZENERABREZHERN
BENBRAADEZ—REF R . &It HiE&
MEET—AKBRTEN. HHEHRED
SME AN, I EE S E SRR
AN AELAF, 1S09001AIER L, 2 F
B—ANAREFEMRILLK HEBHFURE =R
KER, EI+EEHEEHETHA, B2
BART 8RR .

el RXRI—RRERBIEN: R
RONBERBIEN : FRFFIT R & R E
Hl: KRIIFER-HEERBIEN; SRR SRR BIEN :; NMRVA TR BIEN ; TRFIZREHE S
REEEFM: X. BRIIBLFRBIEN: WBRIIMEBL SR BIEMN :; MBRIIN M T RETEMN: JWRT
WRAR L AT FBEHL, SWLRTIMRR LT FABEHL, H. BRIRET W SRE PRIITEERBIEN, GRF £
HAERBERENZHNERABRENSHLERERY, HTHABRNTR, URESHASE T
ETHE SHRTRNmREBHERBSTLEKXR 2 BaER LI a0 &S &L iE R AR R

BahxE.
RAMES: ol zEBTEEF L. BHED. KIKK. RIIRE. BEMAM. HKEBE
W, BDORMRMA. SANE. em8R. BENWM. HIANWN. RREE. SRR . EEHE. 4

MEN S . KREMM. BN, BTN, RENAR. FENM. BERE. SIS REFERARE
mEe. BRI, IREEZERERE.

FEERBENERLABDUEEMNEANE, BROMIREMENRE, REETRANM
FE. F@XATARIK. RRAMKITER, FrREar ZMENE. 2RNEZBEZMRIMN
i, mBTHBEMNZE, RLABAIMBRERMNSIUAFHB~®.

NEREREEE. REBE 2FIFH:—REL. —RERX., —FFR. —RARF REZH
EREMm

TEARIIEN BiE. 0769-88387287 13712580294 {£ & . 22477253

=7
SR E

PRODUCT INTRODUCTION

B AT ENEL AR E AN SHNE BAERNERA EEERNEE
LfEFGHEREE SRNSBHEE AERNSESHEH e XS HBESRE. KAA

MEMRMEE B

AKNRFERED R EESIRERSEWA T, ZEFLENDERA R, HAEARTSUBAKIA
g, ZAFIMOTOVARIOA B RE S~ &,

g

FFAT 3 G R R 1

S BRI A E M

K #1550 HE 15 50 R AL

T 32 0 15 50 5% 2 2%

HD 32 7 $k 15 42 %% =) 2%

¥

P/PX 1T 2B E# B/ B R AR B ik

RX. R L& E B IR

B
6 25 A EREEN

KM 2 3R i T 15 %2 0 2R

NMRV/WP i % 3 4 5 i 41l WB ffl BY #2 2 5 1R 4l

MB/UDL 1T2 LR T iEH

FiE: 0769-88387287 13712580294 fEEH: 22477253

¢ |

JWM/SWL/SJ 22 ¥F F P& #1

&

SJA 2 HE L2 FF FHEE A HB T i5% 48

T AN IR



BEWE (B

WEHWE @6

=
>R
PRODUCT INTRODUCTION

EATEMTREMRLRREASEEMED BASSMRA A EESRNEE
EEFROEHE RRNEENELE AEZERNFEHNH AL FHELSRE. KHAX
ME My EEE Br.

AARAFEMBR RN EEBIRBESEWL R, EEFLENDERA R, HAREARTSUBAKIZL
7, EAFIMOTOVARIOA B R E S =&,

/ N
BT IR EE A

MI1CRO AC GEAR MOTOR

ZEH s output torque (N.m) :0.10-120
ZMEINZErated power (w) :15-750
f£Ehtktransmission ratio=3

N\ R 1-25% /)
N\

P RIBEITEIRKIEL

P SPRECISE PLANET GERAUNITS

HEH s Eoutput torque (N. m) :16-20760
KME X rated power (kw) :0.12-75
fE&fitktransmission ratio=3

RREE: 26-447

/ N
G &5 2L MIE

G  SMALL REDUCTIONGERR UNITS

K EHEEoutput torque (N.m) :2. 6-970
ZEIN R rated power (kw) :0.10-3. 7
fE3htktransmission ratio=5

\ FIREE: 45-597 /

TSI MiE. 0769-88387287 13712580294 f5E . 22477253

=
> A
PRODUCT INTRODUCTION

/

SKM  Z71 X T A0 iRk 2 A

SKM SMALL REDUCT ION GERR UNITS

K EHEEoutput torque (N. m) : 130-500
ZEIN R rated power (kw) :0. 12-4
f£shtktransmission ratio=7.5

TARYSEE: 60-75T1

o .

NMRV ZR5R% &R

NMRV WORM REDUCER GERR UNITS

SEH % output torque (N. m) :8-1023
FIEIN R rated power (kw) :0.06-7.5
f£Ztktransmission ratio=7.5

MWEE: 76-87
AN

WP R 55 ERUREE RE
WP WORM REDUCER GERR UNITS
FEH S output torque(N. m) : 19-1782

BENRrated power (kw) :0. 12-22
£5tktransmission ratio=10

TAEE: 88-112@ /

N\
BERTRIBRRE

BRUSHLESS DC DRUM MOTOR

MEH s Eoutput torque (N. m) : =0. 032
KENErated power (w) : =10
fEshtktransmission ratio=3.7

TEEE: 123-123R /

BiE: 0769-88387287 13712580294 {£E . 22477253 FEZRIRIEN



KA @ 6

BEGE @6

SIN T NNR S
PROCESSING EQUIPMENT

NEMBERNIRITLFHEIE LREISHAUERFE Z E & Hl, £ /IIYD7163# M AL 4L EE S Hl, &= )IIYK7236.
YK72208R FF Rb 58 BB A #L, fEEPFAUTERR G HL, EXYS150REHL, KiFEYT22504% B 7R & St im#l
, FARYA650HTIGHL, FIETHE563EN N Ty, T K BHTXEI B IR, ST525AT7 BEME L BB IR, = 44 4R

MEL, CZ4508REE

RENEMNZE2002 EEM I RN K E.

mIig&
— J— w s

CoRIR =

T AN IRIERA

WO

HRIREMEMN

FiE: 0769-88387287 13712580294 ¥ & : 22477253

>> M FAZE )

APPLICATION CASE
EROZEATAET L. AN, KTHRER. BITE. BMNH. SBER. BORMA,
GUER. AROE. WMENR. FHBHIM. FRIEE. BROR. EBEHE. WRPE. REMN

. AN, BRI, RENW. SEVM. BEEE. FI0EEZBREEMES. XM,

AR EFEZERERE

T
e 7R &
w R g & & Mg & O e
2 g & T i MM WO R

Bi%. 0769-88387287 13712580294 & . 22477253 FEAR IR



U 5 0 D 3

INDUCTION/SPEED CONTROLLER MOTOR

LRIt A E:

FA1TH

SERRIENL ®iE: 0769-88387287 13712580294 {5 E . 22477253 1




180 7 50 3 . . ~ ~ | . 180 7 50 3

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

.

7 4= -
FirHX
32 81 ‘
Saasum s\ e
I ] i
5 I K 90 R - GU - C - F :_:‘g "l
ol — — — o
BESR~H  DiE#E SiERY  BNmE SRR kAR AR R 2L H o M = =t =
3:70mm RSk kR 15:15W R:RTIAEDIE A8 A: B FB110V50HZ-4P TIHELE 300mm
4:80mm R:A] i 55k 25:25W T RRERDIE A PEEE C: B fH220V50HZ-4P F R ' H T
5:90mm 40: 400 aN:E BRI s =4H220v50H2-4P M- P T R B R 2
6:104mm 60:60W GU:NSREIRIEGH  u: =4E380V50HZ-4P
7:120mm 90: 90 Y: = 4H380/220V/50Hz-4P
120:120W Hib FLEIFES LS
140: 1400
180: 180W ;
200 200W 4-M3 P 6 E - 1{1 S - 81 -
250:250W : - '}5._""
R = - | i
. . ¥ o 7 af =4
magmswls  \ ="
f = 1 U = =
5 GU - 50 - K soomm Z N |
R Dk LESCEES o B o 3 v
3:70mm VR B Rtk S by o i 50: 1:50 K:F1TH 4-0.03 "/, L
4:80mm GU: AN 3R EL R U5 40 4 RA: B 32 4, 350 4 4 - o70 P 6 i =5
5:90mm 6S:H H & BUFEA RH: B 32 4, 25 /0 4 4
6:104mm
7:120mm

Fﬁ%‘JE’_-*.EE& *Jctf;;-:hMOmm,E:%‘RTTI
Yo HEEERR. BIRET, T DAE, LIDC500VAYLE L B IE kRN E Dk B £ J8 & Bl 70 D3k 555 2 (8] By 48 S i P A,
K F100Jk BX

Yo BEBEEER. FEET, CSREIER EIENERBELBINT XA, L1500V 50/60HZiI N1 $ AT XM @,

wRELERIEE AEBZERNER SEREAREN ELAREAOCUT GERBKEEE EFHEECOCLUT).

B (130C) Bz BB A B S mE BE IES Bt | EEhEEIE | BUERE | SRR | BERE | BR
e EFRAE: ~10C ~+40°C (S48: ~10C ~+50C) (B k%) LI R W v He A N.m N.m | r/min | min | Uf/VAC
Yo B R R 85%EL T G £ 3 M9 37 B . 31K15A-A 3IK15GN-A 15 1PH110 50 0.369 0.138 0. 106 1350 EE 5/250
31K15A—C 31K15GN-C 15 1PH220 50 0.184 0.138 0. 106 1350 ES 1.5/450
T s | osors | 15 | wwm | w | oz | oo | ows | wso | mm | -
Se R SRR 3 2 IR S R A R 5 A 31K15A-U 3I1K15GN-U 15 3PH380 50 0.134 0.180 0. 106 1350 LR G
Yo LI 98 6 PR SE M T M0 — (R IR, SR E SR 5 5 06 0 — 1, R 2R TR MR, EiE: RtbRHBHAREN
Y MHHERERA DA RER RBEGH KX NLE, FERE L EREEIK2-20%.
| mayemse  \ =
B EE e
R L 3136/ 4| 5| 6|75 9 |10/125 15|18 20| 25 |30 | 36| 40 | 50 | 60 | 75 | 90 | 100|120 | 150 | 180 | 200 | 250 | 300
Yo FERIREEW A ER RIS RERSEENGN T EEEHMEATAME R NS ERRER A ERARE. #%3%r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.318.7|15.5| 14 |11.7|9.3|7.8| 7 |5.6|4.7
Yo SEAMHEREER, FHIAFIEE B FEAEME SRTRE. o0nz #1455 N.m |0.32(0.38|0.42(0.53]0.64|0.8|0.96(1.06|1.33|1.59|1.64|1.83/2.28(2.74/3.29(3.65/4.56| 5 | 5 [ 5 | 5 [ 5 | 5[5 |5 |5 |5
WA EBREEERITAORETIER AN $53%r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112(93.3| 84 (67.2| 56 [46.7| 42 |33.6| 28 |22.4|18.7|16.8| 14 |11.2|9.33| 8.4 [6.72| 5.6
WAREILS HEMERSUHIEE FMWE ARG B HEER K IETEEHH R o0nz 4% N.m |0.26|0.31(0. 34|0.43|0.51(0.64/0.77|0.85|1. 07 1.28|1.32(1.47|1.83| 2.2 |2.64|2.93(3.674.4| 5 [ 5 | 5 | 5 | 5 |5 |5 |5 |5

2 Bif: 0769-88387287 13712580294 {5 HEH . 22477253 EINIHIENL VEARIHIENL EiE: 0769-88387287 13712580294 {EEH . 22477253 3




AR 5 30 3 D 5 - v v = Rl 2L 5 5 IRUR 5 1

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

.
R

T
2 32 85
4-dohole - - — Ny R . . N
2| [[2fms | B 3 (R D ) B (O )
£ 4GN. . RA 4GN. . RH
o | 2%
2 =] &
300mm e
- : T ¥
_(066.5)
080
4-M5/ 6 B2 4 8 b i 4| w1sus
' | 3 5.5 ~ T i
=] 25 ' A [
| - "
=t i =~ & s
2 g 2
&Y ':3.,"' > >
300mm 5 e -
4-0.03 v :
, ok
(366.5) o
g=——
o—)
e P EEREENDHRTE, BEEDRKE S M 2mm, -
#5 E 8 0k K E S Mmaomm, K& RTRE. L of o ¥ 5 = o
—l— =+ L el w| = =

25

$35h7
RS FR AL B S h=x BE IES Bt |BEhERIE | REAE | SRR | FERE | BR
EHreA | KR W v He A N.m N.m | r/min | min | Uf/VAC e M EAEERMEN DR TE, R DK E S M 20,
41K25A-A 41K25GN-A 25 1PH110 50 0.614 0.230 0.177 1350 TS 5/250 WA ERDEKE S M40mm, ERXRFAE.
41K25A—C 41K25GN-C 25 1PH220 50 0.307 0.230 0.177 1350 L 2/450
41K25A-U 41K256N-U 25 3PH380 50 0.223 0.301 0.177 1350 L ~
&iE: HitRiSHESEN AL b 6 | 75 | 9 | 108 | 12 | 15 | 18 |22.5| 27 | 30 |37.5| 45 | 54 | 60 | 75 9 | 108

¥i&r/min | 225 180 150 125 | 112.5| 90 75 60 50 45 36 30 25 22.5 18 15 12.5
e S —

% Nm | 0.64 | 0.8 | 0.96 | 1.15 | 1.27 | 1.59 | 1.91 | 2.39 | 2.87 | 3.18 | 3.98 | 4.78 | 5.73 | 6.37 | 7.96 | 9.55 | 11. 4

IR bt 3 (36| 4 5 6 (7.5 9 | 10 |12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100 120 | 150 | 180 | 200 | 250 | 300 R 120 150 180 295 270 300 360 450 540 600 750 900 1200 | 1500 | 1800 | 2250

4%3%r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3|18.7(15.5| 14 [11.7/9.3|7.8| 7 |5.6 |47

50HZ .
4145 N.m |0.48(0.57|0.64| 0.8 |0.96|1.19|1.43|1.59|1. 99|2.39| 2.8 [3.11|3.89|4.67| 5.6 [5.87(7.16| 8 | 8 | 8 | 8 | 8 | 8 |8 |8 |8 |s Fiir/min | 1129 8 6 5 45 |3/ 3 251225 1.8 1.5 [1.12] 0910751 06

4% r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112 93.3| 84 [67.2| 56 |46.7| 42 [33.6| 28 |22.4|18.7(16.8| 14 |11.2]9.33(8.4]6.72|5.6 %6 N.m 12.3 | 15.9 | 19.1 2.38 | 23.8 | 28.6 | 31.8 | 38.2 | 38.2 | 38.2 | 38.2 | 38.2| 38.2 | 38.2 | 38.2 | 38.2

60HZ

$%E N.m |0. 38 |0.46|0. 51 [0.64|0.77 [0.96(1.15(1.28| 1.6 |1.92(2.25 (2.5 |3.13|3.75| 4.5 |4.72|5.76(6.91| 8 8 8 8 8 8 8 8 8

4 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 5




AR 5 30 3 D 5 - v v = Rl 2L 5 5 IRUR 5 1

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

.

R

T 175
e = L3 AY — Ky AY
- Do AeThole 5 37 105 B 3 i3 (S50 ) B (305
- e ] 4 5GN. . RA 5GN. . RH
2 q:"]i-
2 fei—— =
300mm = i
1 T
, @73.5) |
8.5 090
4-M6/ b7 L 375 65 105 =
a ':5"“5 i 2 . 1 V. N ]
= e I 104! \::;\
3t . 2 . | e 2
D = = - 2 « .
il M=y || ___ 1| éﬁ &
= £
300mm - og 105 98.5 \4-b7
4-003 7 ]
ok 248.5
i
)
i UEAERBBRERNDSORTE, EREDEKE S M 2mm, [ | : 1
#5525 50 T ik K FE 5 An40mm, H 4 R ~H R I5. 4 IR~
| I i I s — 2
*-—-aj: | | | <| o &
] = »
- & ;o& | ]
T g cllEs
¢ 15h7 - $40h7
. = - - —— - - $40h7
BN LB S & & S BT | BENEERE | BERE | BIERER | HERE BAE
= 8 8
EsFEA | AHHEAL W v HZ A N.m N.m | r/min | min | Uf/VAC . M EAERESEN DR TE, AR DA KES M 2,
51K40A-A 51 K40GN-A 40 1PH110 50 0.983 0.368 0. 283 1350 &L 10/250 HHERDEKE S 40mm, EE R TR,
51K40A—C 51K40GN-C 40 1PH220 50 0.491 0.368 0. 283 1350 E 3/450
L DR =
51K40A-U 51K40GN-U 40 3PH380 50 0.358 0.387 0. 283 1350 E ~
£, HitmySHiEE AN BIELL 5 6.25 | 7.5 9 10 | 12.5 | 15 |18.75| 22.5 | 35 |31.25| 37.5 | 45 50 | 62.5| 75 90

& r/min | 270 216 180 150 135 108 90 72 60 54 43.2 36 30 21 21.6 18 15
mapmeme \ N

1% Nm | 0.85 | 1.06 | 1.27 | 1.53 | 1.7 | 2.12 | 2.55 | 3.18 | 3.82 | 4.24 | 5.31 | 6.37 | 7.64 | 8.49 | 10.61|12.73| 15. 28

R LE 3 36| 4 |5 6 (7.5 9 | 10 |12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100|120 | 150 | 180 | 200 | 250 | 300 WBOE EE 100 125 150 | 187.5| 225 250 300 375 450 500 625 750 | 1000 | 1250 | 1500 | 1875

4615 r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140| 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 [23.3|18.7|15.5| 14 (11.7/9.3(7.8| 7 |5.6 | 4.7

50HZ $iRr/min | 13.5 | 10.8 9 7.2 6 5.4 4.5 3.6 3 2.7 | 2.16 1.8 |1 1.3 ] 1.08| 0.9 ]0.72
$H%E N.m |0.77(0.93]1.03|1.29|1.54(1.93|2.32|2.57|3.22|3.86|4.63|4.87/6.08|7.3|8.76(9.73(12.2(14.6/18.3[ 20 | 20 [ 20 | 20 [ 20 | 20 | 20 | 20

#53%r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112 |93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4|18.7|16.8| 14 |11.2|0.33] 8.4 6.72| 5.6 {H%E N.m | 16.9821.22 |25 47|31.83 | 38.2 | 42 44/50.93 | 50.93|50.93 | 50. 93 | 50.93 | 50. 93  50. 93 | 50. 93 | 50. 93 | 50. 93

60HZ

#H%E N.m |0.62(0.74/|0.83(1.03|1.24(1.55/1.86(2.07|2.59|3.1(3.72|3.91(4.89|5.87(7.04|7.82(9.78|11.7{14.7(17.6/ 20 | 20 | 20 | 20 | 20 | 20 | 20

6 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 7




o L £A ek ‘
B R ROE S ik
INDUCTION/SPEED CONTROLLER MOTOR

o L £A ek ‘
B R 8 ROE B ik
INDUCTION/SPEED CONTROLLER MOTOR

.

P PR .
Zram 8.3
i
—— LY |:‘—| AY —— K3 |_\_|
A0 B X5 (R0 5h) BRI (0 3)
| o IR
g 5GN. . RA 5GN. . RH
T
375 65 135
=T — - -
agnpd L85
. i
= .
= b=y 0 e $ 1THS
O
T 3]
7
g 2 2
(a] [=] o
L
385 65 - 125 98.5 4-47 125 98.5 - 07
e TiEs P 268.5 268.5
= .-31-. | T i
“: s =
A=t o LN
a
& | v e =
~
94— & S — 2
| 4 4% S | = o b3
] i = i
|
3 e | | _ﬁh‘J—r—' . !
J]] :[ b= e $40h7
= e 2 R n g ; e 5
RAA:=R EidE=s & & b B | /BohiEsE BEsRiE | SRR HEkE| BAE 1087
$40h7
EGheE | B ] v HZ A N.m N. m r/min min Uf/VAC
51K60A-A 51 K60GN-A 60 1PH110 50 1.474 0.552 0. 424 1350 &L 10/250 I BRERDEKE S M45mm, HERTARE.
51K60A-C 51 K60GN-C 60 1PH220 50 0.737 0.552 0. 424 1350 L 4/450
51K60A-S 51 K60GN-S 60 3PH220 50 0.926 0.580 0. 424 1350 L ~ RS
51K60A-U 51 K60GN-U 60 3PH380 50 0.536 0.580 0. 424 1350 L ~
&35, HigmiSKiEE A IR EE 5 | 6.2 | 7.5 9 10 | 12.5| 15 |18.75|22.5 | 35 |31.25| 37.5| 45 50 [625]| 75 90
5% r/min | 270 | 216 | 180 | 150 | 135 | 108 | 90 72 60 54 | 43.2 | 36 30 27 | 21.6| 18 15
L R
$A% Nom | 1.27 | 1.59 | 1.91 | 2229 | 2.55 | 3.18 | 3.82 | 4.78 | 5.73 | 6.37 | 7.96 | 9.55 | 44.46|12. 73| 15.92| 19.1 | 22. 92
diatas 8 |%6{ 4| 5| 6|75/ 9 |10125/ 15 18| 2 | 25| 30 | 36 | 40 | 50 | 60 | 75 ] 90 | 100]120 | 150 180 | 200 250 | 300 BREL | 100 | 125 | 150 |187.5| 225 | 250 | 300 | 375 | 450 | 500 | 625 | 750 | 1000 | 1250 | 1500 | 1875
%#E3%r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 78 70 56 47 138.8| 35 28 |23.3[/18.7|15.5| 14 |11.7/9.3]7.8 7 5.6 4.7
50HZ #5&r/min | 13.5 | 10.8 9 7.2 6 54 | 45 | 3.6 3 2.7 | 2.16 | 1.8 | 1.3 |1.08] 09 [0.72
A% N.m |1.16|1.39(1.54(1.93|3.48|2.9 |3.48|3.86|4.56|5.48/6.57|7.3|9.13| 11 [13.1]14.6/18.3| 20 | 20| 20 | 20| 20 | 20| 20 | 20 | 20 | 20
5% r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112 (93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4|18.7|16.8| 14 |11.2]9.33] 8. 4|6.72| 5.6 % N.m | 25.47|31.83| 38.2 |47.75| 57.3 | 63.67| 76.4 | 76.4 | 76.4 | 76.4 | 76.4 | 76.4 | 76.4 [ 76.4 [ 76.4 | 76.4
60HZ
A% N.m [0.93(1.12|1.24(1.55(2.79(2.33(2.79|3.1|3.67|4.4|5.28|5.87|7.33|8.8(10.6|11.7{14.7(17.6| 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20
8 Mi%: 0769-88387287 13712580294 f5E . 22477253 EANIIEM, SEARREM, BiE. 0769-88387287 13712580294 {5 E . 22477253 9




1 45 50 1 T 3 " ~ | % et

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

@ R

o { 130 i
2 i
i
== I - s/ ia
Bl = BRI (R0 3h) BRI (=05
g =11 el o -G
o 5GN. . RA 5GN. . RH
T
3 -2}75-- 65 - 150 -
it L2
] :-21._ i
= = = 090
L =1 o o
] 9 s
o3 —epe?
- v 4 y
i o P
(] - 100D — a
: = =4 3
./@% gl o
It ™ 38 65 150 o AN
W 60 | i e - 148.5 98.5 4-47 148.5 98.5 \4-¢7
4-b85hole & . 342 8.9 291 -
= = 91
: | | i
ek s
300mm 5 i i
o n
00k . ¥ [ =msT
5 — i
O —
e BHERDEKE S MaSm, ERRT R | T4z = = | ol &
-r e
—_— | =&
N A =] 3 T v |
SEEEER e E =L | —t |
o - | 6 40h7
= N _ . . ¢ 15h7
R BHE S hE | BE | HE | R RORE WERE PRRE WErE en o
B | SR ] v HZ A N.m N. m r/min min Uf/VAC
51K90A-A | 5I1K90GN-A 90 1PH110 50 2.948 1.104 0. 849 1350 e 20/250 ., H N ZER DA K E S in45mm, £ R A
51K90A—C 51K90GN-C 90 1PH220 50 1.474 1.104 0. 849 1350 e 6/450
Sy =
51K90A-U 51K90GN-U 90 3PH380 50 1.073 1.443 0. 849 1350 LR ~
&i: HitmisHiEsE5a L b 5 | 625| 7.5 | 9 10 | 12.5 | 15 [18.75/ 22.5 | 35 |31.25|37.5| 45 | 5 [625]| 75 90
&3 r/min | 270 216 180 150 135 108 90 72 60 54 43.2 36 30 27 21. 6 18 15
mEeEmE =
% N.m 1. 91 2. 39 2. 87 3. 44 3.82 | 4.78 5.73 | 7.16 8.6 9.55 [ 11.94 | 14.33)17.19] 19.1 | 23.88] 28. 65| 34. 38
BLIE LE 3 3.6| 4 5 6 7.5 9 10 |12.5| 15 18 20 25 30 36 | 40 | 50 | 60 75 90 | 100|120 | 150 | 180 | 200 | 250 | 300 Plﬁiitt 100 125 150 187.5 295 250 300 375 450 500 625 750 1000 1250 1500 1875
4&3#r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140|112 | 93 | 78 | 70 | 56 | 47 [38.8| 35 | 28 |23.3|18.7|15.5| 14 |11.7|9.3|7.8| 7 |5.6 | 4.7
50HZ 9% r/min | 13.5 | 10.8 9 7.2 6 54 4.5 3.6 3 2.7 2.16 1.8 1.35 | 1.08 0.9 0.72
A% N.om |1.74(2.09]2.32| 2.9 |3.48(4.35|5.21|5.79|6.84(8.21(9.86| 11 |12.7(15.318.3 20 | 20 | 20 | 20 [ 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20
%3 r/min | 560 | 467 | 420 | 336 | 280 | 224 [ 187 | 168 | 134 | 112 (93.3| 84 [67.2| 56 (46.7| 42 |33.6| 28 [22.4]|18.7|16.8| 14 |11.2[9.33|8.4/6.72| 5.6 $H%E N.m | 38.2 [47.75| 57.3 |71.63(85.95| 95.5 | 114.6|114.6|114.6 | 114.6 | 114.6 | 114.6]| 114.6 | 114.6| 114.6| 114.6
60HZ
$H4E Nom | 1.4 |1.68|1.86(2.33|2.79(3.49|4. 19 |4.66| 5.5 |6.6 |7.92(8.8 [10.2[12.3|14.7(16.4| 20 | 20 | 20 | 20 | 20 [ 20 | 20 [ 20 | 20 | 20 | 20

10 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 11




T B4 45 %0 RUR 5 5k

T B 45 B0 RR 5 5k

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

@ .

43-"-4 150 -
2 i
i
— e eI - S /et N
il o B2 (L0 5 B X (05D
s =t o - &
o 5GN. . RA 5GN. . RH
- Y
3 -§75-- 65 -— 150 -
b5 L9
| _qzi_l_ = '
=1 = 090
A =iy o .;a 5 ¢ 1THS
" 9 —‘n'— /
og o
ol T 4 & =
=, (] H
H $OND —| = o] -
= o =1
= c— Loy, " o
D 1 ~ > [ ~
= { =] = o
- 1o %)
i GBS 6E 150 g 148.5 98.5 Na-67 ks 53 K g
— 4- 0 85hole = 342 8.9 291 .
9 e, i 3 £ | [ 21
Lo} -\ @ i oh
;Q 3 '_'.:‘_" 1 I: foech =
300mm * o ol T ! o e =3 =
% " 1] = "
(2] @) 5-!)[]‘1_ c:_f!; | ' [ fa—ty
B0 ] : =ih
C 130 i
Cl—
e B ERDAKE S MAS, R RS RE | I 8l T = | o 1l
& —— | -3
T e s L
o - & 40h7
. - - - $ 1507 N
BT A B S HE | RE | WE | BE | BHE | RERE | BERE FErE e w07
RIFHEH] | EEHEEH W Vv Hz A N.m N. m r/min min Uf/VAC .
51K120A-A | 51K120GN-A 120 1PH110 50 2.948 1.104 0. 849 1350 L 20/250 F: BMNERDEKE 5 M45mm, ERRFTRE
51K120A-C 51K120GN-C 120 1PH220 50 1.474 1.104 0. 849 1350 FELE 6/450
51K120A-S 51K120GN-S 120 3PH220 50 1.853 1.443 0. 849 1350 EL ~ IIEEEHL?}J\ZE?H%E
51K120A-U 51K120GN-U 120 3PH380 50 1.073 1.443 0. 849 1350 LR ~
231, HipmH S5 25 TR b 5 |62 | 1.5 9 10 | 12.5 | 15 |18.75| 22.5 | 35 |31.25| 37.5 | 45 50 | 62.5| 75 90
R /min 270 216 180 150 135 108 90 72 60 54 43.2 36 30 27 21.6 18 15
%8 Nm | 2255 | 3.18 | 3.82 | 458 | 5.09 | 6.37 | 7.64 | 9.55 [ 11.46 |12.73 |15.92 | 19.1 | 22.92| 24.57] 31.38] 38.2 | 45. 84
IR EE 3 |36 4 5 6 |7.5] 9 10 |12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100|120 | 150 | 180 | 200 | 250 | 300 ;ﬁb‘ztt 100 125 150 187.5 295 250 300 375 450 500 625 750 1000 1250 1500 1875
#&i#r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 [23.3/18.7[15.5| 14 |11.7/9.3|7.8| 7 |5.6 |47
50HZ &3 r/min | 13.5 | 10.8 9 7.2 6 5 4 4.5 3.6 3 2.7 2.16 1.8 1.35 | 1.08 0.9 ] 0.72
%8 N.m |2.32(2.78(3.09|3.86|4.63|5.79(6.95|7.72|8.49(10.2(12.2|13.6/ 17 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20
#55%r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 |168 | 134 | 112 |93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4|18.7|16.8| 14 [11.2]9.33| 8.4 [6.72| 5.6 % N.m | 50.93|63.67| 76.4 | 95.5 | 114.6|127.33| 152.8 | 152.8 | 152.8 | 152.8|152.8 | 152.8 152.8 152.8 [ 152.8 152.8
60HZ
%5 N.m [1.86 |2.23|2.48 (3.1 |3.724.66|5.59 |6.21(6.82|8.19(9.82(10.9(13.6 8.8 [10.6|11.7(14.7(17.6| 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20

2

Hi&E: 0769-88387287 13712580294 fEH: 22477253

TR NIRRT

SEASHIEN], miE. 0769-88387287 13712580294 {EE . 22477253




1 45 50 1 T 3 " ~ | % et

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

@ R

(e}

T.___ 165 s
2 i
I
= B R (S0 H) BERH#ERN (Z 08
o - G|
o 5GN. . RA 5GN. . RH
Y
65 165
- -
""'5 -n-9
i i
2: I g 090
o 9 3
—e ‘
T 9,
- o\ = 5
g = =—t o g
¢ ./@% a o
110 s 2 ey i
[} = 165 \ \
11 B i Wiy, 65 - 165 98.5 4-97 165 98.5 -7
4-b85hole & . 342 8.9 315 315
1 o e [T | [t
ol ||
e 2
300mm v E o
-un"t_é ':.‘_f!. | ‘ [ F——R
i L ==
O ——
e BHERDEKE S M5, HRRF L. | A2 = I~ | gl &
-+
- -
kS N I E—— | - | 1] wy
S ] =L | I

1
|
L
o | b 40h7

5 = 2z - > . 8 5 ¢ 15h7
BRI S hE | BmE | E T BRI ERE FElE FERE e o
EFEBAL | B ] v HZ A N.m N.m r/min min Uf/VAC
51K140A-A |  51K140GN-A 140 1PH110 50 3.44 1.287 0. 99 1350 L 25/250 . SN ERDAKE R M45mm, E& R TR
51K140A-C | 5I1K140GN-C 140 1PH220 50 1.72 1.287 0. 99 1350 ELS 7/450
Sy =
51K140A-U 51 K140GN-U 140 3PH380 50 1.25 1.684 0. 99 1350 LG ~
it HtBNsHiE5EN IR L 5 6.25 | 7.5 9 10 | 12.5 | 15 [18.75|22.5 | 35 [31.25| 37.5| 45 50 | 62.5| 75 90
%% r/min | 270 | 216 | 180 | 150 | 135 | 108 920 72 60 54 | 43.2 | 36 30 27 | 21.6| 18 15
mEeEmE =
% N.m 297 | 3. 71 4.46 | 5.35 | 5.94 | 7.43 | 8.91 |11.14|13.37 | 14.86 | 18.57 | 22. 28 26.74| 29. 71| 37. 14| 44. 57| 53. 48
R b 3 (36| 4 5 6 [7.5] 9 10 [12.5| 15 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100 | 120 | 150 | 180 | 200 | 250 | 300 ;,;-&]‘ztt 100 125 150 187.5 295 250 300 375 450 500 625 750 1000 1250 1500 1875
558 r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3|18.7[15.5) 14 [11.7]9.3]|7.8| 7 [5.6| 4.7
50HZ #E3®r/min | 13.5 10.8 9 7.2 6 5.4 4.5 3.6 3 2.7 2.16 1.8 1.35 | 1.08 0.9 0.72
$H4E Nom | 2.7 (3.24| 3.6 (4.51(6.76(8.11(9.01(10.6]12.8(15.3] 17 | 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 [ 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20
53 r/min | 560 | 467 | 420 | 336 | 280 224 | 187 | 168 | 134 |112(93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4[18.7|16.8] 14 |11.2]0.33|8 4 [6.72] 5.6 % Nom | 59.42)74.28)89.13 | 111.4/133.7|148.5|178.2|178.2|178.2 | 178.2 | 178.2 | 178.2( 178.2( 178.2( 178.2] 178.2
60HZ
$H4%E N.om [2.17|2.61| 2.9 (3.62|4. 35|5.43|6.52|7.24|8.56 |10.3{12.3(13.7(17.1| 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20 [ 20 | 20 | 20 | 20 | 20 | 20

14 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 15




o L £A ek ‘
HEE IR DA
INDUCTION/SPEED CONTROLLER MOTOR

o L £A ek ‘
B E IR DA
INDUCTION/SPEED CONTROLLER MOTOR

.

)
o
I

185

25 B (R0 5)

N i BT (D)
= S 5GN. . RA 5GN. . RH
- Y
-§7'5-- 65 -— 185 -
- M 5 --9
| _qzi_l_ = '
= ) = a 90
A =t o E 5
:ﬁ; _'T"'? S -
b5 T
H & e“‘:ﬁ\ = -
ol Tt 5 =

110

il | by, 65 ., 185 -
G——T5 4- ¢ 8.5hole r-.—f 3 142 8.9
SNt o !
Jeta Gl A == | | =
] <y ] &
300mm #|o | » |
8] e | 5-::;[1‘1_ =& 1 v
90 | =

- = -

E: BRERDEKES M4Smm, ERRTAE.

BN AL S h&E B & B Bt | BEhERIE | B E | R | HUERE | BAE
Eiheat) | GBI W v HZ A N.m N.m r/min min Uf/VAC
51K180A-A 51 K180GN-A 180 1PH110 50 4.423 1.655 1.273 1350 EE 25/250
51K180A-C 51K180GN-C 180 1PH220 50 2.211 1.655 1.273 1350 L 8/450
51K180A-S 51 K180GN-S 180 3PH220 50 2.779 2.165 1.273 1350 G ~
51K180A-U 51K180GN-U 180 3PH380 50 1.609 2.165 1.273 1350 ELE ~

&1 HenisKiEssn

L N

R b 3 (36| 4|5 | 6 (7.5 9 |10 |12.5/ 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75

90 | 100| 120 | 150 | 180 | 200 | 250

300

&%9Fr/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140| 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3/18.7
50HZ

4.7

H%E N.m | 3.48|4.17|4.63|5.79/6.95(8.69|10.4|11.6(13.7(16.4/19.7| 20 | 20 | 20 | 20 | 20 | 20 | 20 | 20

20| 20 20 | 20| 20 | 20| 20

20

&%5%r/min| 560 | 467 | 420 | 336| 280 | 224 | 187 | 168 | 134 | 112|93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4
60HZ

18.7/16.8] 14 | 11.2|9.33| 8.4]6.72

5.6

185 98.5 4-7
335 335
[t
===
o—
' = 8|2 = | mE -
| v — - o
— | | : -3
“ ] & " —) I I
o
o $40h7
1507 -
$40h7
i WRMERLDIKEKE S M45mm, ERRTAE.
mEnaeme \

IR Eb 5 6. 25 75 9 10 12.5 15 18.75| 22.5 35 31.25 | 37.5 45 50 62. 5 75 90
BE5Rr /min 270 216 180 150 135 108 90 72 60 54 43.2 36 30 27 21.6 18 15
H%E N.m 3.82 | 478 | 573 | 6.88 | 7.64 | 9.55 | 11.46|14.33|17.19 | 19.1 | 23.88 |28.65]|34.38]| 38.2 |47.75| 57.3 | 68.76

IR b 100 125 150 | 187.5| 225 250 300 375 450 500 625 750 | 1000 | 1250 | 1500 | 1875
3% r/min | 13.5 10.8 9 7.2 6 5.4 4.5 3.6 3 2.7 2.16 1.8 1.35 | 1.08 0.9 0.72
HI%E Nom 76.4 | 95.5 | 114.6|143.2|171.9| 191 |229.2|229.2|229.2|229.2|229.2|229.2|229.2]229.2]229.2] 229.2

Hi%E N.m | 2. 79(3.35] 3. 72|4.66( 5. 59/ 6.98| 8.38/9.31| 11 [13.2/15.8{17.6( 20 | 20 | 20 | 20 | 20 | 20 | 20

20| 20| 20| 20| 20 | 20| 20

20

Hi&E: 0769-88387287 13712580294 fEH: 22477253

e

TR NIRRT

SEASHIEN], miE. 0769-88387287 13712580294 {EE . 22477253




T B4 45 %0 RUR 5 5k

T B 45 B0 RR 5 5k

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

.

1748

R

B 32 43X (320 ) B 324 (=205

o104 4- i Shole -42-- L -
i 19.5 6GN. . RA 6GN. . RH
i &
~ r~
==, o
3 S b2
300mm & & o
! k. v
10.5 10.5
4-MS/ 9 A2 72 o 174 o 3 - ‘
z 19 10.5
b T el n — o " A
= - i — b {
oF 1T 5 8 g
z T : b '] ‘. -
| L 5 & = o -
300mm o - 175 175
0 = [
N e - ' 352 352
=i
T
[l
| ; "]
i BHERDEKE S Masmn, HRRTFE. i T .
| =|le|a|® é — — Il
~ | i == oid
== = _|37| =
N ! « <
$22h7 I ¢ 57
RN EHES h&E RE S | RENEEEE | BERAE | BERRE | FUERE| BA 67
EsEEAl | SHHEAL W v Hz A N.m N.m r/min min | Uf/VAC
61K200A-A |  61K200GN-A 200 1PH110 50 4.914 1.839 1.415 1350 L 30/250 H. SMERDRKE S M5 HEART R
61K200A-C 61K200GN-C 200 1PH220 50 2.457 1.839 1. 415 1350 FEEL 10/450
Sy =
oones| mowors | w0 wem | o | aom | ows | res | o | we | - memeeme o\ N
61K200A-U 61K200GN-U 200 3PH380 50 1.788 2.405 1. 415 1350 L ~
&1 Rt SHIE5EE LR bE 6 | 7.5 | 9 |10.8 | 12 | 15 | 18 | 225 | 27 | 30 |37.5| 45 | 54 | 60 | 75 9 | 108
¥i&r/min | 225 180 150 125 | 112.5| 90 75 60 50 45 36 30 25 22.5 18 15 12.5
mapmewe N
% Nm | 5.09 | 6.37 | 7.64 | 9.17 [10.19]12.73|15.28| 19.1 |22.92 | 25.47 | 31.83 | 38.2 | 45.84|50.93 | 63.67| 76.4 | 91. 68
IR bt 3 (36| 4 5 6 (7.5 9 10 [12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100| 120 | 150 | 180 | 200 | 250 | 300 R Eb 120 150 180 295 270 300 360 450 540 600 750 900 1200 | 1500 | 1800 | 2250
#&3%r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112| 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3]18.7|15.5 14 |11.7| 9.3[7.8| 7 [5.6| 4.7
50HZ 5&r/min | 11.2 9 7.5 6 5 45 | 375 3 25 | 2.25 1.8 1.5 ] 1.12] 0.9 | 0.75] 0.6
HH4E N.m |3.86|4.63|5. 15|6.44|7.72(9.66| 11.6(12.9| 15 | 18 |21.6]24.1/30.1(36.1/43.3| 44 | 44 | 44 | 44 [ 44 | 24 | 24 | 44| 44 | 44| 44 | 44
#3%r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112(93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4|18.7|16.8 14 |11.2[9.33) 8.4 [6.72 5.6 H%E Nom 101.78/127.33/152.8| 191 |229.2|254.6|305.6305.6|305.6 | 305.6 | 305.6 | 305.6|305.6|305.6305.6305.6
60HZ
4 N.m | 3.1|3.72(4.14|5.17|6.21|7.76( 9. 31|10. 3/ 12.1|14.5{17.4(19.3/24.2| 20 |34.8|38.7| 44 | 44 | 44 24 | 24 [ 44 | 24| 44 | 44| 44 | 44
18 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 19




/1l A A =R Y .
B R ROE S ik
INDUCTION/SPEED CONTROLLER MOTOR

21l A1 A =R Y .
B R 8 ROE B ik
INDUCTION/SPEED CONTROLLER MOTOR

1748

B (05 B 3243 (20 4

0104 4-¢%hole “'42'1?15 172 2
1 1 . ’ 6GN. . RA 6GN. . RH
P
[ ol
F et L !
300mm + g;'-": [ P o
T c ¥
O 104
T 085 )
A.H._L $22H8
1 o "~
4-M8/ 09 A2, 05 172 - !,#u 2
| joud ~
- £ .10 0 o g A A =i
- ‘].‘ - ..._l -S —_— n| ]!
2 = i o ) E &~
= ) d é:;
:_;' =4 =4 o e " I
e b =3 =
s, 184 112 4-69 "
300mm # o $ 184 112 4-49
- 361
5003 _°F 4 ! 361
@ =3
. |
et i
| j g N
e HMERDAKE S M4sm, HRRTFE. i E
& I l =|%[3|= + _ i 2] 8
e ! el _[*]7]=
! ~ =
= ;
$22h7 ” || #57
1
B AR S ME | BE | WE | BRSNS SORE SEE SENE| as v67
EFHEY | SiE W v Hz A N.m N. m r/min min Uf/VAC
61K250A-A | 61K250GN-A 250 1PH110 50 7.731 2.759 2.122 1350 L 40/250 . A ZE R DA K B N45mm, K 4 R < R
61K250A-C 61K250GN-C 250 1PH220 50 3.686 2.759 2.122 1350 ELL 12/450
R S = = |
61K250A-U 61K250GN-U 250 3PH380 50 2.681 3.608 2.122 1350 ELE ~
#iF: HitsiNsHiEsEm AR bE 6 7.5 9 10.8 | 12 15 18 | 22.5 | 27 30 | 37.5 | 45 54 60 75 90 108
FESRr/min 225 180 150 125 | 112.5 90 75 60 50 45 36 30 25 22.5 18 15 12.5
H%E N.m 6.37 | 7.96 | 9.55 | 11.46|12.73|15.92| 19.1 | 23.88|28.65|31.83|39.79 |47.75| 57.3 | 63.67]79.58] 95.5 | 114.6
BIE LE 3 [3.6] 4 5 6 [7.5] 9 10 [12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100| 120 | 150 | 180 | 200 | 250 | 300 BOE EE 120 150 180 225 270 300 360 450 540 600 750 900 1200 1500 1800 2950
#5%r/min | 467 | 389 | 350 | 280 | 233 [ 187 | 156 (140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3[18.7[15.5) 14 [11.7]9.3|7.8| 7 |5.6 |47
50HZ i r/min | 11.2 9 7.5 6 5 45 | 3.75 3 25 | 2.25| 1.8 1.5 ]11.12] 09 |0.75| 0.6
%5 N.m |4.835.79|6.44(8.05|9.66(12. 1]14.5(16.1|18.1(21.8|26.1| 29 (36.3(43.5| 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44
53 r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112 (93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4]18.7|16.8| 14 |11.2[9.33| 8.4 ]6.72| 5.6 % N.m [127.3]159.1| 191 | 238.7|286.5|318.3| 382 | 382 | 382 | 382 | 382 | 382 | 382 | 382 | 382 [ 382
60HZ
% N.m [3.88|4.66|5.17(6.47|7.76| 9.7 |11.6(12.914.6 [17.5| 21 |23.3|29.1| 35 | 42 (38.6| 44 | 44 | 44 | 44 | 44 | 44 | 44 | 24 | 44 | 24 | 24
20 HiE: 0769-88387287 13712580294 {5 E . 22477253 ENIEIEM SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 21




T B4 45 %0 RUR 5 5k

T B 45 B0 RR 5 5k

INDUCTION/SPEED CONTROLLER MOTOR INDUCTION/SPEED CONTROLLER MOTOR

R

1748

R

B 32 43X (320 ) B 324 (=205

o104 __4-lI-9ImIc ...42.]_15 203 -
{ | ‘ = 6GN. . RA 6GN. . RH
so il
3 o]+ el
300mm 4 2_,__._"' =
L] 4 ¥
10.5 10.5
4-MIS/ 49 2. 65 0 Al - i :
oin4 =
~ = s 18 L.10.5 9 — g A _
xca A o o
3 b
e [ o '
] <
b o o =
300mm # o 204 204
4 ! 381 381

ety
| ] =]
e BHERDEKE D MSm, ERXRTRE. b _
| L1l x < 3 = = -l
- | L == o
—1 el =
5 ! - E-
o 1
$22h7 gk | | #57
BLRL A S hE | BE | HE T | BN | BERAE | IR FERE | BR 087
ElFEEHl | SHEBY ] Vv HZ A N.m N. m r/min min Uf/VAC
61K370A-A | 61K370GN-A 370 1PH110 50 5.84 3.403 2.617 1350 L 50/250 ., SMEDDAKE R M45mm, E& R~ R
61K370A-C | 61K370GN-C 370 1PH220 50 2.92 3.403 2.617 1350 e 15/450
el [
61K370A-U | 61K370GN-U 370 3PH380 50 1.14 4.450 2.617 1350 e ~
it HitBNsHiE5 &N IR Eb 6 7.5 9 10.8 | 12 15 18 | 22.5 | 217 30 |37.5| 45 54 60 75 90 108
¥#r/min | 225 | 180 | 150 | 125 |112.5| 90 75 60 50 45 36 30 25 | 225 | 18 15 | 12.5
mEmamEmE  \ =
FA% Nom | 9.42 [11.78|14.13[16.96|18.85|23.56|28.27|35.34| 42.4 [47.11 | 58.89 | 70.67| 84.8 | 94.23|117.8]141.3] 169.6
BIE LE 3 [3.6] 4 5 6 (7.5 9 10 |12.5| 15 | 18 | 20 | 25 | 30 | 36 | 40 | 50 | 60 | 75 | 90 | 100|120 | 150 | 180 | 200 | 250 | 300 ;JEY.]EI:[: 120 150 180 295 270 300 360 450 540 600 750 900 1200 1500 1800 2950
%R r/min | 467 | 389 | 350 | 280 | 233 | 187 | 156 | 140 | 112 | 93 | 78 | 70 | 56 | 47 |38.8| 35 | 28 |23.3|18.7|15.5| 14 |11.7/9.3]|7.8| 7 |5.6| 4.7
50HZ 5 /min | 11.2 | 9 7.5 6 5 45 | 375 3 25 | 2.25| 1.8 | 1.5 | 1.12| 09 [0.75] 0.6
% N.m [7.07/8.48/9.42|11.8{14.1(17.7{21.2(23.6/26.2(31.4(37.7|41.9| 44 44 | 44 | 44 | 44 | 44 | 44| 44 44 | 44 | 44 | 44 | 44 44 | 44
4% r/min | 560 | 467 | 420 | 336 | 280 | 224 | 187 | 168 | 134 | 112 |93.3| 84 |67.2| 56 |46.7| 42 |33.6| 28 |22.4]|18.7(16.8| 14 |11.2]9.33| 8.4|6.72| 5.6 1% N.m | 188.4|235.7|282.6|353.3| 424 |471.1|565.3|565.3|565.3 |565.3|565.3|565.3|565.3|565.3|565.3|565.3
60HZ
$H% N.m |5.68(6.81|7.57|9.46|11.4(14.2| 17 [18.9| 21 |25.2/30.3(33.7|42.1| 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44 | 44
292 Hi%: 0769-88387287 13712580294 f£E . 22477253 s 7NIRIERM SEARIRIENL B 0769-88387287 13712580294 {5 B : 22477253 23




IR [ 7 ) 25

SPEED CONTROLLER

IR [ 17 ) 25

SPEED CONTROLLER

#ER N

[%.T_

1=l 28

Wiring method
BAARHEAE FARETFHATREAE B EERESE
Single-phase motor wiring diagram Single-phase motor with terminal box wiring diagram Single-phase brake motor wiring diagram
; . . cewg D cw
cew . D ew oW ew R €
US 2515 - . aa o B
US Speed controller R Dimensions 97max. 11.5 B white . _
60 TE
KA 16.8 T Power Supply
T ; wh o
R incg\ﬁls R C Migtor Power SuppIvR Motor
\2_= 1,
b i
=3 o | NS Ineare——" § -l - -Rinr - 1 g P ‘ Ground Line
SPEED CONTROL TR Capacitor Capacitor Capacitor
% Stop
_ﬁ iR T HR ACS Sl AT HE B 3R I Y i T PR O S S BE e W 38
- 4.55L Speed regulating motor with SS speed controller Brake band speed regulating motor with SS speed controller
W5.6K Ha i B8 W5.6K f {88
EHl B EaE - z
v P T TTIT l" JT.T P o T, ¥ o
Connection diarams of the controller |2lejolie]le] £ ®s 1eljejjolle]] & ® 5
65 4 3 W 2 65 4 3 £ =2
00 88 T B B2 -3
k face of regulator = G = z £ = z
IE R IR 1ERS &2y I y = ] 5
When Positive and negative rotate B B3 35
. B0 sy ootz , oy 18 12 el 1812 Tkt
. —— /50v/ 60H coM[[@lt= IBIRISIEIE Bl o BIRIRIEIE B @
27 gn t?gi?-‘:e;z?-‘: 5g\un-uzm (_‘{V (;‘Y | ccwoﬁ | ccwo‘_—“
z i 230v 50v/ 60Hz CcCwW, ® CCW Yellow Yellow
_l- Single-phase230v/50v/60H2
) RibEE (ZIEAB. &)

Ground wire(color: green)

5 1
° B power Supply

:%ﬁ Power Supply
Wim ; : ; :
unnir 930 T 4 FRU S 424 88 3 S5 00 T A RS 491 88
54 t( ¢ Speed regulating motor with US speed controller Brake band speed regulating motor with US speed controller
Trgeison
SPEED CONTROL|
s SPEED CONTROL MOTOR SPEED CONTROL MOTOR
— *:50
Green(if) g . g J:,
lack
SPEED g Black(®) p— sreenD Gtacki) .
SS EEEHI 2 controL /) e
SS Speed controller i o-g ot By
R~} [ Dimensions i "““‘Ea‘r’!‘ rﬁﬁff}ﬁn
used hine (Blue) [+
EZT00
80 10 the main line (vellow) s the main l:nclgcllow
=] 30 . K Gray
= =
| e - :
= -R -Af----- beeeed - SRR LA SHABRRNEER
i Three-phase brake motor with frequency converter Three-phase motor with electromagnet
a q;@% cew C Dcw

CCW . O CW
4-M6/ b 7

R. C
FU 'JLH — T —
2 1] 8% HE 1 00 o=+ |0000] | w otvetel T i,\ﬂ,wr.—ﬁ—ﬁ

Connection diarams of the controllerbb i o— < - Lid CCW__ | (&
Power Supply ﬁﬁa
L

Power Switch

BBluc

g oo © Motor L2 ¢p—o

convertet, CW ( /i
BEN Electromaghetic Brake L3¢ E Gray
Capacitor | | =
8 = it MOTOR enctic Brake
1
‘M %g;;;';:(:;:: EhR, CHERRKEIH, HEERRBMENBETRIE
i o 3 20k 2 1/4W

The R and C circuit is resistance-capacitance absorption circuit,which ensures the reliable operation of the motor and relative control components.
(R=5-3300Q C=0.1-0.22 F 250VAC(450VAC)

W {E ¥ Low Speed

P
Foedback Meter

e ME ESET MEeE ¢

Note: “Connection diarams” is for reference only.

24

Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253




P& 545 % 1T 2R E P& 545 % 1T 2 B E Hl

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

= rmEEs s

&R, BERBHBAL
— SRR R 2. WEBHERITERGH, MAGTRE, TELMEERE.
3. BRIERIT, B3,

i
I

CETFRBER. EREFGK RIBERS.
5 . itfEE HEER FE ARE M L.

6. fERREYY, TSMEAHGE.
7. BIECISRKASHAIE, HEIXEH RCS58-62/F, MEMM.
8. ILIEEMERE KEABRL.

PF%& %I

l;} 10, RALEE IR E RIHIR RE L5 0T, B 4
<L

9. MINEZLUSE SR B, o hERX S .

=, BESNBRTAEZEA:
PF-90-12-20-P1- 31 - anzm

PXZ% 7| o E—
EAE |
bR
L1 - 1E& R
e L2 - 28 o ;;:;
PF L3 _ 35& NEB PR
PX
RPEZ % RPE
RPF REBENFES
4‘ AR B EMIgE S
lh-o
4 o F IR R
i Bk ¥ R~
RPFZ % i B
Fﬁ:ﬂ*ﬁ S1 - ?:lbiﬂl,iﬁﬁiﬁ

S2 - SLAh, B HEEE

26 BiE: 0769-88387287 13712580294 fEE. 22477253 EZANIAIRA SEANRIEA] miE: 0769-88387287 13712580294 fEE. 22477253 27




P& S5 E 1T 2B IE P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

PEZR7
BEARSH =2E 72
PE60O PE90 PE120 PE160
AR AL Nm 1. SE AL AR Input s R Output
ZE2%sAE Nm 2. 5fEEREHE . 4M512 @70 33 35 4-M5"12
L1-1£% N 400 1050 2200 3700 L 30.5
BABRERES | L2288 N 500 1300 2600 3700 o \ Bl 25
I @ > e - N~ o N~
L3-3E% N ~ ~ ~ 3700 r < N 83 e
1\NY/ SR KR SN
L1-1E& N 300 850 1600 3500 b /
o s L4 - M512
RARITHBEAN | L2-2F% N 390 1100 2100 3500 \_ f UEIE
6 3
L3-3E% N ~ ~ ~ 3500 0 60 32
RABINGE R rpm 6000 6000 6000 6000
o =]
RE T -15°C ~90°C -15°C ~90°C ~15°C ~90°C -15"C ~90°C
fEREE NG Input itih Output
L1-1E¢ dB <58 <60 <62 <65
- = L2-2E% dB <58 <58 <60 <65 1315
-| 33 35
L3-3E dB ~ ~ ~ <65 —
T4 h 20000 20000 20000 20000 \
Li-188 % 97% 97% 97% 97% / . O il
T o < : ©
M L2-2E% % 94% 94% 94% 94% \ 8 ‘ S
L3-3F% % -~ = = 210 - /
L1-1E; kg 1.0 2.7 6.8 15 6 3
32
=8 L2-28% kg 1.2 3.7 8.0 19
L3-3E% kg ~ ~ ~ 23
L1-1E% arcmin <5 <5 <5 <5
P1 L2-2F% arcmin <7 <7 <7 <8 SN Input #4Eh Output
. L3-3E% arcmin ~ ~ =~ <10 162
[E] 72 (8] R 4-M6*15 @90 45 40 4-M6"14
L1-1E% arcmin <8 <8 <8 <8 %
P2 L2-2E% arcmin <12 <12 <12 <10 j =30 3
L3-3E% arcmin ~ ~ ~ <12 N @) o |
S| of H- g 2l 8
3 N. m/Kg. cm2 18 0. 22 60 1.2 150 5.3 4 605 6.2 8 & S
4 N. m/Kg. cm?2 26 0.17 90 0.95 225 4.1 |LI-1EE | 5 420 5.9 /| \Me+16
L1-1£8 5 N. m/Kg. cm2 28 0.16 100 0.86 240 3.6 8 270 5.6 7 3
42
7 N. m/Kg. cm2 20 0.14 70 0.79 160 3.2 16 | 680 7.0
10 | N.m/Kg. cm2 13 0.14 40 0.75 95 3.0 20 | 680 6.9
12 | N.m/Kg cm2 30 0.14 70 0.72 165 2.8 Lo-06 25 | 460 6.6
TLEX
15 | N.m/Kg. cm2 33 0.14 70 0.72 165 2.8 32 | 680 6.0
nE o
e/ 16 | Nm/Kg.om2 | 30 0.14 | 100 | 0.74 | 250 2.9 4 | 460 | 5.8 173 #ititlh Output
®EHRE 4-M6*15 @90 35 40 4-M6*14
20 | N.m/Kg. cm2 30 0.13 100 0.72 250 2.8 64 | 308 5.2 %
Lo-0 25 | N.m/Kg. cm2 33 0.14 110 0.71 270 2.8 80 | 895 5.3 \ 30 _|_3
=, 1 ® O)
28 | N.m/Kg. cm2 30 0.13 100 0.73 250 2.8 100 | 895 5.3 /1 N = 5‘ P
4 S| o H-——IH — 8 S| ©
35 | NmKgom2 | 33 0.13 | 110 | 0.71 270 2.7 | o 125 580 | 52 O L 8§ & §
—IEY A /
40 | N.m/Kg cm2 30 0.13 100 0.70 250 2.7 160 | 895 5.3 Lo /) M6E*16
50 | N.m/Kg. cm2 33 0.13 110 0.69 270 2.7 200 | 580 5.2 z 3
[ 90 42
70 | N.m/Kg. cm2 23 0.13 80 0.69 180 2.7 256 | 895 5.2

28 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 29




P& S5 E 1T 2B IE P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

1
SN Input iHt4 Output . PF&RY
HASH By
LuES0 s = - 4-M10°22 PF60 PF90 PF120 PF160
= 50 L= o)
goz - TR BIFRAHE Nm 1. SfE & E H%E
O‘ = I T
f @ T N ITe' R &l N 2. S{EHE 5
. 3| O 1 ] sl s
\H i 5 S E\a & s Li-168 N 400 1050 2200 3700
O\« ;0 - BABUERES | L2288 N 500 1300 2600 3700
==l 10 5 L3-38 N ~ ~ ~ 3700
[J130 60
L1-1£3 N 300 850 1600 3500
- WS Exsu@En | o | N
WA Input - 48 Output L33k N — — — 3500
4 4-M10*22
e * . BARNEE rpm 6000 6000 6000 6000
" - 40 1.3 BUEM NG IR rpm 3000 3000 3000 3000
/ f’; NG :‘\ T '@3 O 2 = g EREE [ -15°C ~90°C -15°C ~90°C —15°C ~90°C -15C ~90°C
= I g s
\F / § ® _j \g S LI-15& dB <58 <60 <62 <65
O ® © .
Zay /1 T B Lo-2F% dB <58 <58 <60 <65
- 10 3
0130 60 L3-3E% dB ~ ~ ~ <65
& h 20000 20000 20000 20000
BN Input 296 it Output M= L2-2E% % 94% 94% 94% 94%
4-M12*25 @200 25 87 4-M12*25 L3‘3E§ % — — _ 90%
e o || 80
] o L1-1E% kg 1.0 2.7 6.8 15
i @ﬁ Nor [y O ) £ L2-28% ke 1.2 3.7 8.0 19
! ) I AT B | == s § &
i = y@ 5 sHH ——l g g & L3-38% kg ~ ~ ~ 23
‘b:" . \ LI-16& arcmin <5 <5 <5 <5
~—t—t— s T . \wieras P1 | Lo-288 e <7 <7 <7 <8
L17é 62 . L3-3E% arcmin ~ ~ -~ <10
[E] 72 8] B L _ — —g —g s
—1ER arcmin = &S S <
reeoioRgm \
P2 L2-2E% arcmin <12 <12 <12 <10
HEIA Input 335 iHtH4h Output
4-M12*25 @200 25 87 4-M12*25 L3‘3Eﬁ arcmin ~ -~ -~ <12
%E\ 2 — 80 3 N. m/Kg. cm2 18 0. 22 60 1.2 150 5.3 4 605 6.2
|7 e | 0 | s 4 N.m/Kg cm2 | 26 0.17 90 0.95 225 4.1 | LIFEE | 5 | 420 5.9
/ @ﬁ A _\_\ ‘\ 5~ O r_-r = o o
: D L2 g =] § & : L1-1£% 5 N. m/Kg. cm2 28 0.16 100 0.86 240 3.6 8 270 5.6
| o § &5
TN J@ / s \ 7 N. m/Kg. cm2 20 0.14 70 0.79 160 3.2 16 | 680 7.0
Z Jx m \Mms 10 | N.m/Kg. cm2 13 0.14 40 0.75 95 3.0 20 | 680 6.9
T 5 5
— i 12 | N.m/Kg om2 30 0.14 70 0.72 165 2.8 oo %5 | 460 6.6
TLEX
15 | N.m/Kg. cm2 33 0.14 70 0.72 165 2.8 32 | 680 6.0
EEEEE e sz
iR 16 | N.m/Kg cm2 30 0.14 100 0.74 250 2.9 40 | 460 5.8
A RNE
*‘f;\ffzi"p“;m = it Output 20 | NmKgem2 | 30 0.13 100 | 0.72 | 250 2.8 64 | 308 | 5.2
iz " 25 87 4-M12*25
i C oot 25 | N.m/Kg om2 33 0.14 110 0.71 270 2.8 80 | 895 5.3
, ; 28
A ”/g\ 28 | N.m/Kg cm2 30 0.13 100 0.73 250 2.8 100 | 895 5.3
/ @//§ Y- % o .O 2 35 | N.m/Kg cm2 33 0.13 110 0.71 270 2.7 oot 125 | 580 5.2
: P F 8 : -aE
\‘ N\ g@ /& Q 40 | N.m/Kg cm2 30 0.13 100 0.70 250 2.7 160 | 895 5.3
)4 B 50 N. m/Kg. cm2 33 0.13 110 0.69 270 2.7 200 | 580 5.2
==y = 5 .
ote 82 70 | N.m/Kg cm2 23 0.13 80 0.69 180 2.7 256 | 895 5.2

30 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 31




P& S5 E 1T 2B IE P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

ST

HAH Input it Output
116.5
4-M5*12 @70 33 8 35 4-@5.5 @70

S o s

{ ! % Y == = % -
\_-__ y ,/ Q © / \* Q
=0 . i :
O 60 32
N Input it Output
- 1315
4M5*12 @70 33 8._ 35 4-955 @70
305 /
25 25
IR = T
8 : / \E 8
1 — \M5+12
6 3
32

coonl

ﬁ ETET I T

39 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 33




P& 55 & 1T 2B IE

P PRECISE PLANET GEAR BOX

RPEZ %I RPFZ51
BARSH =<Fiv2
RPE60 RPE90 RPE120 RPF60 RPF90 RPF120
FirmAHE Nm 1. 5fEEAEHE 1. 5fEEAEHE
Ra%zhiiE Nm 2. 5fEEE SR 2. SEERELE
L1-1E% N 400 1050 2200 400 1050 2200
BRARFEEA
L2288 N 500 1300 2600 500 1300 2600
L1-1E& N 300 850 1600 300 850 1600
RABIFHE T
L2-28% N 390 1100 2100 390 1100 2100
BRABINER rpm 6000 6000 6000 6000 6000 6000
EEMNGE IR rpm 3000 3000 3000 3000 3000 3000
ERIRE C -15C~90C | -15C~90°C | -15C~90C -15C~90C | -15C~90°C | -15°C~90C
L1-1E% dB <60 <62 <65 <60 <62 <65
=)
L2-28% dB <60 <60 <62 <60 <60 <62
THER h 20000 20000 20000 20000 20000 20000
L1-1E% % 93% 93% 93% 93% 93% 93%
WE
L2-2F% % 90% 90% 90% 90% 90% 90%
L1-1E% kg 1. 4 4.2 10. 1 1.4 4.2 10. 1
BE
L2—2F% ke 1.6 5.2 11.3 1.6 5.2 11.3
L1-1E% arcmin <5 <5 <5 <5 <5 <5
P1
L2-2F% arcmin <10 <10 <10 <10 <10 <10
E 2B R
L1-1E% arcmin <8 <8 <8 <8 <8 <8
P2
L2-2F% arcmin <16 <16 <16 <16 <16 <16
3 NmKg.om2 | 18 | 0.39 | 60 | 2.45 | 150 | 8.34 18 | 0.39 | 60 | 2.45 | 150 | 8.34
4 N.mKg.om2 | 26 | 0.34 | 90 | 2.22 | 225 | 7.08 26 | 0.34 | 90 | 2222 | 225 | 7.08
L1-1E 5 N.mKg.om2 | 28 | 0.32 | 100 | 2.13 | 240 | 6.61 28 | 0.32 | 100 | 213 | 240 | 6.61
7 N m/Kg. om2 | 20 | 0.31 70 | 2.02 | 160 | 6.24 20 | 0.31 | 70 | 202 | 160 | 6.24
10 NmKg.om2 | 13 | 0.30 | 40 [ 2.02 | 95 | 6.05 13 | 030 | 40 | 202 | 95 |6.05
12 N.mKg.cm2 | 30 |0.118| 70 | 1.60 | 165 | 4.70 30 | 0118 70 | 1.60 | 165 | 4.70
15 N.m'Kg.cm2 | 33 |0.118| 70 | 1.65 | 165 | 4.70 33 | 0118 70 | 1.65 | 165 | 4.70
ﬁﬁ?fﬂjg 16 N.m/Kg.cm2 | 30 |0.124| 100 | 1.65 | 250 | 4.91 30 | 0.124| 100 | 1.65 | 250 | 4.91
¥ERE
20 N.mKg.om2 | 30 |0.116| 100 | 1.59 | 250 | 4.65 0.116 | 100 | 1.59 | 250 | 4.65
25 N.m/Kg.cm2 | 33 |0.122| 110 | 1.59 | 270 | 4.64 33 | 0.122| 110 | 1.59 | 270 | 4.64
L2-2%
28 N.m'Kg.cm2 | 30 |0.115| 100 | 1.64 | 250 | 4.86 30 | 0.115| 100 | 1.64 | 250 | 4.86
35 N.m/Kg.om2 | 33 |0.106 | 110 | 1.59 | 270 | 4.62 33 |0.106| 110 | 1.59 | 270 | 4.62
40 N.mKg.om2 | 30 |0.106 | 100 | 1.51 | 250 | 4.32 30 |0.106| 100 | 1.51 | 250 | 4.32
50 | Nm/Kg.cm2 | 33 | 0.106| 110 | 1.51 | 270 | 4.31 33 | 0.106| 110 | 1.51 | 270 | 4.31
70 | Nm/Kg.em2 | 23 | 0.105| 80 | 1.51 | 180 | 4.31 23 | 0.105| 80 | 1.51 | 180 | 4.3t
34 Hi%: 0769-88387287 13712580294 {5 E: 22477253 EZNIHIRL

P& 55 & 1T 2 B IE

P PRECISE PLANET GEAR BOX

RPF60

H
=]

N

ZANNY

NG Input

4-M5*12 @70

@50H7
@14G7

113

32

O

35

30.5

i Output

25

N
&

O 60

@14h
@40h7
@60

:

M5*1

i
7.5

155.5

HINGH Input

@50H7

314G

4-M5*12 @70

32

O

35

il Output

30.5

25

.
.l

170.5

RN wiE -

@50H7

4l Output

4-05.5 @70

MIN Input 1467
SO | s
4-M5*12 a70 . —] 35
; - 30.5
7 2 7/ ‘: 25
He N "_ -
L’ - \r | ——
I N
o’ O s
S 75 3
O 60 1555

RPF60-L2RJE

0769-88387287 13712580294 fEH: 22477253

35




P& S5 E 1T 2B IE P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

@70H7 R B110H7
BN Input @19G7 Htalh Output BN Input 02467 10 @ikt Output
@) o
4-M6*15 290 J\ 1 N 40 O 3
— 36 4-M8"20 2145 Y T 55 4-M10*22
o o ] 50
= =20 ommetn < 40 3
C \O) N
A /ﬂ; ) T eI S
NS a4
D ® ® G \M10*22
10.5 3 —— 13.5 3
205 0130 268.5

BN Input s Output

@70H7
@1967
=
4-M6*15 @90 O Y 40
/
\ - 36
—t— i 30 3
® ® A -~
' P) 1 gZg
X‘_ ® / © & g S
NS L
~ \M6*16
10.5 3
09 202
T T
RPF G70H7
90 BN Input 219G7 itk Output
~|
4-M6*15 @90 B! 12,40 4-966 @100
36 -
N/ [=
0
- 30_|_ 3
- ~
= £
— R
8
M6*16
105 3
205

36 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 37




P& F+5% 1T 2 BUEH PR F+E% 1T E BUEH

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

PXZ&7
RASE ==
PX142 PX190 PX240 PX285 PX330 PX420
= =]
E2HEhiHE Nm 2. SEEE AR
L1-1E% N 3700 6500 10500 15000 17000 26500
BABEEAS | L2 N 3700 6500 10500 15000 17000 26500 MM Input 290 Wit Output
4-M12*25 @200 25 15 87 4-311 165
L3-3E% N 3700 6500 10500 15000 17000 26500 - | 80
L1-1E% N 3500 5000 8000 12000 15000 20000 [ 70 5
BRABWHES | 1228 N 3500 5000 8000 12000 15000 20000 § m‘ EO_____ B l - l %%
L3-3E% N 3500 5000 8000 12000 15000 20000 8 . \& S
BARMNGER rpm 6000 5500 5000 5000 5000 4500 i | 1 \M16°35
TEMNEE rpm 3000 2500 2000 2000 2000 2000 e 5 . 5
ERRE C -15°C~90°C -15°C~90°C -15°C~90°C -15°C~90°C -15°C~90°C -15°C~90°C
- L1-168 dB <70 <70 <70 <70 <70 <70
= L2-2F% dB <68 <68 <68 <68 <68 <68
& h 2000 20000 20000 20000 20000 20000
L1-1E% % 97% 97% 97% 97% 97% 97%
EUE L2-2E% % 94% 94% 94% 94% 94% 94% NI Input 335 it Output
L3-3E% % 90% 90% 90% 90% 90% 90% 4-M12725 @200 25 15 87 4-211 165
L1-1E% kg 15 39 7 13 145 250 — o
E3 L2-2E% kg 19 2 87.5 136 190 340 / @ﬁ ,,"l\t\ % 5
L3-3E% kg 23 46.5 89 140 216 360 1] = y@ ,/ g 8
L1-1E% arcmin <8 <10 <10 <10 <10 <10 ‘b/“ o
=172 (8] & L2-2E% arcmin <10 <16 <16 <16 <16 <16 - \,727 ;
L3-3E% arcmin <12 <20 <20 <20 <20 <20 0176
4 N.m'Kg.cm2 | 605 | 6.2 | 1780 | 6.5 | 3500 | 14.3 | 5800 | 39.2 | 10190 | 73.4 | 15565 | 243
L1-1E% 5 N.m/Kg. cm2 | 420 | 59 | 1345 | 6.2 | 2640 | 13.4 | 4400 | 38.5 | 7180 | 72.6 | 11120 | 239
8 N.mKg cm2 | 270 | 5.6 | 745 5.7 | 1485 | 1.36 | 2595 | 37.8 | 4080 | 70.9 | 6150 | 238
16 | N.m/Kg.om2| 680 | 7.0 | 2035 | 7.5 | 3710 | 7.5 | 6400 | 16.5 | 10800 | 40.2 | 16660 | 75.1 PX142-L3RTE

20 N.m/Kg. cm2 | 680 6.9 2035 7.4 3710 7.4 6400 | 15.5 | 10800 | 39.9 | 16660 | 74.8

g | 25 |MmKeon2| 460 | 6o | 1485 | 7.3 | 2605 | 7.3 | 4710 | 15.4 | 7560 | 39.6 | 12140 | 74.3

32 | NmKgom2| 680 | 6.0 | 2035 | 65 | 3710 | 6.5 | 6400 | 14.8 | 10800 | 39.2 | 16660 | 73.4

S 40 | NmKgcom2| 460 | 5.8 | 1485 | 6.2 | 2805 | 6.2 | 4710 | 14.5 | 7550 | 38.5 | 12140 | 72.6
Feanii e 64 | NmKgom2| 308 | 52 | 840 | 57 | 1580 | 5.7 | 2790 | 14.2 | 4430 | 37.8 | 6635 | 70.9

80 N. m’Kg. cm2 | 895 5.3 2590 5.3 4820 5.3 8130 7.5 13700 | 16.5 | 20760 | 40.2

100 N. m/Kg. cm2 | 895 5.3 2590 5.3 4820 5.3 8130 7.4 13700 | 15. 20760 | 39.9

5
125 N.m/Kg. cm2 | 580 5.2 1855 5.2 3610 5.2 6030 7.3 9800 | 15.4 | 15200 | 39.6

L3-3E% 160 N. m’Kg. cm2 | 895 5.3 2590 5.3 4820 5.3 8130 6.5 13700 | 14.8 | 20760 | 39.2

200 N. m’Kg. cm2 | 580 5.3 1855 5.2 3610 5.3 6030 6.2 9800 | 14.5 | 15200 | 38.5

256 N.m/Kg. cm2 | 895 5.2 2590 5.2 4820 5.2 8130 5.7 13700 | 14.2 | 20760 | 37.8

320 N. m/Kg. cm2 | 580 5.2 1855 5.2 3610 5.2 6030 5.4 9800 | 13.7 | 15200 | 36.5

Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253



P& S5 E 1T 2B IE P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX P PRECISE PLANET GEAR BOX

NG Input 357 4 Output
4-M12725 @215 82 22 130 4-918 2265
/) 105
5.4 — -
) \721 jﬁ -q 90 5 7415
el \. %g_qq %% e L
N e |
e X L Hel *
L - \M20*45 ——
10 20
240 85 01240

NG Input 425 s Output
4-M12*25 22 130 4-918 @265
72 105
_q 90 5 7415
T % O _q i[ = _\
o &K — S =]
ks ! 5 § '
Q © __A Q \ NT . /
) \
8 \M20*45 ——
85 20

1240

WM Input 420 &4l Output
AMI2'25 2200 25 18, 105 4-913 @215 NG Input 486 Hith Output
— 82 4-M12°25 22 130 4218 265
q 25 105
70 .
] N ~ —
WY/ i\ 3 5 O q B 9% 5 ’ ﬁ;s
H f P ) = /
Ao | §°© d & g fdo- |97 78 \
I o =R H !
X = d &S | \ SEANAY /
—r 5 20 {
0176 82 5 _d \M20*45 T
o 20
00240

40 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 41




P& S5 E 1T 2B IE

P PRECISE PLANET GEAR BOX

N Input

4-M12*25 @265

WA Input
4-M12*25
@215

PX285-L3RJE

HINGH Input

4-M12*25

@180H7

@230H7
@55G7

407 4 Output
85 25 135 4-918 315
110 L
-q 100 5 ‘ 745
|} <o} N~ ‘
Ii 21 H
é \ 8 \ /
= "d i \M20*45 ——
20
110 1285

497 iiH4m Output
25 135 4-18 @315
82 110 L
i _q 100 5 f 74/5
~ 11 ~ /
I ot _q sl 8
2 o ! NI \ NT
g © \ Q \ . /
1 |
[T /
10 L \M20*45 ——
85 20
1285
582 igHEl Output
25 135 4-18 @315
|72_ 110 5
_q 100
sHONY
Q N
S
; gl .
85 20

Hi&E: 0769-88387287 13712580294 fEH: 22477253

TR NIRRT

P& S5 & 1T 2B IE

P PRECISE PLANET GEAR BOX

SGCHMANERE

NG Input

4-M16*35 @300
o
e
\ 23| AV ]
b/ | \,

7=

1330

@250H7

@60G7

10

PX330-L2RIJE

HIANGH Input
4-M12*25
2265

140

25

@230H7

461
95 30, 150
120
| 110 5
k- o =
g 73
q §
Bje=a \
= \M20*45

556
30 150
85 120
110 5
N~
X N
Q
- \
1 \M20*45
25

4k Output

4-@22

@370

g%l Output
4-922 @370

?

PX330-L3RJE

BAH Input
4-M12*25
@215

45.3

2180H7

SEASHIEN], miE. 0769-88387287 13712580294 {EE . 22477253

651
30 150
82 120
_q 110 5
B 7 2
— “H 8 g
\ 8
_d 1 \m20745
25

Hish Output

4-022 @370

N VL
1 ]
E|\330

43




P& S5 E 1T 2B IE

P PRECISE PLANET GEAR BOX

N Input 536 i Output
4-M16*35 @350 120 35, 165 4-922 @425
. 135
f { _q 125 5
/ : ~ Ao
R4 [\ 3 o[t q g =
TN )T 8 St . ——} § 3
\ /] 8 & é 8
N N LA | | \
- - 5 \m20-45
~—f
10 25
0420 170

EAH Input 642 4 Output
4-M16"35 35 165 4-922 @425
@300 95 135
— =
125 5 f‘
\ ~ _ L ~ i \
/ ) NI gg ‘ |
\ & i g \ g |\'M J
- 10 \M20*45 —
0330 25
420

BN Input 748 HiH4M Output
4-M12*25 35 165 4-922 @425

@265 85 135

125

ot
di

.

@55G7

9

.

N
@230H7

HH
|

25

44 BiE: 0769-88387287 13712580294 {4 E . 22477253 =7NIRIENL




GHR 5l = 3 7] 5 38 B R B Al

G CYCLOID REDUCER

— REGEWIRITHE:

GH. . & £} f 15 38 IR iR BB 41
B 2 (B ) 22 25

GV. . & A& R IEE Bl
ZFEZRENRE

SENRIEN] . 0769-88387287 13712580294 {5 E. 22477253 45




GR I & & A5 4% B IR B : ‘ ge==vn : : GHRFI & & A 15 % B IR B

G CYCLOID REDUCER G CYCLOID REDUCER
Zrmts: M. {& F it BA
1. IIRIEE: 100W~3700W, B ELSEE: 1/3~1/1800;
ESd: . A _— ML L

1. 25ARNEEFGIE—KLIT KRS 88E; 3. 5% FA B A4

2. BINGEWEE EE R, &M %58, 7 M hn B ) 3h 5. & HE: 100V—220V. = #H. 220V—380V

. EANIEERAERESRER BENEASERNBHSMESR A BT-820. 5 %. 5O0HZHGOHZ:

4*}1@%18_32$§1$$j*#%$5é31£i§, *}1@%40_50ﬁ{$*j*4j]%ﬁ%;%wﬁw 4. I{/EEZ; RIJIIJ. . _10C’\"40C lﬁ*&l_]r_ 30007kuT

5 AEFLLIERE T, ZRBUEELTEE:1/3-1/30, ZRBE LLSERE : 1/30-1/200 ;4B & BY5& EL AT 3%1/1800. 6. FLEHL B S T /8 E R & F80°C

6. BB AL KA B D R _
ForAE R A ERE:

= BSRTAE: —
ThE = aai o
220V 380V 110V 220V
G H gg B ggo - 99 - 787 - gl W 50HZ 60HZ 50HZ 60HZ 50HZ 60HZ 50HZ 60HZ 50HZ 60HZ
100W 0.7 0.6 0.4 0.4 2.6 2.4 1.3 1.2 1400 1700
200W 1.1 1.1 0. 63 0.6 3.6 3.2 1.8 1.6 1400 1700
400W 2.1 2.0 1.2 1.1 6.4 6.0 3.2 3.0 1420 1720
GR I £ H A A S . BEEME 750W 3.5 3.4 2.0 1.9 11 10 o 5.0 1420 1720
- HR AR AL (A HER e R MIEE 1500W 6.5 6.1 3.8 3.6 20 18 10 9.0 1430 1730
2200W 8.5 8.3 4.9 4.6 1430 1730
SEHmR: b 4 2 3700W 14 13.5 8.0 7.8 1450 1750
H Bl (A R 32 S =18 220v/380V

C 48 220V N RERERE:
A EH 110V
B Iz (MZE) B

V IRCGED)RE

GH

= ?ﬂ- éﬂ% ::%: ﬁ_ E. 121, HOME ASTANDARD(CPGIEZZCPG STAND )
=
EoS
ENPE Gl-%EF G2-E A1 G3-tH A G4-TFH S
LEFT SIDE RIGHT SIDE UPPER SIDE LOWER SIDE 7~
| 151

C Hiu HA(HEMRIGHT SIDE ) HD(#& e TSHAFT DOWN )
GV “
1:}1 VO #ESTANDARD(CPGIECPG STAND | VE(CPGHi#§180° CPG CLOCKWISE 180° I
Eid)
fara
%
PR
CVEY = )
7~ i
151
0
VQ(CPG&“QB‘ CPG LEFT TURNSO® ) VU(*NJ:SHAFTUP ) VD(# 5 FSHAFT DOWN )

46 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 47




iEE R o :EE

G CYCLOID REDUGER

IS
e imitHiA%E (Kg. m)

REE iR 100W (1/8HP) 200W (1/4HP) 400W (1 /2HP) 750W (1HP) 1500W (2HP) 2200W (3HP) 3700W (5HP) GH18-100-1 /3 ~50

50HZ |60HZ | H1E | 501z | 60Hz | #1EL | 501z | 60Hz | H1EL| 504z | 60Kz | #]LEL| 504z | 60Hz | #]LEY | 504z | 60Kz | #1EY | 501z | 60kz | H1EY | 501z | 60HZ
3 | 500 | 600 0.19]0. 16 0.37 |0.31 0.7 0.6 1.3 | 1.1 2.6 22 3.80| 3. 20 6.0 5.5
5 | 300 | 360 0.31|0.26| 18 |0.62(0.52| 22 | 1.2 |1.0 2.2 1.9 45338 6.72| 5. 60 11.0/10.0
10 | 150 | 180 0.62]0.52 1.24]1.04 2.4 2.0 % 4.5 3.8 9.1 7.6 13.7/ 11.2| 40 |22.0|20.0
15 | 100 | 120 0.91]0.76 1.8 (1.5 3.6 |3.0 6.8 57| 32 [13.5(11.3 %0 20.1[16.8 32.6(29.8
20 | 75 | 90 . 12| 1.0 2.4 2.0 4.8|4.0 9 |75 18.1/15.1 26.8]22.4 43.6/36.0
25 | 60 | 72 1412 3.0 2.5 6.05.0 11.2] 9.4 22.6/18.9 33.6(28.0 53.9/49.5 GH22-100-1/60 ~ 200
30 | 50 | 60 1.8]1.5 3.6 3.0 7.2 6.0 13.5/11.3 27.1(22.6 40.3/33.6 64.7)58.8

37 | 45 2.2 1.9 4.63.9 9.3/7.8 17.5/14.6 34.929. 1 52.043.4 0 86.3/78.4

33 | 40 272222 | 544428109 9.1 20.6(17.0 41.1(34.0 59. 8| 59.6 98.581.7

30 | 36 2.8 2.4 5.7 4.8 11.6] 9.7 21.9/18.3 43.6/36.4 65.154.3 107 | 97.0

- 60 | 25 | 30 34|29 6.9 | 5.8 13.9]11.6| 32 [26.2|21.9 ‘0 52.4(43.7 78.1| 65. 1 127 | 115
70 | 21 | 26 43|36 8.0 | 6.8 16.2]13.5 31.5/26.3 62.4(52.0| 50 |92.5|77.1
80 | 19 | 23 48|40 9.2 7.7 18.4|15. 4 35.529.6 70.8/59.0 105 | 87.5
9 | 17 | 20 52| 4.4 10.3] 8.6 20.7(17.3 39.3(32.8 77.7/64.3 113 | 94.3 B R R AR AR A AR,
100 | 15 | 18 » 5.8 4.9 11.5| 9.6 23.0[19. 2 13.2|36.0 83.7/69.8 126 | 105 GV18-100-1/3 ~50
120 | 10 | 15 6.9 5.8 13.8/11.5 27.7/23. 1 51.8(43. 2 101 [93.7
140 [12.5] 13 8.0|6.7 16.0]13. 4 32.026.7 59.7/49. 8 116 |96.8
28 32 50

160 | 9.4 | 11.3 9.1 7.6 18.3/15.3 36.3(30.3| 40 |68.056.7 132 | 110
180 | 8.3 | 10 10.3[ 8.6 20.7(17.3 40.8(34.0 76.864. 0 148 | 123
200 | 7.5| 9 11.6] 9.7 22.9 (19, 1 43.2(36.0 82.8(69.0

I\ BRKRIFHE:

nz R Bk ST GV22-100-1/60 ~ 200
T 18 18mm 20mm
__]__ 6 22 22mm 25mm
( 28 28mm 30mm
32 32mm 35mm
] ; | RN 40 40mm 45mm
50 50mm 55mm

48 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 49




G CYCLOID REDUCER . G CYCLOID REDUCER

. .
GH18-200-1/3~10 GV18-200-1/3~10
GH22-200-1/15~90 GV22-200-1/15~90

GH28-200-1/100 ~ 200 GV28-200-1/100 ~ 200

GH32-200-1/300 ~ 450 GV32-200-1/300 ~ 450

50 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 51




G CYCLOID REDUCER . G CYCLOID REDUCER

- -
GH22-400-1/3~ 10 GV22-400-1/3 ~ 10
GH22-400-1/15 ~ 90 GV28-400-1/15~ 90

GH32-400-1/100 ~ 200 GV32-400-1/100 ~ 200

59 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 53




G CYCLOID REDUCER . G CYCLOID REDUCER

- -
GH28-750-1/3 ~ 25 GV28-750-1/3 ~ 25
GH32-750-1/30 ~ 100 GV32-750-1/30 ~ 100

GH40-750-1/120 ~ 200 GV40-750-1/120 ~ 200

54 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 55




G CYCLOID REDUCER . G CYCLOID REDUCER

- -
GH32-1500-1/3 ~ 25 GV32-1500-1/3 ~ 25
GH40-1500-1/30 ~ 100 GV40-1500-1/30 ~ 100

GH50-1500-1/120 ~ 180 GV50-1500-1/120 ~ 180

56 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 57




A A}

G CYCLOID REDUCER G CYCLOID REDUCER

- - U
CH40-2200-1/3~40 CH40-3700-1/3~20
545
(5703 %)
CH50-2200-1/50~100 CH50-3700-1/25~60
605
(6403 %)
O SIS O —S—S T

CV40-2200-1/3 ~40 CV40-3700-1/3 ~20

CVv50-2200-1/50 ~100 CV50-3700-1/25~60

58 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 59




SKM % 51 £ XX T 14 %2 i3 IR Al ‘ ’ ‘ ‘ SKM % 51 £ XX i T 14 %2 i3 IR Al

KM SERIES HELICAL-HYPOID GEAR UNITS

KM SERIES HELICAL-HYPOID GEAR UNITS

SKNARFIFRE-ENHE SR B ENRRATBERANFT—KIHE R, BETERNIIMEHIE
A, BEEUT—EFTEHL:
T2 B R EONMRVE IR R MR AT BUEN, MEARS10~40%EH !
—mitHE R
URAENMEERES, TEFR, SRFR, EOLNSEAHBEME.
2 EHMMES, FHME: 95% (KIN), WHiERIR, EEDN, BRER.
3.RIHETE, M E, M= E), HBHEK.
RS = L EEEHE EER EEHL, BEAK FREGK.
5 RMBAEEW, BEE, MEEEX, TEMA.
6. FEREANRE, ANz, EAAE.
7. KMZ 51505 88 2 45 R ~F SNMRVZER 51 % %0 4% 4T 50 % 88 52 £ R & (KM28 5NMRV5 0 Y R<F R
8. MBI, AEMERNEAS, HESMENRFENETK.
= FEML
1.5h5% 48 & & (KM28-KM58) .
2. 5% : 20CrMnTiH1, B8R A, SEEES6-62HRC, 5 EF R B HE/EE0. 3-0. 5mm.
M. B S MG R T T LG

SKM 38 B-Y -1.1-4P - 15 - FA-DZ -TA - B3

SKMS. .B.. M N(ZH{EH)

T T T |
HLEE S REFN
SKMS. . C.. ##ANCERED)
B: —Hfe) BHME. B A b Foill 71 8
¢: St FEE
. s RN 8 (5] 5
SKM s A\ E = . ) DZ A [m) 3Tl 4k
mjﬁ Y L@ A=K SZ N[5 52l 4y H 4
(RERNER YEJ #I5 B# FA. FB. FC. FD. FE 250 B HH Bl R
SKMS &5 %3 A\ YB BRI TR AR
YP TS5 EE ML
. WmEZEMAN (ZRfEF)

(& BHERD
A MANERRIFRAAESR:

lizulee 7.5~60 75~300 7.5~60 75~300 7.5~60 75~300 7.5~60 75~300

NN ZR

EJ(KW)K 0.12~1.5 | 0.12~0.37 | 0.12~1.5 | 0.12~0.75 | 0.12~4 | 0.12~1.5 | 0.12~4 | 0.25~1.5
HIEZHEN (ZREF) 3
o VLA 130 200 350 500
(BEEBHNER) (N.m)

60 BiE: 0769-88387287 13712580294 £ E. 22477253 E7ANIRIEN] FERIHIENL BiE: 0769-88387287 13712580294 {5 E: 22477253 61




KM SERIES HELICAL-HYPOID GEAR UNITS : : ‘ E ‘ E : : KM SERIES HELICAL-HYPOID GEAR UNITS

N ERRHE: M REFAE:
8 X &£ B B (g
HEER N3] N3} N3}
SYZND 2—-10/\E5 10-24/)\F5 T &
©
— & 1.00(1.00) 1.00(1. 25) 1.25(1.50) 08| N7 |||
5 0 # 1.00(1. 25) 1.25(1.50) 1.50(1.75) A
e i d& 1.25(1.50) 1.50(1.75) 1.75(2.00) ' /\
EUEGAREY. FERBEORUL, EERFESHBE. B3 B8 Q&%&; Vs
t. WMAEEZREAME: [ ]
FA1.FB1.FC1.FD1.FE1 FA2. FB2. FC2. FD2. FE2 nkn/
\\\ﬂ IIN-"'V“\‘, -
% : S————7F
- A ——
\: v” E S
| Ih il
| | B6 B7 V6
. | |
] n $Kh I +. EE LT
i
DZ1 ‘ Dz2

I\ BERE T )

H

&
4 ]

:

+—. EEmmEREL T

e KM28 KM38 KM48 KM58
—fE3h Awo-stage WIS KMB(Z4%) | KMCZZR) |KMB(ZZR) | KMCZZ4R) |KMB(Z4%) | KMC=Z4) |KMB(ZZ%) | KMC=%%)
B3 0.22 0.07 0.42 0.07 0.70 0.13 1.21 0.13
B6 0. 20 0.04 0.35 0.04 0.58 0.09 0.95 0.09
B7 0.13 0.04 0.24 0.04 0.42 0.09 0.72 0.09
B8 0.15 0.05 0.22 0.05 0.42 0.09 0.67 0.09
V5 0.25 0.08 0. 46 0.08 0.75 0.15 1.30 0.15
ZHHES Ahroe-slage V6 0.14 0.09 0.25 0.09 0.45 0.17 0.74 0.17

62 M. 0769-88387287 13712580294 {5 E. 22477253 &S 7NIHIRA TSR], miE: 0769-88387287 13712580294 {5 E: 22477253 63




SKM Z 51| A4 ¥ il T 14 %2 80 iR #1 c : SKM Z 51| A4 ¥ il T 4 %2 B0 iR #1

KM SERIES HELICAL-HYPOID GEAR UNITS | ' | ' KM SERIES HELICAL-HYPOID GEAR UNITS
WHiEE MWEEE etk FERERH HES O RE | MdisE moHEE L@tk ERERH NES RE mie®E iR kit FREE HNES RE | mEERE WEEE itk FERREK HNES R
r/min N. m i FB Type P r/min N.m i FB Type P r/min N. m i FB Type P r/min N. m i FB Type P

0. 12KW 0. 18KW 0. 25KW 0. 37KW
4.6 215 300 0. 60 SKM28C 4 23 68 60 2.9 SKM38B 4 93 95 60 9 1 SKM38B 4 23 140 60 1.4 SKM38B 4
o m o SN T 2w w e noom w1
9.2 108 150 1.2 7.1 210 125 0.86 SKM38C 6 ig ig 38 i g 32 3(1) gg ;:g
11 89 125 1.5 8.8 174 100 0. 86
14 74 100 1.5 12 126 75 0.87 15 148 60 1.4 SKM38B 6 56 7 25 3.2
18 55 75 5 15 106 60 o SKN3BE p 18 119 50 1.7 70 47 20 3.2
23 44 60 3.0 SKM28B 4 18 86 50 2.3 22 96 40 1.9 95 34 15 3.2
28 37 50 35 29 69 40 2.6 31 74 30 2.7 15 219 60 0.92 SKM38B 6
35 30 40 4.3 31 53 30 3.8 36 60 25 3.0 18 176 50 1.1
47 22 30 5.9 36 43 25 4.2 45 49 20 3.0 22 142 40 1.3
56 18.1 25 7.2 45 36 20 4.2 61 36 15 3.1 31 109 30 1.8
70 15.2 20 6.6 61 26 15 4.3 5.5 370 250 0.95 SKM48C 4 36 88 25 2.0
94 1.2 15 7.1 4.6 328 300 1.1 SKM48C 4 6.8 308 200 0.97 45 73 20 2.1
109 9.4 12.5 13.8 5.5 266 250 1.3 9 4 232 150 1.5 61 53 15 2.1
136 7.9 10 12.7 6.8 222 200 14 11 193 125 1.6 70 46 12.5 3.9
184 5.8 7.5 13.7 9.4 167 150 2.1 14 152 100 16 87 33 10 40
4.6 223 300 0. 90 SKM38C 4 11 139 125 2.2 19 116 75 17 120 27 75 40
5.5 179 250 11 14 110 100 2.2 23 93 60 3.8 SKM48B 4 23 138 60 2.5 SKM48B 4
6.8 145 200 1.2 19 83 75 2.4 28 76 50 46 28 112 50 31
9.2 112 150 1.8 3.9 414 250 0.85 Skn4sC 6 6.0 361 150 0.97 SKM48C 6 35 93 40 3.2
11 90 125 2.0 4.4 345 200 0. 87 71 201 105 10 T 15 50 T SKWAGE 5
14 75 100 2.0 6.0 260 150 1.3
19 54 75 90 71 917 125 - 8.8 237 100 1.0 18 174 50 2.0
23 46 60 4.4 SKM38B 4 8.8 171 100 1.4 12 180 75 1.1 22 145 40 2.1
28 37 50 55 12 130 75 15 15 145 60 2.4 SKM48B 6 31 109 30 3.2
35 30 40 6.1 15 104 60 3.4 SKM48B 6 18 118 %0 3.0 36 91 25 3.3
47 23 30 8.8 18 85 50 4.1 22 98 40 3.1 45 72 20 3.3
4.6 219 300 1.6 SKM48C 4 22 71 40 4.3 4.6 453 300 1.1 SKM58C 4 61 55 15 3.7
5.5 177 250 2.0 4.6 326 300 1.5 SKM58C 4 5.5 370 250 1.4 4.6 671 300 0.75 SKM58C 4
- 6.8 148 200 2.0 5.5 266 250 1.9 6.8 308 200 1.6 5.5 547 250 0. 91
9.2 1M 150 3.1 6.8 222 200 2.2 9.3 232 150 2.2 6.8 456 200 1.1
11 93 125 3.2 9.3 167 150 3.0 11 193 125 2.5 9.3 343 150 1.5
13 73 100 3.3 11 139 125 3.4 14 152 100 2.5 11 286 125 1.7
18 56 5 3.6 14 110 100 3.5 19 116 75 2.6 14 225 100 1.7
55 177 250 2.8 3.0 507 300 0.99 SKM58C 6 3.5 575 250 0. 87 23 137 60 3.6 SKM58B 4
g- 2 :;‘? 1228 i- g Z-i glg igg :i 4.4 479 200 1.0 28 112 50 4.5
- : 60 260 150 o 6.0 361 150 1.4 6.0 534 150 0.94 SKM58C 6
0. 18KW 70 217 125 5 s 7.0 301 125 1.6 7.0 445 125 1.1
11 133 125 0.98 SKM28C 4 8.8 171 100 2.2 8.8 231 100 1.6 8.8 351 100 11
14 112 100 0.90 12 130 75 2.3 12 180 7 1.7 12 267 75 1.1
18 82 5 0. 97 0 25KW 15 144 60 3.5 SKM58B 6 15 213 60 2.3 SKM58B 6
23 66 60 2.0 SKM28B 4 . 19 118 50 4.3 18 174 50 2.9
28 55 50 2.4 23 92 60 1.4 SKM28B 4 0. 37KW 22 145 40 3.3
35 45 40 2.9 28 77 50 1.7 . 0. 55KW
47 33 30 3.9 35 63 40 2.1 23 136 60 0. 96 SKM28B 4 :
56 27 25 4.8 47 46 30 2.8 28 113 50 1.1 35 138 40 0. 94 SKM28B 4
70 23 20 4.4 56 38 25 3.4 35 93 40 1.4 47 101 30 1.3
94 17 15 4.7 70 32 20 3.2 47 68 30 1.9 56 83 25 1.4
15 103 60 1.3 SKM28B 6 94 23 15 3.4 56 56 25 2.3 70 70 20 1.4
18 86 50 1.5 15 142 60 0.9 SKM28B 6 70 47 20 2.1 94 51 15 1.6
22 70 40 1.8 18 119 50 I 94 35 15 2.3 109 43 12.5 2.0
30 52 30 2.5 22 98 40 1.3 109 29 12.5 3.5 136 36 10 2.8
A O T T w o w D RS 1 S
184 18 7.5 4.5 36 129 25 1.0 SKM28B 6
60 26 15 3.1 45 49 20 2.0
70 29 125 50 60 36 15 P 22 145 40 0.90 SKM28B 6 45 109 20 1.0
87 18 10 5.4 70 30 12.5 3.3 30 106 30 1.2 60 8 15 1.0
18 14 7.5 5.9 88 2 10 3.9 36 87 2 1.5 70 67 12.5 1.5
6.8 217 200 0.83 SKM38C 4 118 19 7.5 4.2 45 13 2 1.4 87 % 10 1.8
9.4 167 150 1.2 9.4 233 150 0.86 SKM38C 4 60 54 15 1.5 118 42 1.5 1.9
11 135 125 1.3 11 188 125 0.96 70 45 12.5 1.9
14 112 100 1.3 14 155 100 0.97 87 38 10 2.6
19 81 75 1.4 19 113 75 0.98 118 28 7.5 2.9

64 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 65




SKM Z 51| A4 ¥ il T 14 %2 80 iR #1

KM SERIES HELICAL-HYPOID GEAR UNITS

SKM Z 51| A4 ¥ il T 4 %2 B0 iR #1

KM SERIES HELICAL-HYPOID GEAR UNITS

WERR MR Ik ERARH MBS RE | GHEE WUHEE itk ERRH HNES wmE
r/min N. m i FB Type P r/min N. m i FB Type P
0. 55KW 0. 75KW
23 209 60 0. 96 SKM38B 4 31 222 30 0.9 SKM38B 6
28 168 50 1.2 36 179 25 1.0
35 136 40 1.3 45 148 20 1.0
48 105 30 1.9 61 107 15 1.0
56 84 25 2.1 70 93 12.5 1.9
70 70 20 2.1 87 77 10 2.0
95 51 15 2.2 120 56 7.5 2.0
109 44 12.5 4.1 23 280 60 1.3 SKM48B 4
136 36 10 4.1 28 227 50 1.5
186 26 7.5 4.2 35 189 40 1.6
22 211 40 0. 85 SKM38B 6 47 142 30 2.5
31 163 30 1.2 56 119 25 2.5
36 131 25 1.4 70 93 20 2.6
45 109 20 1.4 95 71 15 2.8
61 79 15 1.4 18 353 50 0.99 SKM48B 6
70 68 12.5 2.6 22 294 40 1.0
88 56 10 2.7 31 221 30 1.6
120 41 7.5 2.7 36 184 25 1.6
23 205 60 1.7 SKM48B 4 45 145 20 1.7
28 166 50 2.1 61 110 15 1.8
35 139 40 2.2 70 91 12.5 3.3
48 104 30 3.4 87 72 10 3.3
56 87 25 3.5 120 55 7.5 3.7
70 68 20 3.5 11 580 125 0.83 SKM58C 4
95 52 15 3.8 14 457 100 0.83
15 319 60 1.1 SKM48B 6 19 347 75 0. 86
18 259 50 1.4 23 278 60 1.8 SKM58B 4
22 215 40 1.4 28 227 50 2.2
31 162 30 2.2 35 189 40 2.5
36 135 25 2.2 48 142 30 3.5
45 107 20 2.3 56 119 25 4.0
61 81 15 2.5 70 93 20 4.1
9.3 511 150 0.98 SKM58C 4 95 il 15 4.2
11 425 125 1.1 15 432 60 1.2 SKM58B 6
14 335 100 1.1 18 353 50 1.4
19 255 75 1.2 22 294 40 1.6
23 204 60 2.5 SKM58B 4 31 221 30 2.3
28 166 50 3.0 36 184 25 2.6
35 139 40 3.5 45 145 20 2.6
48 104 30 4.8 61 110 15 2.7
15 317 60 1.6 SKM58B 6
18 259 50 1.9 1 . 1 KW
22 215 40 2.2 109 86 12.5 1.5 SKM28B 4
31 162 30 3.1 136 72 10 1.5
36 135 25 3.5 184 53 7.5 1.5
45 107 20 3.6 70 134 12.5 0.97 SKM28B 6
61 81 15 3.7 86 112 10 0. 89
118 83 7.5 0.96
O' 75KW 48 209 30 0. 96 SKM38B 4
47 138 30 0.9% SKM28B 4 56 169 25 1.1
56 113 25 1.1 70 140 20 1.1
70 95 20 1.1 95 101 15 1.1
94 70 15 1.1 109 87 12.5 2.1
109 59 12.5 2.2 136 72 10 2.1
136 49 10 2.0 187 52 7.5 2.1
184 36 7.5 2.2 70 136 12.5 1.3 SKM38B 6
70 91 12.5 1.4 SKM28B 6 87 113 10 1.3
87 77 10 1.4 120 82 7.5 1.3
118 57 7.5 1.4 23 410 60 0. 85 SKM48B 4
28 229 50 0.87 SKM38B 4 28 333 50 1.1
35 185 40 0.97 35 277 40 1.1
48 143 30 1.4 48 209 30 1.7
56 115 25 1.6 56 174 25 1.7
70 95 20 1.6 70 137 20 1.8
95 69 15 1.6 95 104 15 1.9
109 60 12.5 2.0 109 86 12.5 3.5
136 49 10 2.0 136 68 10 3.5
186 36 7.5 2.1 187 52 7.5 3.9

Hi&E: 0769-88387287 13712580294 fEH: 22477253

A

| == ARRN

ERELIE

MR MEEE Atk FERERH HES RE | ediEE ehEE  &ohtk FERERH HES hRE
r/min N. m i FB Type P r/min N.m i FB Type P
1. 1KW 2. 2KW
31 325 30 1.1 SKM48B 6 48 418 30 0. 84 SKM48B 4
36 271 25 1.1 56 348 25 0. 86
45 213 20 1.1 70 274 20 0. 88
61 162 15 1.2 95 208 15 0. 96
70 134 12.5 2.2 109 172 12.5 1.7
87 106 10 2.3 136 136 10 1.8
120 80 7.5 2.5 187 103 7.5 1.9
23 408 60 1.2 SKM58B 4 70 268 12.5 1.1 SKM48B 6
28 333 50 1.5 87 211 10 1.1
35 277 40 1.7 120 161 7.5 1.2
48 209 30 2.4 35 554 40 0.87 SKM58B 4
56 174 25 2.8 48 418 30 1.2
70 137 20 2.8 56 348 25 1.4
95 104 15 2.9 70 274 20 1.4
15 634 60 0.79 SKM58B 6 95 208 15 1.4
18 517 50 0.97 109 172 12.5 2.8
22 431 40 1.1 136 136 10 2.8
31 325 30 1.5 187 103 7.5 2.9
36 271 25 1.8 36 541 25 0. 89 SKM58B 6
45 213 20 1.8 45 426 20 0. 89
61 162 15 1.9 61 324 15 0.93
70 134 12.5 3.6 70 268 12.5 1.8
87 106 10 3.6 87 211 10 1.8
120 80 7.5 3.7 120 161 7.5 1.9
1. 5KW 3. OKW
109 117 12.5 1.1 SKM28B 4 109 235 12.5 1.3 SKM4 8B 4
136 99 10 1.1 136 185 10 1.3
184 73 7.5 1.1 187 141 7.5 1.4
56 230 25 0.8 SKM38B 4 48 569 30 0. 88 SKM58B 4
70 191 20 0.8 56 474 25 1.0
95 138 15 0.8 70 374 20 1.0
109 119 12.5 1.2 95 284 15 1.1
136 99 10 1.5 109 235 12.5 2.0
187 72 7.5 1.5 136 185 10 2.1
28 454 50 0.77 SKM48B 4 187 141 7.5 2.1
35 378 40 0.79
48 285 30 1.2 4 OKW
56 237 25 1.3 109 314 12.5 0. 96 SKM4 8B 4
70 187 20 1.3 136 247 10 0.97
95 142 15 1.4 187 188 7.5 1.1
109 118 12.5 2.6 109 314 12.5 1.5 SKM58B 4
136 93 10 2.6 136 247 10 1.5
187 70 7.5 2.8 187 188 7.5 1.6
45 291 20 0. 83 SKM48B 6
61 221 15 0. 91
70 183 12.5 1.6
87 144 10 1.7
120 110 7.5 1.8
23 556 60 0.9 SKM58B 4
28 454 50 1.1
35 378 40 1.3
48 285 30 1.8
56 237 25 2.0
70 187 20 2.0
95 142 15 2.1
109 118 12.5 4.1
136 93 10 4.1
187 70 7.5 4.1
31 443 30 1.1 SKM58B 6
36 369 25 1.3
45 291 20 1.3
61 221 15 1.4
70 183 12.5 2.6
87 144 10 2.6
120 110 7.5 2.7
VEARIHIENL EiE: 0769-88387287 13712580294 {EEH . 22477253 67




SKM & %I/ X #R H 4 %8 B0 IE #1 \ | SKMZ %I/ X BR H 4 %8 80 1E #1

KM SERIES HELICAL-HYPOID GEAR UNITS rﬁ" >ZHE: IN TJ— % rﬁ" >ZH?: IN TJ— % KM SERIES HELICAL-HYPOID GEAR UNITS

SEM28.B..IEC SKM38..B..IEC
T2 G
100
T - 1
&
w § =
- - il i
=
i il
:"‘] :I
T l;i T
T
@95
@110
144
SEMZ28..C.IEC
112
72 G 106
L s
| €
1
& & = 8 @
¥ w e =1 |
@ ]
8 g - 2 & | 2
e — b lens ~yuben
| 2
n oaf 8 [
= ; | L
;I =
e o T-MBx 14 g B85
285 103
@110
144

SKM  Ko(EEH )

SKM Kg(EE ik )

368 |112.5| 388 6.0

6385 |— i =3 | |28 :

38C |137.5| 28" |8 [a1.3]|| 38C 6.8
o8 368 [119.5|
71B5/814 7185814 .

28C (120.5) | *36053L, iTMESNGEE, | | REEDE 3| 100.5 | L, TRGHRGS. | | FeUESis

BORSVERY | 0 {1asey L VR MR e 112 ” 388 1@.5; *Only on request Waight withoul metar
90B5/B14 | 28 [122.5 B0B5B14 e 1&1.5;
90B5B14 | 268 139.5!

68 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 69




SKM & %I/ X #R H 4 %8 B0 IE #1 \ | SKMZ %I/ X BR H 4 %8 80 1E #1

KM SERIES HELICAL-HYPOID GEAR UNITS '_ﬁl' >ZHE: IN TJ— % KM SERIES HELICAL-HYPOID GEAR UNITS

SKM58..B..IEC

SKM48. B..IEC

86 G 103 G
vga 140
T B . e
0 R -
[ ¥
: n ) "
- 5 .
¢ ditl . é 5
o ﬁ = =
o
l i . Iis .
o rafecs - 0xt
- o115 @130
@140 @160
172 206
SKM48..C. IEC SKM58..C..IEC
140
86 G 103 G i
120 140
- il W p— | [ |I,|'_ —
{ &
£ HE== |
é : & 5 Ol 11— - gl
i L]
3 g ; o 2 3 £
- § E
g ="j 2 g E
= ?-M-!Ill!x'lﬁ =
& Lt e . e &
C 2130
8160
206
@ 7,/Output hole 6385 | 48C | 154 28 8 [31.3 488 9.2 6385 |58C |176.5| | 35 10 | 38.3 588 13.3
: 1 588 | 174 38 10 | 41.3 58C 14.8
g5 | 488] 161 30 8 |33.3 48C 10.8 e | |
48C | 191 35* 10 | 38.3 58C [213.5
488 | 151 = 2 , FOEDE . 588 | 164 | | “3pFRL, TEEWEEE, | | FOEDR
A '48C | 181 | TR, TN, Weight without motor Sl 58C (203.5| | "Only on request Virsight witiout mator
“Only on request ' o
488 | 151 copsm14 | 2B | 164
s S0BSIBA [ 2ec | e | 7B ac [203.5
120 100/112B5| 488 | 161 1100/112B5| 588 | 174
1000112814 | 488 | 161 | 100/112814 | 588 | 174

70 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, SEARIRIENL B 0769-88387287 13712580294 {5 B : 22477253 71




SKM Z 51| A4 ¥ il T 14 %2 80 iR #1 , : SKM Z 51| A4 ¥ il T 4 %2 B0 iR #1

KM SERIES HELICAL-HYPOID GEAR UNITS ‘ ‘ %:é R ﬂ- % KM SERIES HELICAL-HYPOID GEAR UNITS

SKMS. . B. . GGl N) KMS. . C.. GhatiN)

H Gz _Ti H Gs _T2
3 L 56 U 3
a2 — [« ;
I=i— © : a S
N2
B2 = EM\_ L2
1 —NO_ L
_ L1
L
Ei = A B B1 B2 C C1 D D1 D2 G2 G3 K KE H L

SKMS28 80 8 4 4 121 | 155 | 25 1 1 65 100 | 70 4-M8x10 60 92

- SKMS38 | 100 8 5 4 144 | 174 | 25 14 11 76 111 85 T-M8x14 72 112

SKMS48 | 120 8 5 5 173 | 205 | 28 16 14 91 132 90 7-M8x14 86 120

SKMS58 | 140 10 6 5 206 | 238 | 35 19 14 107 | 148 | 100 | 7-M10x18 103 | 140

FA FC
S S
KA KB KC KM KN KO KP KQ KA KB KC KM KN KO KP KQ KL
U= L1 | L2 | L5 M N 0 I 12 R R1 | R2 S 1 T2 v -
= Q scos | 90 | o 5 | 85 | 70 |a-11] 125 110 skM28 | 89 | 10 | 5 | 130| 110 | 4-9 | 160 66
SkM38 | 98 | 10 | 6 | 165 | 130 |4-11| 200 80
SKMS28 | 85 | 77 | 51 85 70 | 85| 57 |21.5]| 75 |28.3|12.5|12.5| 7 23 | 23 | 40 SKM38 | 82 | 10 | 6 | 150 | 115 |4-11 | 180 142
SKM58 | 110 | 17 | 6 | 165 | 130 | 4-14| 200
SKM48 | 111 | 13 | 6 | 165| 130 | 4-14| 200 170
SKMS38 | 103 | 97 | 63 | 95 | 80 | 8.5 [64.5| 29 | 80 |28.3| 16 |12.5| 9 30 | 23 | 50
SKM58 | 111 | 13 | 6 | 175 | 152 |4-14]| 210 200 o FD
S
SKMS48 | 112 | 105 | 68 | 115 | 95 |11.5|74.5|30.5| 93 | 31.3| 18 16 10 | 40 30 60 KA | KB | KG | KM | KN | KO | KP | KQ | KL
) FB skM28 | 72 |14.5| 5 | 115| 95 |4-11| 140 60
SKMS58 | 130 | 122 | 74 | 130 | 110 | 13 | 88 | 44 | 102 |38.3|21.5| 16 | 11 40 | 30 | 70 £S
' ' KA | KB | KC | KM | KN | KO | KP | K@ | KL SKM38 | 107 | 10 | 5 | 165 | 130 | 4-11/| 200 80
SkM28 | 120 | 9 5 | 85 | 70 [4-11] 125 | 110 SKM58 | 151 | 13 | 6 | 175 | 152 | 4-14/| 210 | 200
SKM38 | 112 | 10 | 6 | 150| 115 |4-11| 180 | 142 FE
ElE=
SKkM48 | 90 | 13 | 6 | 130| 110 |4-14| 160 | — ka | ke | ke |k | Kk Ko Kp
SKM58 | 122 | 18 | 6 | 215| 180 |4-14| 250 | — | 105 SKM38 |80.5/16.5| 5 | 130| 110 | 4-11 160

79 Hi%: 0769-88387287 13712580294 {6 & . 22477253 EINIFIEA SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 73




SKM Z 51| A4 ¥ il T 14 %2 80 iR #1 , : SKM Z 51| A4 ¥ il T 4 %2 B0 iR #1

KM SERIES HELICAL-HYPOID GEAR UNITS ‘ ‘ %:é R ﬂ- % KM SERIES HELICAL-HYPOID GEAR UNITS

DZ (B [ 4y i %) SZ (W [a) 4y i )
L Li T T
- L2 bi bi
M | ll//lL”lll: - H = a
(== 1= - }»'c’ IH|'=7=" — F‘c‘
-_E b E ‘ __E b i
C B C ) fﬁ -
NSy
-] O
ile— d E (] L L1 L2 b1 t1 |
|
[ ——
SKM28 25 50 53.5 153 199 145.5 8 28
21R 4 1R 6 8 1R Zz X R =F
SKM38 25 50 53.5 173 219 165.5 8 28 =
MES | b | ot | P | nt | P | nt | P | nt
KW rpm KW rpm KW rpm KW rpm ! N 2 Y > U e E
SKM48 28 60 63.5 192 247 183.5 8 31 i . 2 i
0.18 | 2720 | 0.12 | 1310
6385 115 | 95 | 140 | 4 11 | 12.8| 4 9
SKM58 35 80 84.5 234 309 224.5 10 38 0.25 | 2720 | 0.18 | 1310
0.37 | 2740 | 0.25 | 1330 | 0.18 | 850
7185 130 | 110 | 160 | 4 14 |16.3| 5 9
- " 0.55 | 2740 | 0.37 | 1330 | 0.25 | 850
B
80B5 165 | 130 | 200 | 4 19 | 21.8| 6 11
1.1 | 2845 | 0.75 | 1390 | 0.55 | 885 | 0.25 | 645
1.5 | 2840 | 1.1 | 1390 | 0.75 | 910 | 0.37 | 670
- 90B5 165 | 130 | 200 | 4 | 24 |27.3| 8 11
i i Am 2.2 | 2840 | 1.5 | 1390 | 1.1 | 910 | 0.55 | 670
N { 2.2 | 1410 0.75 | 680
/\ L e T 10085 3 | 2860 1.5 | 920 215 | 180 | 250 | 4.5 | 28 |31.3| 8 |13.5
\y | D ' 3 | 1410 1.1 | 680
P\ S £ /4 |||
_ M i 112B5 4 2880 4 1440 | 2.2 | 935 | 1.5 | 690 | 215 | 180 | 250 | 4.5 | 28 [31.3| 8 |13.5
x
I
x 21K 4 1R 6 8 R 7z x R F
1 T e -
AR cale MES bl m [ p | m [P |t | P 0t | vyl olrlalelsls
KW rpm KW rpm KW rpm KW rpm
0.37 | 2740 | 0.25 | 1330 | 0.18 | 850
71B14 85 | 70 | 105 | 4 14 | 16.3| 5 7
me K1 8 K@ KH R 0.55 | 2740 | 0.37 | 1330 | 0.25 | 850
s0814 0.75 | 2845 | 0.55 | 1390 | 0.37 | 885 | 0.18 | 645 o0 | 50 | 120 | 4 S D ,
KM28 100 14 38.5 10 18 1.1 | 2845 | 0.75 | 1390 | 0.55 | 885 | 0.25 | 645 '
1.5 | 2840 | 1.1 | 1390 | 0.75 | 910 | 0.37 | 670
KM38 150 14 49 10 18 90B14 115 | 95 | 140 | 4 24 | 27.3| 6 9
2.2 | 2840 | 1.5 | 1390 | 1.1 | 910 | 0.55 | 670
KM48 200 25 47.5 20 30 2.9 | 1410 0.75 | 680
100B14 | 3 | 2860 1.5 | 920 130 | 110 | 160 | 4.5 | 28 |31.3| 8 9
3 | 1410 1.1 | 680
KM58 200 25 57.5 20 30
112B14 | 4 | 2880 | 4 | 1440 | 2.2 | 935 | 1.5 | 690 | 130 | 110 | 160 | 4.5 | 28 |31.3| 8 9

74 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, SEARIRIENL B 0769-88387287 13712580294 {5 B : 22477253 75




NMRV % 51) i %€ 5 £ I8 i #l : ; NMRV % 51) & %€ 5 £ I8 1 #l

NMRV WORM REDUCER NMRV WORM REDUCER

—. RS

TR EEEEHIITHER SHEE ARIIERD, NS
AR IMERESF . BRI

2. TR, BEN REAE EFWA;

SHIANAR AIRB NG, BN ERIMANEZ;

4. ZER %, AT =0 B S S0 B Y, AR AT AT B B W (BD R | E D
5. % E R L7, 5. 108F 2£80%, 15, 208F270%, 30-100RFZ60%.

NMRV. . 17 % i 38 41
WMANEZER (BES®BEHNER

1. & K

2. % #F

3. w1 K

NRV. . & %2 5L IR ] 4. iH £t
e 5. i A

6. % i %4

7.8 %

M. ESMRYVEH0-*P5 Y0.75 - F1 -DZ - YZ - TA - B3

BLIE EE DZ B fE) 320 4y 4 REFA
SZ W [a) 320 ¥y i 4

=5 0 iy L

| = — . B
NMRV. . TA. .mﬁzs’e»aw;im NES ;éﬁ(;j;;&g‘agﬁrﬂ; ﬁigi
E—— O 2
\i-! - NMRV 5365 N 5% 22 AR HL AL S & I 2 (KW) B2 [5) [=) 4% #F 460t 4
ff‘\\‘ (BREBHER Y EiEE EN Ay
@ NRV %% AL L YES 30 el
2/, Y8 B L
§ YP TSR
W5 315 L 328 TR FL L B
2. 5] [5) 4 4T 460 1 %

76 Hi%: 0769-88387287 13712580294 {5 H. 22477253 yEZNIRE SEINIIEN] i 0769-88387287 13712580294 fEE: 22477253 77




NMRV 3 %1 4% %2t 4T & 128 #1 NMRV 3 %1 4% %2t 4T 8 128 #1

NMRV WORM REDUCER NMRV WORM REDUCER
HATE S RT I T REGEWEN
NMRV 40/90 - 300 Y0.37 - F1 -DZ - YZ - TA - AS1 NMRV. . NRV. . NMRV. . F1.. NMRV. .F2..
HWAEZRIBRAEN | HHAARBRAGEN | BFIABBEEER H5F 275 61 4 5% 2
(R&BHIER 85 2 3 L 85 2 32 L
L b DZ & [ 320 i tH S —— ] .
SZ X [a 3 1 i i b | I |
25 0 4 4 B 11 |
%
4 & A A2 Foo(1-2) [ e K !
BRHEZRRESE, FR G ) -
Rk = A NMRV. . TA. . DZ (& ity it ) NMRV. . YZ. .
B % 46 B8 5 52 4% 05 50 AL AL ) B2 51 1) 4% 4T 4 L4 3
NMRV 5 5 A 5% 2 3¢ L AL R S R 3 (KW) B F] 1545 4F 4 11 {=-g=
(R&BHIER Y B TR W
NRV 2 i A L L YEJ 13 B il =
YB BRI
SZ (Wi i )
YP ESFEAL Rt 5
RE L4 B - -
qﬂE—:%:E{}

KSR RIEEX
NMRV AR Z IR RIEN (BC S BHLER)
NRV A N SRS R A ... F1 ... F2
25-30-40-50—-63-75-90-110-130 WRESIRREN B AL EE RS (L BESED M N
7. 5-10-15-20-25-30-40-50-60-80-100 |  EiikEL ﬂ‘r W‘r
Y0. 75 ALK BRI # {
e (1-2) LR SRR S I ]
TA HEENRS - -
Yz Bic 5] 2 4 4 460 H S 1K S
bz R 28 [ A S A RAEEELE.
Sz BC X =) 46 4K S =
S | NMRVO25 | NMRVO30 | NMRVO40 | NMRVO50 | NMRVO63 | NMRVO75 | NMRVO90 | NMRV110 | NMRV130 :

m(kg) 0.8 1.2 2.3 3.5 6.2 9 13 35 48

78 Hi%: 0769-88387287 13712580294 {E & . 22477253 YERIFIEN FEZNIIRY], BiE: 0769-88387287 13712580294 {5 E: 22477253 79




NMRV Z 71 B %¢ 4w #F 5 1R 41 NMRV 2 %1 i % 4w #F 5 1R 41

NMRV WORM REDUCER = NMRV WORM REDUCER

. BEAMAE: +—. EEFEARENERSHR

‘ NMRV25 | NMRV30 | NMRV4O | NMRV50 | NMRV63 | NMRV75 | NMRV9O | NMRVI10 | NMRV130
WA | R o

Rl | #eiE | bt St | AL | | AL | S | AL | | AL | | AL | | L | | AL | B | m
455 | THE | %6 | THE | KB | THEE | MAE | ThE | A6 | TN | 445 | O | 4B | THE | 4B | THE | 4B | HE

r/mi | r/mi
n n

i n |Nm| Kw [Nm| Kw | Nm| Kw | Nm| Kw [Nm| Kw | Nm| Kw | Nm| Kw | Nm| Kw | NNm | Kw

187 | 7.5 /0.88| 4 |0.09| 8 |0.18] 16 (0.37| 34 (0.75| 68 | 1.5|137|3.0| 184 | 4.0| 345| 7.5 |349| 7.5

140 | 10 | 0.88| 5 |0.09| 10 |0.18| 21 |0.37| 44 |0.75| 89 | 1.5|180| 3.0| 243 | 4.0 |455|7.5|455| 7.5

93 | 15 |0.87| 7 |0.09] 13 |0.18| 28 |0.37| 58 |0.75| 126 | 1.5 | 191 | 2.2 | 342 | 4.0 | 484 | 5.5 | 664 | 7.5

B3 V5

70 | 20 |0.83| 9 |0.09| 17 |0.18| 39 |0.37| 59 |0.55| 122 | 1.1 | 168 | 1.5 | 344 | 3.0 | 464 | 4.0 | 880 | 7.5

H 56 | 26 |0.82| — | — | 21 |0.18| 32 |0.25| 71 |0.55| 146 | 1.1 |205| 1.5 |308 | 2.2 |573|4.0|788|5.5

L 1400| 47 | 30 |0.78| 12 |0.09| 16 |0.12| 36 |0.25| 81 (0.55| 167 | 1.1 | 233 | 1.5| 351 | 2.2 | 647 | 4.0 | 900 | 5.5

iz 35 | 40 (0.78| 10 |0.06| 17 |0.12] 32 |0.18 68 [0.37| 143 |0.75| 216 | 1.1 | 307 | 1.5 | 638 | 3.0 | 851 | 4.0

e

[0 I 0e

é 28 | 50 |0.75| 10 |0.06| 17 [0.09| 38 |0.18| 54 |0.25| 124 |0.55| 177 |0.75| 27 | 1.1 | 563 | 2.2 [1023| 4.0

24 | 60 |0.74| 10 |0.06| 17 |0.09| 28 |0.12| 60 |0.25| 94 |0.37| 200 |0.75| 311 | 1.1 | 442 |1.5|884|3.0

° 18 | 80 |0.72) — | — | 12 |0.06| 34 |0.12| 52 |0.18| 115 |0.37| 180 (0.55| 258 |0.75| 402 | 1.1 | 816 | 2.2

14 | 100 |0.70| — | — | — | — | 29 |0.09| 40 |0.12| 87 |0.25| 139 |0.37| 221 |0.55| 473 | 1.1 | 655 | 1.5

B6 B7 | V6

) NMRV30/40 | NMRV30/50 | NMRV30/63 | NMRV40/75 | NMRV40/90 | NMRV50/90 |NMRV50/110NMRV63/130

YR | R |t ity | AL | S | AL | e | AL | REL | AL | S | AL | | AL | m
M5 | T | M | T | MG | DR | HRME | T | HAE | ThE | M4 | TOEE | RSB | TV | MR | hE

A

i
op
]
W}
i

r/mi | r/mi

i n |Nm| Kw [Nm| Kw | Nm| Kw | Nm| Kw | Nm| Kw | Nm| Kw | Nm| Kw | NNm| Kw i1xi2

T

4.7 | 300 |0.48| 73 |0.08| 145 |0.15| 230 |0.24| 390 |0.36| 610 |0.56| 610 |0.56|1100/0.95(1760|1.48| 10x30

o)
©)

3.5 | 400 |0.45| 65 |0.06| 124 |0.10| 230 |0.19| 360 |0.27| 610 |0.43| 610 |0.43|1030/0.69(1650|1.09| 10x40

2.8 | 500 |0.40| 61 |0.04| 120 |0.09| 216 |0.15| 320 | 0.21| 560 | 0. 34| 560 | 0. 34| 1000| 0. 56| 1550{ 0. 86| 10x50

-~
b

2.3 | 600 |0.40| 73 |0.04| 145 |0.08| 230 |0.13| 390 |0.19| 610 |0.31| 610 | 0.31|1030|0.48|1650({0.76| 15x40

v
<
e
Iz

1.9 | 750 | 0.40| 73 |0.04| 145 |0.07| 216 |0.11| 390 (0. 16| 560 |0.23| 560 |0.23|1100|0.43/1760|0.66| 25x30

AS1 AS2 BS1 BS2

1.6 | 900 | 0.35| 73 |0.03| 145 |0.06| 198 [0.09| 390 0. 14| 505 |0.19| 505 |0.19|1100|0.38/1760|0.58| 30x30

1400 1.2 (1200 0.30| 65 |0.02| 124 |0.04| 230 |0.08| 360 |0.11| 610 |0.17| 610 |0.17|1030|0.27|1650|0. 43| 30x40

%_= 0.9 | 1500 0.30| 73 |0.02| 145 [0.04| 216 |0.06| 390 |0. 10| 560 | 0. 14| 560 |0.14|1100/0.26(1760|0.39| 50x30
y‘

7
INS

0.78|1800|0.30| 73 |0.02| 145 |0.04| 198 |0.05| 390 (0.09| 505 |0.11| 505 {0.11|1100|0.23|1760|0.35 60x30

0.58|2400|0.24| 65 |0.01| 124 |0.03| 230 |0.05| 360 |0.07| 610 |0.11| 610 |0.11|1030|0.17/1650|0.25 60x40

\4

0.47|3000|0.24| 33 |0.01| 82 |0.02| 172 |0.03| 320 |0.05| 460 |0.08| 460 |0.08|1000|0.12|1550|0. 15| 60X50

0 S)
\%ﬂfy
sl

e

0.35| 4000/ 0.24| 33 |0.01| 82 |0.02| 172 |0.03| 250 |0.04| 460 |0.08| 460 |0.08| 780|0.12/1220|0.15 S50X80

VS1 VS2 PS1 PS2 0.28|5000|0.20| 29 |0.01| 82 |0.02| 150 |0.02| 230 |0.03| 410 |0.06| 410 |0.06| 710 |0.09/1100|0. 11| 50x100

80 HiE: 0769-88387287 13712580294 {5 . 22477253 EZNIRIEM FEANRERYL BiE: 0769-88387287 13712580294 {4 E: 22477253 81




NMRV 3 %1 4% %2t 4T 8 128 #1

NMRV 3 %1 4% %2t 4T & 128 #1

NMRV WORM REDUCER

NMRV WORM REDUCER

+=. AN EBEE: TH. EBEA:

IR AL

Al A2
B IR IR Z T BT 1. 5KW (44%1400r /min),—fg it 5, 5 X T{E8/\BF, IRIE R E40°C, J8,E EL50 (BN 2

1Del 1

PRI EE R A28 /min), AT M EF1=1. 25, f2=1.12,

M PN1=Pixfixfa=1.5X1.25X1. 12=2. 1KW, ATIEF BT E H2. 2KW.

I IE Al % %< 77 B3, AL 58 m) 32 oL i A,

ep
(Deul] | [

EREFENRABERENESAH:

NMRV90 - 50- Y2.2 -DZ - B3
R IR A

5 K 2 i% & BT EH4E H130N « m, THE16/NBY/ K, 5] 2 8, INIEIB E40°C, BN AT A EF1=1. 25, f2=1. 06,

+=. ERARKE:

1IN ERRLE (F1)
BOAR A A E n2=24r/min, M B 7 EHE bk 460.

Tn2=T2xf1xf2 = 130x1.25X1.06 = 173N *m

B E R 1.00(1.00) 1.00(1. 25) 1.25(1.50) &5 o B8 J1 3 AT IR R R ML AR 77 NMRV 75,
— £ 2 N s
g A 1.00(1. 25) 1.25(1.50) 1.50(1.75) +x. RERTEE:
BT 1.25(1.50) 1.50(1.75) 1.75(2.00)
LENRES. SR BEICRU L, EERFESASE NMRV25
2 INBEREFERAARE (f2)
45 L3 50
d@ﬁw —) 4 N==p
HWEa R 1.00 1.00 1.00 1.03 1.06 1.12 1.20 == . K‘ﬂ(Dr‘
— M 1.00 1.01 1.02 1.06 1.12 1.16 1.30 Sﬁﬁ \ lﬁ —‘J o ° ] /‘*‘ P
. , [ Y
B S 1.00 1.02 1.04 1.10 1.17 1.20 1.40 2 TN 055 RN SULH [
o) I L AAE
+m. R j? 22
45 42
AEHAZER L 70 45

== 10 B U

- 6.5
e -AT§;;3>» 2.5
B3 0.02 0.04 0.08 0.15 0.3 0.55 1.00 3.00 4.50 eBLe - o A\ | 4 o
[ B d
B6 0.02 0.04 0.08 0.15 0.3 0.55 1.00 2.50 3.50 = | 055 \ E% &)
\\53\‘ g « ©11
- B
P E '
70 — =
V5 0.02 0.04 0.08 0.15 0.3 0. 55 1.00 3.00 4. 50 6
B 4 ) , P
V6 0.02 0.04 0.08 0.15 0.3 0.55 1.00 3.00 4.50 49 X BEHKERSTLI"ILEIINR
89 Hi%: 0769-88387287 13712580294 {5 E. 22477253 EZNIEIEA] SEAIEN], BiE: 0769-88387287 13712580294 {5 HE . 22477253 83




NMRV WORM REDUCER

NMRV Z 71 B %¢ 4w #F 5 1R 41

NMRV 2 %1 i % 4w #F 5 1R 41

NMRV WORM REDUCER

X i 42 2B & R

Bl &%

NRV. .

G2

-

==
Oy

KE

L3

=
2

NMRV30-130
NRV. . NMRV. .
H . G L3
H + G2 T v TA G1
A % KE | ® T N1, Ni_
T I 1 I > T I 1 T
L A L AN
5—6777—7 B E==’=777_7;7 I i | — - 6777 %
= = EH .
| © - 5 o
> . + =
=
i i % = (=
! 1T I [ 1 | [ § F
w [72]
M 0 K
P L
C
L EE:110-130 Fily 26 30-90 wE RS Z= 0 i A
KA
KB
o T - )
A H
~ | G1
+ —— - «——
> [ B
T =) _:
K ]| 4
0 L J.Ke
B [ * BHKERTLI"IEIZIRN
M2 | A|b|B| C|d|D|E| F | G |G |G| H | K | KA | KB| KC| KE KM
NMRVO30 | 54 5 21 80 9 14 97 32 55 63 | 51 40 30 44 1 54.5| 6 4 | 4-M6x11 68
NMRV040 | 70 6 26 100 11 18 [121.5| 43 70 78 60 50 40 60 72 7 4 4-M6x8 87
NMRVO50 | 80 8 30 120 14 25 145 49 80 92 74 60 50 70 90 9 5 4-M8x10 90
NMRVO063 | 100 8 36 144 19 25 174 67 95 112 90 72 63 85 102 10 6 8-M8x14 | 150
NMRVO75 | 120 8 40 172 24 28 205 72 |112.5/ 120 | 105 86 75 90 102 13 6 8-M8x14 | 165
NMRV0O90 | 140 | 10 45 206 24 35 238 74 130 | 140 | 125 | 103 90 100 111 13 6 |8-M10x18| 175
NMRV110 [ 170 | 12 | 50 (252.5| 28 | 42 | 294 — 160 | 155 | 142 |127.5| 110 115 131 15 6 [8-M10x18| 230
NMRV130 [ 200 | 14 | 60 (292.5| 30 | 45 | 335 — 180 | 170 | 162 |147.5| 130 120 | 144 15 6 [8-M12x21| 255
B2 KN | KO KP| KQ | L |M| N | N | O |P|Q|R| S | t1| T /|V]|X Y a
NMRVO30 | 50 | 6.5 | 80 70 56 65 55 29 6.5 75 44 57 5.5 116.3 20 27 3 10. 2 45
NMRV040 | 60 9 110 95 71 75 60 36.5| 6.5 87 55 | 71.5| 6.5 | 20.8 23 35 4 12.5 45
NMRVO50 | 70 | 11 [ 125| 110 | 85 | 85 70 | 43.5| 8.5 | 100 | 64 84 7 28.3| 30 40 5 16 45
NMRVO63 | 115 | 11 | 180 | 142 | 103 | 95 80 53 8.5 | 110 | 80 | 102 8 28.3| 40 50 6 21.5 45
NMRVO75 | 130 | 14 | 200 | 170 [ 113|115 | 95 57 11 140 | 93 119 10 | 31.3| 50 60 8 27 45
NMRV0O90 | 152 | 14 | 210| 200 | 130 | 130 | 110 67 13 160 | 102 | 135 11 38.3 50 70 8 27 45
NMRV110 | 170 | 14 | 280 | 260 | 144 | 165 | 130 74 14 200 | 125 |167.5] 14 | 45.3 60 85 8 31 45
NMRV130 [ 180 | 16 | 320 | 290 | 155 | 215 | 180 81 16 250 | 140 |187.5| 15 48.8 80 100 8 33 45
84 Bif: 0769-88387287 13712580294 {5 HEH . 22477253 EINIHIENL

O /()\ = -0
: AN
& 5 = = s
g B T ] [ T :
%) K
X N1 | N1
P L
c
Fb B 110-130 thl 2B:30-90 = 28 o0 4 A 4
KA
KB
| - b
o | ——— )7
o 2227777, 7777
e H
x | G1
+ ——f «—
> ! B
p= O _:
K ]| U
KN g L JLKC
B [a] * BHKERTLI"WEIITR
S A| b | B C |G| d D G G2 H H1 | 11 K KA | KB | KC KE KM | KN
030/040 | 70 | 6 | 26 | 100 | 80 | 9 | 18 | 55 | 51 | 50 | 40 | 40 | 30| 60 | 72 | 7 | 4 | 4-M6x8 | 87 | 60
030/050 | 80 | 8 | 30| 120 | 80| 9 | 25 | 55 | 51 | 60 | 40| 50 | 30| 70 | 90 | 9 | 5 | 4-M8x10| 90 | 70
030/063 | 100| 8 | 36 | 144 | 80| 9 | 25 | 55 |51 | 72 | 40| 63 | 30| 8 | 102 | 10 | 6 | 8-M8x14 | 150 115
040/075 | 120| 8 | 40 | 172 [100| 11| 28 | 70 | 60 | 8 | 50 | 75 | 40 | 90 | 102 | 13 | 6 | 8-M8x14 | 165 | 130
040/090 | 140 10 | 45 | 206 |100| 11| 35 | 70 | 60 | 103 | 50 | 90 | 40 | 100 | 111 | 13 | 6 |8-M10x18| 175 | 152
050/110 | 170 | 12 | 50 |252.5/120| 14 | 42 | 80 | 74 [127.5/ 60 | 110 | 50 | 115 | 131 | 15 | 6 |8-M10x18| 230|170
063/130 | 200 | 14 | 60 [292.5| 144 | 19 | 45 | 95 | 90 |147.5) 72 | 130 | 63 | 120 | 144 | 15 | 6 |8-M12x20| 255 | 180
075/130 | 200 | 14 | 60 [292.5| 172 | 24 | 45 |112.5/105|147.5) 86 | 130 | 75 | 120 | 144 | 15 | 6 |8-M12x20| 255 | 180
A= KO | KP | KQ| L M| N | Ni N2 | O P Q R S | t T V| X Y Z | a
030/040 | 9 | 110| 95| 71 | 75 | 60 [ 36.5| 29 |6.5| 87 | 55 |71.5|6.5/20.8| 23 | 35| 4 | 125 |120| 45
030/050 | 11 | 125|110| 85 | 85 | 70 | 43.5| 29 |8.5| 100 | 64 | 84 | 7 |28.3| 30 | 40 | 5 16 [ 130] 45
030/063 | 11 | 180|142| 103 | 95| 80 | 53 | 29 |8.5| 110 | 80 | 102 | 8 |28.3| 40 |50 | 6 | 21.5 |145| 45
040/075 | 14 | 200| 170| 113 | 115| 95 | 57 | 36.5| 11 | 140 | 93 [ 119 | 10 | 31.3| 50 | 60 | 8 27 | 165| 45
040/090 | 14 | 210|200| 130 | 130|110| 67 |36.5| 13 | 160 {102 135 | 11 | 38.3| 50 | 70 | 8 27 | 182] 45
050/110 | 14 | 270|250 | 142 | 165|130| 74 |43.5| 14 | 200 | 125 167.5 15| 45.3| 60 | 85 | 8 31 | 225] 45
063/130 | 16 | 320|290| 155 | 215|180 81 | 53 | 16 | 250 | 140(187.5 15 | 48.8| 80 |100| 8 33 | 245| 45
075/130 | 16 | 320|290| 155 | 215|180 81 | 57 | 16 | 250 | 140(187.5 15 | 48.8| 80 |100| 8 33 | 270| 45

TEANIIERY, BiE:

0769-88387287 13712580294 fEH: 22477253

55




NMRV Z 71 B %¢ 4w #F 5 1R 41 NMRV 2 %1 i % 4w #F 5 1R 41

NMRV WORM REDUCER NMRV WORM REDUCER
++t. ECURAT R m 5 3R~ 4. BEBMAZEZRTETRER j
FulEE 30 40 50 63 75 90 | 110 | 130 —— [
! : = =F’/ =l — [ = = o
i G 45 53 64 75 90 | 108 | 135 | 155

1 14 19 24 24 28 30

UL —7—=1l
o
©

s T | 20 | 23 | 30 | 40 | 50 | 50 | 60 | 80 \ 7=
S s — . —
X 3 4 5 6 8 8 8 8 =M % BOE b
Hob BB 7.5 | 10 15 20 25 30 40 50 60 80 | 100
PP P R P -8 SN NN B BT R R A
Y [10.5|12.5| 16 |21.5| 27 | 27 | 31 | 33
25 56B14 50 65 80 9 9 9 9 - 9 9 9 9 - -
G5ES 9 | 115 | 140 | ., 11 11 11 11 11 11 11 - - -
. o %0 63B14 60 75 90
T\ B qE /3R 6] 20 H A R T 5685 80 | 100 | 120
9 9 9 9 9 9 9 9 9 9 -
56B14 50 65 80
. 71B5 110 | 130 | 160
DZ (&[54 4 4h) HubBE 30 | 40 | 50 | 63 | 75 | 90 | 110 | 130 2114 70 g5 | 105 | 4| 14 14 | 14 |4 ] 14 14 14 - - -
L 40 6385 9 | 115 | 140 |, 11 11 11 11 11 11 11 11 11 11
. d | 14 | 18 | 25 | 25 | 28 | 35 | 42 | 45 63814 50 75 %
z 1 E | 30 | 40 | 50 | 50 | 60 | 80 | 80 | 80 246 80 | 100 120 | - - - - - - - d 2 2 2
= =l == | EBED 11y || 159 | A0 19 19 19 19 19 19 19 = = = -
- E = C |325| 43 |53.5|53.563.5|84.5|845| 85 80814 60 . 190 ) 120
c ' ' ' ' ' ' 50 7185 110 | 130 L 160 1y | q4 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | -
71B14 70 | 85 | 105
SZ (W a4 %) » L | 102 | 128 | 153 | 173 | 192 | 234 | 249 | 265 6385 95 | 115 | 140 | - Z Z Z Z Z 11 11 1 1 11
ae)
i 90B5 130 | 165 | 200 ~ B ] ]
B — el L1 | 128 | 164 | 199 | 219 | 247 | 309 | 324 | 340 90814 95 | 115 | 140 | 24 | 24| 24 24 ) 24 1 24 24
T o 80B5 130 | 165 | 200 _ B
: ‘ ; bl | 5 | 6 | 8 | 8 | 8 | 10| 12| 14 63 80814 80 | 100 | 120 | O | 1919 T 1919 119 p 19 9
- 71B5 110 | 130 | 160
L1 - - - - - - 14 14 14 14 14
t1 | 16 |20.5| 28 | 28 | 31 | 38 | 45 |48.5 71B14 70 85 | 105
100/11285 | 180 | 215 | 250 | o | Lo | 28 | 28 | 28 | 28 B B B B B
. EEEE R 100/112B14 | 110 | 130 | 160
A = ' 90B5 130 | 165 | 200 | oy | 54 | 24 | 24 | 24 | 24 | 24 | 24 - - -
75 90B14 95 | 115 | 140
80B5 130 | 165 | 200
RubgE 25 | 30 | 40 | 50 | 63 | 75 | 90 | 110 | 130 80B14 80 | 100 | 120 | - - 19 |19 | 19 | 19 | 19 | 19 1 19 | 19
71B5 110 | 130 | 160 | - - - - - - 14 | 14 | 14 | 14 | 14
S@A A | 70 | 85 | 100 | 100 | 150 | 200 | 200 | 250 | 250 100711285 | 180 | 215 | 280 | .4 | 55 | 55 | 28 | 28 | 28 | 28 | - | - | - | -
T 100/112B14 | 110 | 130 | 160
90B5 130 | 165 | 200
i ¢ | 95 | 115 | 140 | 150 | 213 | 275 | 290 | 360 | 480 90 90814 95 | 115 | 140 | 24 | 24 | 24 24 ) 24 24 24 24 24 | - B
o 80B5 130 | 165 | 200 | _ B B ) B B o | 19 | 10 | 19 | 1
[wx] [pm]
5 G KG |17.5| 24 |31.5(38.5 49 |47.5|57.5| 62 | 69 80814 80 | 100 | 120
< = B 13285 230 | 265 | 300 | 38 38 38 38 38 - - - - - -
= 10 100/112B5 | 180 | 215 | 250 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 - -
=2 G | 14| 14 | 14 | 14 | 14 | 25 | 25 | 30 | 30 90B5 130 | 165 | 200 | - - - - 24 | 24 | 24 | 24 | 24 | 24 | 24
kal 6 80B5 130 | 165 | 200 | - - - - - - - - - 19 | 19
‘ 132B5 230 | 265 | 300 | 38 | 38 | 38 | 38 | 38 | 38 | 38 | 38 - - -
KH | 8 | 8 | 10 1 10 | 10 | 20 | 20 | 25 | 25 130 100/112B5 | 180 | 215 | 250 | - - - - 28 | 28 | 28 | 28 | 28 | 28 | 28
90B5 130 | 165 | 200 | - - - - - - - - 24 | 24 | 24

86 BiE: 0769-88387287 13712580294 {4 E . 22477253 =7NIRIENL EARIIENL, iE: 0769-88387287 13712580294 {6 E . 22477253 87




WPZ%

£ EX IR B0 IR R R A1

EA R IR HL

HEE:1/10-1/60

WPX

WPKA

X 2R il 1R AL

®EE:1/100-1/3600

WPKS

WPDZ

WPDKZ

== 3 /40
>> nn)lzn
F e B R L

EEE:1/10-1/60

o

WPW

WPWA

WPWS

WPWD

WPWDA

WPWK

WPWKA

WPWKS

WPWDS

|

WPEA

WPES

WPEDS

WPWX WPEKA WPEKS WPEDKA WPEDKS WPEDO
WPEDX WPWED WPWEK WPWEDK WPWEKO WPWEDKO
88 BiE: 0769-88387287 13712580294 {4 E . 22477253 =7NIRIENL

WPWDK WPWDKA WPWDKS
3 Qe
WPWO WPWX WPWDO WPWDX WPWKO WPWDKO
WPWT WPWDT WPWKT WPWDKT
JCiE
WPWV WPWDV WPWKV WPWDKV

AR, ®iE. 0769-88387287 13712580294 {5 E . 22477253

89




WP % %1 % £k i %2 IRk 128 4/ ’ WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER WP CYCLOID REDUCER

WPAz

WPZ 5! 5 K 9 %2 IR 1R A

] = XV | e
— EREE: RN 3
, WIE R / > H@H Hsl 2
H%ﬁﬁﬂﬁ%%ﬁ& w B i : ;
Product Structural drawing of worm gear speed reducer B J—Ti L+J
A A
e :
- - ﬁ’}‘i% + 2D Nﬁr&cvﬁc BIS @R A | AB| B | BB |CC| H |H | M| N|E|F| G| Z AT EHEHL L
——— HS | U | TXV |LS| S| WxY |Ke| L
()9ygp%§u| 40 143 | 87 | 114 | 74 40 | 138 | 40 90 | 100 | 70 80 13 10 | 25 | 12 4X2.5 28 | 14 5X3 4 10.15
m % 50 175 | 107 | 150 | 97 50 | 176 | 50 | 120 | 140 | 95 | 110 | 15 12 | 30 | 12 4X2.5 40 | 17 5X3 7 10.18
Smnesy 60 198 | 122 | 168 | 112 | 60 | 204 | 60 | 130 | 150 | 105 | 120 | 20 | 12 | 40 | 15 | 5x3 |50 | 22 | 6x3.5 | 10 |0.23
Bcariz WK 70 | /10 1931 | 140 | 194 | 131 | 70 | 236 | 70 | 150 | 190 | 115 | 150 | 20 | 15 | 40 | 18 | 6X3.5 | 60 | 28 | 8x4 | 15 |0.52
;:;;";‘,‘ 80 :;;g 261 | 160 | 214 | 142 | 80 | 268 | 80 | 170 | 220 | 135 | 180 | 20 15 50 | 22 6X3.5 65 | 32 10X5 20 |0.72
Input cover 100 1/25 322 | 190 | 254 | 169 | 100 | 336 | 100 | 190 | 270 | 155 | 220 | 25 15 50 | 25 8 X4 75 | 38 10X5 35 |1.62

igl'l ilq 120 1/30 | 381 | 229 | 282 | 190 | 120 | 430 | 120 | 230 | 320 | 180 | 260 | 30 | 18 | 65 | 30 8X4 85 | 45 | 14X4.5 | 60 | 3.5
il sea
) Hh ﬁﬂ 135 1;;8 433 | 260 | 317 | 210 | 135 | 480 | 135 | 250 | 350 | 200 | 290 | 30 | 18 | 75 | 35 10X5 95 | 55 16X 6 80 | 3.5
O shaft 7

| L.“pu“ 2 Input shaft 155 1/60 | 504 | 302 | 382 | 252 | 165 | 531 | 135 | 275 | 390 | 220 | 320 | 35 | 21 | 85 | 40 12X5 | 110 60 18X 7 110 | 3.6
| '- I"‘ 175 545 | 325 | 402 | 262 | 175 | 600 | 160 | 310 | 430 | 250 | 350 | 40 | 21 | 85 | 45 | 14X5.5 | 110| 65 18X 7 150 | 4.6
I ﬁm Ir- < L 200 587 | 350 | 467 | 305 | 200 | 666 | 175 | 360 | 480 | 290 | 390 | 40 | 24 | 95 | 50 | 14X5.5 |125| 70 | 20X7.5 | 215 | 6.4
\ :" N/ , - J 250 705 | 420 | 552 | 360 | 250 | 800 | 200 | 460 | 560 | 380 | 480 | 45 | 28 | 110| 60 18X7 |155| 90 25X 9 360 | 8.3

Y ot

AN ‘Qver o .
oil gauge

AL it 48R 2

Oil scren plug

Ny 4 2
&

A
Oil gauge

WP Sz )

B
/ BB AB
T T I
| \ / | | ﬁ:@\ = :Iva 3
S
;”\&55} KL WxY H ,J HS | 8
j f”ﬁl - &
—BESMERTAE: s
hig I E T 2 o 4x7 3
o 3R 7N :
W P W E D K A 70 - 1/60 - B N ARA1L
R T | iy ‘ :
| N i
A N
. A 7% 14 EEHE
RIS |EELL| A |AB| B |BB|CC| H|LL| M| N|E|F|G]|zZ L
HS| U | TXV |LS| S| WXY |Keg| L
- . % 40 143 | 87 | 114| 74 | 40 | 141 | 60 | 90 | 100 | 70 | 80 | 13 | 10 | 25 | 12 | 4x2.5 | 28 | 14| 5x3 4 |0.32
BERR WA it/ N\
W- A-NBHET/S-NBE £ 50 175 | 107 | 150 | 97 | 50 | 180 | 80 | 120 | 140 | 95 | 110 | 15 | 12 | 30 | 12 | 4X2.5 | 40 | 17 | 5X3 7 |0.42
_ ok A _ 3 22 - 5 - ST 1R
4 AT 2 W-T 8 D-EE B #l %= ‘T)_Bﬂ\ggix_gﬂ\gg¥ Rt 60 198 | 122 | 168 | 112 | 60 | 207 | 90 | 130 | 150 | 105 | 120 | 20 | 12 | 40 | 15| 5x3 |50 | 22 | 6x3.5 | 10 |0.55
TREB-ERE TREBB-ERE Fo 4% RO £ A B 70 :;:g 231 | 140 | 194 | 131 | 70 | 238 | 105 | 150 | 190 | 115 | 150 | 20 | 15 | 40 | 18 | 6Xx3.5 | 60 | 28 | 8x4 | 15 |0.75
80 1/20 | 261|160 | 214 | 142 | 80 | 270 | 120 | 170 | 220 | 135 | 180 | 20 | 15 | 50 | 22 | 6X3.5 | 65 | 32 | 10X5 | 20 |1.15
100 | 1/25 | 322 | 190 | 254 | 169 | 100 | 334 | 150 | 190 | 270 | 155 | 220 | 25 | 15 | 50 | 25 | 8x4 | 75| 38 | 10X5 | 35 |2.35
120 | 1/30 | 381 | 229 | 282 | 190 | 120 | 423 | 180 | 230 | 320 | 180 | 260 | 30 | 18 | 65 | 30 | 8x4 | 85 | 45 | 14X4.5 | 60 | 4.6
TR B AR mob B A/B- 135 1;38 433 | 260 | 317 | 210 | 135 | 482 | 215 | 250 | 350 | 200 | 290 | 30 | 18 | 75 | 35 | 10X5 | 95| 55| 16X6 | 80 | 6.5
P-%& {k E-Y Rk K-FL4 1 . 155 1/60 | 504 | 302 | 382 | 252 | 155 | 541 | 235 | 275 | 390 | 220 | 320 | 35 | 21 [ 85| 40 | 12X5 |110| 60 | 18X7 | 110 | 6.8
D—4 Ie 4% FO-EL A A Ie 4% FD-EL A A @ E <) 46 th 4 95 15 175 545 | 325 | 402 | 262 | 175 | 600 | 260 | 310 | 430 | 250 | 350 | 40 | 21 | 85 | 45 | 14X5.5 | 110| 65 | 18X7 | 150 | 8.5
200 587 | 350 | 467 | 305 | 200 | 667 | 290 | 360 | 480 | 290 | 390 | 40 | 24 | 95 | 50 | 14X5.5 |125| 70 | 20X7.5 | 215 | 9.5
250 705 | 420 | 552 | 360 | 250 | 824 | 350 | 460 | 560 | 380 | 480 | 45 | 28 | 110| 60 | 18X7 |155| 90 | 25x9 | 360 | 13

90 Hi%: 0769-88387287 13712580294 {6 E. 22477253 y&7NIRIEM, FEZNIRIERY] % 0769-88387287 13712580294 fEEL: 22477253 91




WP % %1 % £k i %2 IRk 128 4/ Ny WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER b s WP CYCLOID REDUCER
BC A
1 1 4 1 AB
WP Xz WP Oz f _ WPD Sz e ]
e -
g 2 g 9
WxY & LA / | \ T g ©
s — =| \ /|
T S . % ’ LEELE g
— ITT — 7] = fan)
- . e ‘J
3 1\ /I-LS
= = 4xz 3
— !
Mg EERR: BB BB g R R R < Q/M o ﬂﬂ
A B c A B c D E F A B A F 7
A A BN m% m% By oA | o aqu Hy A L y
“‘E 3; wj‘] x : i L /\£ iml ajj s |
H ] PN tH A I B J<
== o | M| ORE BHlE= ABA H 5 2
. i A|AB|BB|CC| H |LL|M|N|E|F |G|z
RS | @EL| A | AB| BB | BC|[CC| N M E | E1 | E2 | G z A T4 ti 7148 BR|HE 25 Ipx | LA|LB|LC|LE|LZ | o | U TV |Ls| s | wxy | kg
HS | U TXV LS| S WXy Kg | L 40 | 0.12 135| 75 | 74 | 40 [141] 60 | 90 [100| 70 | 80 | 13 | 10 |115| 95 [140| 4 | M8 |31 | 11 |4x12.8 |28 | 14| 5x3 5
40 143 87 74 45 40 94 184 70 74 86 10 10 25 12 4X2.5 28 14 5X 3 5 0. 38 50 0.18 151| 83 | 97 | 50 |176| 80 |120|140| 95 [110| 15 | 12 [115| 95 [140| 4 M8 31 11 | 4X12.8| 40 | 17 5X 3 8
50 75 11071 97 30 | 30 | 116 1220 | 0 | 92 11021 15 | 12 T30 | 12 | ax2.5 120 | 17 %3 s Toso 60 | 0.37 167] 91 |112] 60 |202| 90 | 130 150|105|120| 20 | 12 |130|110]160| 4 | M8 | 33 | 14 | 5x16.3| 50 | 22 | 6x 3.5 | 11
; . 7w |27 20011094 5,1 76 | 238|105|150| 190|115 |150| 20 | 15 [ S0 1101160}, | M8 | 40 | 14 | 5X16.3 | o | o | gyy | 17
60 198 | 122 | 112 | 55 | 60 | 126 | 260 | 100 | 105 | 120 | 20 | 12 | 40 | 15 5X 3 50 | 22 | 6x3.5 | 10 |0.65 0.75 202|111 165]130] 200 M10 | 42 [ 19 | 6X 21.8
70 1/10 | 231 | 140 | 131 | 65 | 70 | 156 | 295 | 120 | 120 | 135 | 20 | 15 | 40 | 18 | 6x3.5 | 60 | 28 | 8x4 | 15 |1.15 80 °1'755 1/10 | 225|125 142| 80 |273| 120| 170| 220|135 180| 20 | 15 | 165|130|200|4.5| W10 ;i ;i gii;g 65| 32| 10x5 | 22
- 1/15 .
80 :;;g 261 | 160 | 142 | 70 | 80 | 175 | 320 | 140 | 130 | 150 | 20 | 15 | 50 | 22 | 6x3.5 | 65 | 32 | 10X5 | 20 | 1.5 100 | 1.5 | 1/20 |280] 148|169 100]334|150| 190|270 155] 220 25 | 15 | 165| 130| 200] 4.5| M10 | 52 | 24 | 8x 27.3| 75| 38| 10x5 | 38
100 1/25 | 322 | 190 | 169 | 90 | 100 | 224 | 375 | 190 | 155 | 180 | 26 | 15 | 50 | 25 8x4 75 | 38 | 10X5 35 | 3.2 120 2‘32 :jig 333|181|190|120|423|180|230|320|180|260| 30 | 18 |215(180[250| 5 | M12| 63 | 28 | 8X 31.3| 85 | 45 | 14X 4.5| 64
120 1/30 | 381 | 229 | 190 | 100 | 120 | 266 | 450 | 220 | 185 | 215 | 30 | 18 | 65 | 30 8x 4 85 | 45 | 14X4.5 | 50 | 5.2 3 | 1/40
1/40 135 1/50 |375|202|210| 135|482 | 215|250 |350|200|290| 30 | 18 215|180 |250| 5 |M12 | 63 | 28 | 8X31.3 | 95 | 55 | 16X 6 | 85
135 1/50 | 433 | 260 | 210 | 110 | 135 | 306 | 495 | 260 | 210 | 235 | 30 | 18 | 75 | 35 | 10X5 | 95 | 55 | 16X6 75 | 7.3 ___[ifyed
155 | 5.5 448247252 155|541 |235]275]390|220[320]| 35 | 21 |265|230|300| 5 | M12| 83 | 38 [10x41.3/110| 60 | 18x7 | 11
155 1/60 | 504 | 302 | 252 | 140 | 155 | 350 | 590 | 290 | 245 | 295 | 35 | 21 | 85 | 40 | 12X5 |110| 60 | 18X7 | 115 9.2 -~ 8
175 545 | 325 | 262 | 150 | 175 | 394 | 640 | 320 | 267 | 323 | 40 | 21 | 85 | 45 | 12ax5.5 |110| 65 | 18x7 | 140 | 105 175 481262262 |175|600|260(310|430|250(350| 40 | 21 |265(230|300| 5 | M12 | 83 | 38 10X 41.3|110| 65 | 18X 7 | 165
200 587 | 350 | 305 | 175 | 200 | 440 | 710 | 370 | 290 | 360 | 40 | 24 | 95 | 50 | 14x5.5 | 125| 70 | 20x7.5 | 200 | 13 200 | 11 543]285/305]200]677]290]360/480]290|390]| 40 | 24 |300[250|350] 6 | M16|114] 42 | 12x45.3 |125] 70 [20x 7.5] 236
- - 11
250 705 | 420 360/ 200 | 250 | 510 | 860 | 440 | 350 | 440 | 45 | 28 | 110| 60 | 18x7 |155| 90 | 25x9 | 340 | 23 250 —= 615|330 (360|250 824|350|460|560|380|480| 45 | 28 |300(250|350| 6 | M16 |[114| 42 [12X 45.3|155| 90 | 25X 9 | 396
A
AB
Q
3 O
WPD A=z , WPD Oz 3
Q|

Ty
E@i
E2
B
9
o5 |
P

= D
- iz £ o
T t N o © 0)
8 L 9 ]r[]—lr 4x7
il Q3 &
45, = 3 ¢
o y T llee e 0
igmERT = WiEmERR:
A B C D C
A B CT A O] AN E] ~m F i A A WA | BA @
=T S (e F EooalEsoal
N
L
PNIPN BA
A N A A A PN i i # th
K Lk = INCED EE ES yo | AT | EE Bl E = F AAR EE B
B A AB | BB | CC H HL M N E F G z il - A AB | BB | BC | CC M N E E1l E2 G z
ES Ipx | on tafBle|Lelz| o] ul] txv [Ls| s | wxy [ ke KW | b LA | LB |LC|LE|LZ | Q@ | U | TXV |LS| S | WXY | Kg
40 0.12 135| 75 | 74 | 40 (138 | 40 | 90 |100| 70 | 80 | 13 | 10 |115| 95 |140| 4 M8 31 11 |4X12.8 | 28 | 14 5X 3 5 40 0.12 13576 | 74 | 45 | 40 | 94 |184| 70 | 74 | 86 | 10 | 10 |115]| 95 [140| 4 M8 31 11 [4X12.8 |28 | 14 5X3 5
50 0.18 151| 83 | 97 | 50 (176 | 50 (120 |140| 95 |110| 15 | 12 |115| 95 |140| 4 M8 31 11 [4X12.8 |40 | 17 5X 3 8 50 0.18 15183 | 97 | 50 | 50 |[116]220)| 90 | 93 |102| 15 | 12 |115]| 95 |140| 4 M8 31 11 |4X12.8 | 40 | 17 5X3 7
60 0.37 167| 91 |112| 60 [204| 60 [130|150|105|120| 20 | 12 (130 (110|160 | 4 M8 33 14 |5X16.3 | 50 | 22 | 6X 3.5 11 60 0.37 167 | 91 [112]| 55 | 60 |126|260)100]105]120] 20 12 [130]110[160| 4 M8 33 14 [5X 16.3 | 50 | 22 | 6X3.5 11
0.37 200|109 130110 (160 M8 40 | 14 |5X16.3 0.37 200|109 130(110|160 M8 40 | 14 | 5X 16.3
70 131| 65 | 70 [156 (295|120 (120 |135| 20 | 15 4 60 | 28 8X 4 17
70 075 202 1111 131| 70 |236| 70 |{150(190 (115|150 | 20 | 15 elEEGIEGG 4 o aa 06 165206 60 | 28 8X 4 17 0 75 202 [111 1651130 1200 W10 | 42 | 19 6x21. 8
0.7 X .
80 0.75 1/10 |225|125|142| 80 [268| 80 [170(220(135[180| 20 | 15 |165|130|200|4.5| M10 48 19 1 6x21.8 65 | 32 10X 5 22 80 5 1/10 |225|125(142| 70 | 80 |175(320 /140|130 |[150| 20 15 {165 (130|200 |4.5| M10 48 |19 |6x21.8 65 32 10X 5 22
1.5 | 1/15 52 | 24 [8X27.3 1.5 | 1/15 52 | 24 |8X27.3
100 1.5 1/20 |280|148 169|100 /336|100 /190|270 |155|220| 25 | 15 |165|130|200|4.5 | M10 | 52 | 24 | 8X27.3 |75 |38 10X 5 38 100 1.5 1,20 |280 148|169 | 90 |100|224 375|190 |155|180| 25 | 15 |165 /130|200 |4.5 | M10 | 52 | 24 |8X27.3 | 75 | 38 10X 5 38
120 2'32 :;gg 333(181]190(120|430(120|230(320(180(260| 30 | 18 |215|180|250| 5 M12 | 63 | 28 [ 8X 31.3 | 85 | 45 (14X 4.5| 64 120 2‘32 1;;3 333|181|190|100|120|266|450(220|185|215| 30 | 18 [215(180|250| 5 M12 | 63 | 28 | 8X 31.3 | 85 | 45 (14X 4.5| 54
B 1/40 3 1/40
135 n 1/50 |375(202 (210|135 |480|135|250 350|200 |290| 30 | 18 |215|180 250 | 5 M12 | 63 | 28 | 8X 31.3 | 95 | 55 16X 6 85 135 4 1,50 [375(202|210|110|135|306|495|260|210/235| 30 | 18 |215|180 (250 | 5 M12 | 63 | 28 | 8X 31.3 | 95 | 55 16 X 6 80
155 5.5 1760 4481247 (252|155|531|135(275|390|220|320| 35 | 21 {265(230(300| 5 M12 | 83 | 38 |10X 41.3|110]| 60 18X 7 118 155 5.5 1/60 448 1247|252|{140|155|350({590(290|245|295| 35 | 21 |265|230|300| 5 M12 | 83 | 38 |[10X 41.3|110]| 60 18X 7 122
. 5.5
175 3 : 481|262 (262 (175|600 160|310 (430|250 |350| 40 | 21 |265|230|300| 5 M12 | 83 | 38 |10X 41.3|110| 65 18X 7 165 175 7.5 481|262 (262 (150|175 |394 (640|320 (267 |323 | 40 | 21 |265|230(300| 5 M12 | 83 | 38 (10X 41.3|110| 65 18X 7 165
200 11 543|285|305|200|666|175|360|480(290|390| 40 | 24 |300|250|350| 6 M16 (114 | 42 (12X 45.3|125| 70 |20X 7.5| 236 200 11 543|285(305|175|200(440|710(370|290|360| 40 | 24 |300|250|350| 6 M16 (114 | 42 |12X 45.3|125| 70 |20X 7.5| 236
250 :; 615|330 (360|250 |800|200|460|560|380|480| 45 | 28 (300 (250 (350 | 6 M16 [114| 42 |12X 45.3[155| 90 25X 9 396 250 1; 615|330 (360 (200|250 |510 (860|440 350|440 | 45 | 28 |300|250(350| 6 M16 [114| 42 (12X 45.3|155| 90 25X 9 396

BiE: 0769-88387287 13712580294 {£ & . 22477253 JEZRIFHIEN VEARIHIENL EiE: 0769-88387287 13712580294 {EEH . 22477253



WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

B £
A
WP W=z b8 5 WPW Xz WPW Oz ] e 1.2
BC AC :Q\ | = |, vyxv 2
+ — g o e s
Ly M o Yxv|2 157  s— | w—
I il I ° = - ! S
M - L 0 T = 7 o
A% fe==r=
i© O|L & e O
WxY Cl HLHS | o L ' ‘
7| Fu % = o U o © ©
| s, J
= e & 3 -
BT n In © 9 iR % ﬁdﬁ
A " B " H;) D © +8 0L A B 11)\0 A B " C D E " F M
i) —Zx A A
T | sy ! # # D # # A m WA
v W ”
A A A ~ EE CF e AL A Ee AT WA |
=
Nk 7 % g e | diE Uk tH 77 % B8
1= | s = |k A | AB | BB | BC|CC| M | N| E|El|E2]| @ z
BIES |@ELL| A | AB| B | BB | AC | BD | F | BE| CC | HL | H ZXL Ws | u <V | s | s WXy Ke
HS | U | TXV | LS | S | WxY | Kg
40 149 | 89 | 79 | 45 | 40 | 95 | 187 | 70 | 72 | 97 | 12 10 25 | 12 | 4x2.5| 28 | 14 | 5x3 | 5
40 149 | 89 | 124 | 79 | 95 | 61 | 78 | 42 | 40 | 35 | 125 | M6X12 | 25 | 12 | 4x2.5| 28 | 14 | 5x3 | 4
50 175|107 | 97 | 50 | 50 | 111 | 226 | 90 | 90 | 110 | 14 12 30 | 12 | 4x2.5| 40 | 17 | 5x3 | 8
50 175|107 | 150 | 97 | 111 | 68 | 85 | 50 | 50 | 35 | 150 | M6X 18 | 30 | 12 | 4x2.5| 40 | 17 | 5x3 |6.5 % ros 1221121 55 T oo 127 257 106 [1os [1zs | 1 > w0 15 T sxs 150 22 Taxas s
X X 3.
60 198 | 122 | 168 | 112 | 127 | 76 | 105 | 55 | 60 | 42 | 177 | M8X20 | 40 | 15 | 5x3 | 50 | 22 | 6X3.5 | 9 10
70 mg 231 | 140 | 194 | 131 | 152 | 86 | 125 | 65 | 70 | 55 | 215 | M10X25| 40 | 18 | 6X3.5| 60 | 28 | 8x4 | 13 0 1/15 231|140 | 131 | 65 | 70 | 152 ] 305 | 120 | 120 | 135 | 20 15 40 | 18 | 6X3.5] 60 | 28 | 8X4 |15.5
80 | {,po | 261|160 | 214 | 142|169 | 102 | 140 | 70 | 80 | 65 | 250 |M12X28 | 50 | 22 | 6X3.5| 65 | 32 | 10X5 | 21 80 | y/po | 261|160 | 142 70 | 80 | 174 | 350 | 140 | 140 | 180 | 20 15 50 | 22 | 6x3.5) 65 | 32 | 10X5 | 24
100 | 1/25 | 322 | 190 | 254 | 169 | 216 | 117 | 180 | 90 | 100 | 80 | 310 |Mi2x 30| 50 | 25 | 8x4 | 75 | 38 | 10X5 | 34 100 | 1/25 | 322 | 190 | 169 | 90 | 100 | 224 | 410 | 190 | 165 | 215 | 22 15 50 | 25 | 8x4 | 75 | 38 | 10X5 | 38
120 | 1/30 | 381 | 220 | 282 | 190 | 256 | 124 | 220 | 100 | 120 | 95 | 370 | M14X32 | 65 | 30 | 8X4 | 85 | 45 | 14X4.5| 51 120 :;ig 381229 | 190 | 100 | 120 | 264 | 494 220 | 195 255| 25 | 18 | 65 | 30 | 8x4 | 85 | 45 | 14X4.5| 56
135 };;8 433 | 260 | 317 | 210 | 296 | 147 | 260 | 110 | 135 | 105 | 425 | M16X35 | 75 | 35 | 10X5 | 95 | 55 | 16X6 | 78 N o B e A 18 75 | 35 | 10X5 | 95 | 55 | 16X6 | 84
155 | 1,60 | 504 | 302 | 382 | 252 | 345 | 185 | 280 | 120 | 155 | 103 | 461 |M16X 35| 85 | 40 | 12X5 | 110 | 60 | 18X7 | 102 155 | 1/60 | 504 | 302 | 252 | 140 | 155 | 345 | 605 | 290 | 250 | 305 | 35 21 85 | 40 | 12X5 | 110 60 | 18X7 | 129
175 545 | 325 | 402 | 262 | 374 | 192 | 320 | 140 | 175 | 123 | 521 | M16X35 | 85 | 45 |14X5.5| 110 | 65 | 18X7 | 142 175 545 | 325 | 262 | 150 | 175 | 374 | 675 | 320 | 273 | 348 | 40 21 85 | 45 |14X5.5| 110 | 65 | 18X7 | 157
200 587 | 350 | 467 | 305 | 412 | 230 | 360 | 150 | 200 | 130 | 575 | M20X 36 | 95 | 50 |14x5.5| 125 | 70 | 20X 7.5 | 202 200 587 | 350 | 305 | 175 | 200 | 424 | 749 | 370 | 305 | 390 | 40 24 95 | 50 |14X5.5| 125 | 70 | 20X 7.5 | 224
250 705 | 420 | 552 | 360 | 500 | 285 | 420 | 190 | 250 | 150 | 700 | M20X 42 | 110 | 60 | 18X7 | 155 | 90 | 25X 9 | 340 250 705 | 420 | 552 | 200 | 250 | 510 | 920 | 440 | 375 | 475 | 45 28 | 110| 60 | 18Xx7 | 155 | 90 | 25x9 | 374
AB AB
WPW Az WPWS= WPW Tz WPWVz A
—BB ‘ -
T — —— (T M Y13
‘ ‘ B ] == [FEa™
F T—= 7
L 0 N
| ¥ 3
7 F WxY 0l D
o | o=
Sis =
g m R Al 4x7 igE KT
A B C D T T H“, i = - KA B D LL
# M N
. Nk 71 % E= ) Ik i J1%H =
AIS | iEEL | A |AB| B [BB|AC|BC|CC|HL|LL| H | M |N|E|F|G]|Z = AES | JFiELL | AB | BB | CC | LL | M N E | E1 | E2 G Z L !
HS | U | TXV | LS| S | WXY | Ke HS | U | TV | LS| S | WXY |Kg
40 149| 89 [124| 79 | 95 | 61 | 40 | 45 | 60 |135/100|130| 80 |110| 10 | 10 | 25 | 12 | 4x 2.5 | 28 | 14| 5x3 | 4.5 40 87 | 79 | 40 | 63 | 90 | 187 | 70 | 72 | 97 12 10 25 | 12 | 4x2.5| 28 | 14 | 5%x3 | 5
50 175[107|150| 97 [111| 68 | 50 | 50 | 80 |165|120|140| 95 |110| 15 | 12 | 30 | 12 | 4x2.5 | 40| 17| 5x3 | 7.5 50 107 | 97 | 50 | 70 | 120 | 226 | 95 | 90 | 110 14 12 30 | 12 |4x2.5| 40 | 17 | 5%x3 | 8
60 198|122[168|112[127| 76 | 60 | 60 | 93 |195/130|150|105|120| 18 | 12 | 40 | 15 | 5X3 | 50 | 22 | 6X 3.5 |11.5 60 122 | 112 | 60 | 80 | 130 | 257 | 105 | 102 | 129 15 12 40 | 15 | 5x3 | 50 | 22 | 6x3.5 | 11
70 1/10 |231(140|194|131|152| 86 | 70 | 73 | 108|233 |150|190|115|150| 18 | 15 | 40 | 18 | 6X3.5 | 60 | 28 | 8x4 |15.5 70 mg 140 | 131 | 70 | 95 | 150 | 305 | 115 | 120 | 155 20 15 40 | 18 | 6X3.5| 60 | 28 | 8x4 |[15.5
80 1;;2 261(160|214|142|169|102| 80 | 83 |123|268|170|220|135|180| 18 | 15| 50 | 22 | 6X 3.5 | 65 | 32 | 10x5 | 24 80 | 4/po | 160|142 | 80 | 105 | 170 | 350 | 135 | 140 | 180 20 15 50 | 22 | 6X3.5| 65 | 32 | 10X5 | 24
100 | 1,25 |322|190|254|169|216|117|100|100|150|330|190|270|155|220| 20 | 15| 50 | 25| 8x4 | 75|38 | 10x5 | 39 100 | 1,25 | 190 | 169 | 100 | 135 | 190 | 410 | 155 | 165 | 215 22 15 50 | 25 | 8x4 | 75 | 38 | 10x5 | 38
120 1;30 381229282190 256|124 [120|120|180|395|230|320|180|260| 25 | 18 | 65 | 30 | 8x4 | 85| 45 |14X4.5| 57 120 | 1/30 | 229 | 190 | 120 | 160 | 230 | 494 | 180 | 195 | 255 25 18 65 | 30 | 8x4 | 85 | 45 | 14x4.5| 56
1/40 1/40
135 | |50 |433]260|317)210|296|147| 135|135 215|455 250|350  200|290| 30 | 18 | 75 | 35 | 10X5 | 95 | 55 | 16X 6 | 85 135 1;50 260 | 210 | 135 | 185 | 250 | 559 | 200 | 230 | 285 30 18 75 | 35 | 10X5 | 95 | 55 | 16X6 | 84
155 | 1/60 |504|302|382|252|345|185|155|135|235|493|280|380(220|320| 32 | 21 | 85 | 40 | 12x5 [110| 60 | 18X 7 | 110 155 | 1,60 | 302 | 252 | 155 | 220 | 275 | 605 | 220 | 250 | 305 35 21 85 | 40 | 12x5 | 110 | 60 | 18X7 |129
175 545|325|402|262|374|192(175|160| 260|558 |310|410| 250|350 37 | 21 | 85 | 45 |14X5.5/110| 65 | 18X 7 | 152 175 325 | 262 | 175 | 240 | 310 | 675 | 250 | 273 | 348 40 21 85 | 45 |14X5.5/ 110 | 65 | 18X7 | 157
200 587|350|467|305|412|230(200|175|290| 620|355 445|290/ 390| 45 | 24 | 95 | 50 | 14X 5.5|125| 70 | 20X 7.5/ 216 200 350 | 305 | 200 | 280 | 360 | 749 | 290 | 305 | 390 40 24 95 | 50 |14X5.5| 125 | 70 | 20X 7.5 | 224
250 705|420 552| 360|500 | 285 | 250 | 200|350 | 750 | 460|560 | 380 480 50 | 28 |110| 60 | 18X 7 |155| 90 | 25x 9 | 350 250 420 | 552 | 250 | 315 | 460 | 920 | 380 | 375 | 475 45 28 | 110 | 60 | 18X7 | 155 | 90 | 25X9 |374
HiE: 0769-88387287 13712580294 5B 22477253 EZNIHIENL SEANBIEY, Bi%: 0769-88387287 13712580294 {6 E . 22477253




WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

HMIEEERT:

A B

€| H:‘,i

N A
BN | R B E = AAF A% 2
)= A | AB|BB|AC|BC|AD|BD|CC|HL| H | zxL
S E 44 LA|LB|LC|LE|LZ | Q@ | U TXV LS| s WX Y Kg
40 |0.12 135| 75 | 79 | 95 | 61 | 78 | 42 | 40 | 35 |125| M6X 12 |115| 95 |140| 4 | M8 | 31 | 11 |4x12.8 | 28 | 14| 5x3 | 4
50 | 0.18 151| 83 | 97 |111] 68 | 85 | 50 | 50 | 35 | 150| M6X 18 |115] 95 |140| 4 | M8 | 31 | 11 | 4x12.8| 40 | 17| 5x3 | 7
60 | 0.37 167| 91 |112]127] 76 |105| 55 | 60 | 42 | 177| M8X 20 | 130|110|160| 4 | M8 | 33 | 14 | 5x 16.3 | 50 | 22 | 6x 3.5 | 10
7 |5 2001109 151 155| g6 | 125| 65 | 70 | 55 |215| M10x 25120 110 160] | M8 | 40 | 14 | 5X16.8 | g0l 55 | gyy4 |14.5
0.75 202]111 165/ 130] 200 M10 | 42 | 19 [ 6x21.8
80 27151 1/10 | 205 125|142|169|102|140| 70 | 80 | 65 |250|M12x 28| 165|130 |200|4.5| w10 oo 191 6X21.8 ool s | 1ox5 | 23
1.5 | 1/15 52 | 24 | 8% 27.3
100 | 1.5 | 1,20 |280]148]169] 216|117 180] 90 | 100] 80 |310|M12X 30| 165|130/ 200|4.5| M10| 52 | 24 | 8x27.3| 75 | 38| 10X 5 |36.5
120 2'32 :jgg 333|181 (190|256 124|220|100|120| 95 |370|M14X 32 |215|180|250| 5 | M12| 63 | 28 | 8X 31.3 | 85 | 45 | 14X 4.5| 54
3 | 1/40
185 (— — |50 | 375|202|210| 296/ 147 |260| 110| 135|105 425 M16X 35|215| 180|250 M12 | 63| 28 | 8x31.3| 95| 55| 16x6 | 83
155 | 5.5 | 1760 [448]247]|252]345|185]/280]120] 155[103|461|M16x35]265|230(300] 5 |M12| 83 | 38 [10x 41.3]110] 60 | 18X 7 | 110
175 gg 481|262 |262|374(192|320|140|175| 123|521 | M16X 35| 265|230 | 300 M12 | 83 | 38 [10x41.3/110| 65| 18X 7 | 156
200 | 11 543]285]305|412230[360]150]200/130]575|M20x 36| 300]250]350 M16 |114] 42 [12x 45.3]125] 70 |20x 7.5] 222
250 :; 615|330 |360|500|285|420|190|250| 150|700 |M42x 42|300| 250 | 350 M16 [114] 42 [12X 45.3|155| 90 | 25X 9 | 376
A
sy WPWDS= a8
WPWD A= il 2
9
8
HiEmERR:
A B CT A O] AM E] ~m F
| wty |wie oe | Tye
L
A N Al A N
LD . BHlE= ANHFFL H A% £
1] itt| A | AB | BB | AC|BC|CC|HL|LL|H N|E|F|la|z
== ME RE LA|LB|LC|LE|LZ| Q@ | U TXV |LS| s WXY Kg
40 |0.12 135/ 75 | 79 | 95 | 61 | 40 | 45 | 60 |135]100[130] 80 [110] 10| 10 |115] 95 [140| 4 |m8 |31 | 11 |4x12.8| 28 | 14| 5x3 5
50 |0.18 151] 83 | 97 [112] 68 | 50 | 50 | 80 [165]120]140] 95 [110] 15 | 12 [115] 95 [140] 4 [m8 [ 31 [ 11 [4x12.8[40[17] 5x3 8
60 | 0.37 167] 91 |112]127] 76 | 60 | 60 | 93 [195]130|150]105[120] 18 | 12 [130|110[160] 4 | M8 [33 [ 14 [5x16.3 |50 |22 | 6x3.5 | 12.5
w2 20011091451 155| g6 | 70 | 73 |108|233|150|190|115|150]| 18 | 15 {22110 160}, L M8 140 | 14 §X16.8 ] 00| 5 | gyxy | 17
0.75 202|111 165 130 [200 Mi0] 42 [19 [6x21.8
80 2751 1/10 |205]125(142|169|102| 80 | 83 |123|268|170|220( 135|180 18 | 15 | 165|130|200(4. 5 m10 [ 4819 16X21.8 f o) 5y | 4ox5 | 26
1.5 | 1/15 52 | 24 |8x27.3
100 | 1.5 | 1,20 [280[148]169]216]117 [100]100 150330190270 155 [220] 20 [ 15 [165 [130 [200 [4.5 [m10] 52 | 24 [8x27.3[ 75 [ 38 | 10x5 | 41.5
120 2‘32 xig 333[181(190|256|124|120|120|180|395|230|320|180(260| 25 | 18 [215|180(250| 5 |M12| 63 | 28 |8X31.3 | 85 | 45 | 14X 4.5 | 60
1/40
135 i 1/50 |375/202|210 (296|147 |135|135 |215|455 250350 200|290 | 30 | 18 |215 180 250 | 5 [M12|63 | 28 [8X31.3 |95 |55 | 16X6 | 90
155 | 5.5 | 1760 [448|247]252[345]185]155|135]235(493|280[380|220[320] 32 | 21 |265|230|300| 5 |mi12| 83 | 38 [10x41.3|110] 60 | 18x7 | 118
175 32 481/262|262(374 192 175|160 |260|558 [310 |410(250 350 | 37 | 21 |265 |230300| 5 |M12|83 |38 [10X41.3|110|65 | 18%7 | 167
200 | 11 543]285(305|412[230(200]175]290|620[355 [445/290[390| 45 | 24 [300[250|350| 6 |M16]114] 42 [12x45.3]125] 70 | 20% 7.5 | 237
250 1; 615 |330(360 [500 |285 |250 |200 (350 |750 460|560 [380(480 | 50 | 28 |300 |250 (350 | 6 |M16|114| 42 |12X45.3|155| 90 | 25X 9 | 395
. R e s
BiE: 0769-88387287 13712580294 {&E: 22477253 EZNIRIER

WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

1 1
WPWDXza WPWDO=
4 | o
Y 5= & ==
WxY A\ ey~ ol ©
BN~u] __ S N
4 B=hoT2re== = Par)
</
LS
!l a=n i @ LE
¢+ 16 &
it o
o
WMIEE R BB BB -
A B C D D E M
A A FION PN Etﬂ t % H % F $$G
ﬁ§ iﬁ $§ gﬁ A T | T BN RA
BN | R R B E = L H 5% £
)2 A |AB |BB |BC [CC | E |E1|E2| 6 | M | N |Z
== IES 4 LA|LB|LC|LE|LZ|Q | U TXV LS| s WX Y Kg
40 [0.12 13575 | 79 [ 454070 |72 |97 | 12|95 [187] 10 [115/ 95 [140| 4 | M8 |31 |11 ]4x12.8|28|14] 5x3 |54
50 [0.18 151]83 | 97 [ 50 [ 50 [ 90 | 90 |110]| 14 |111]226] 12 [115] 95 [140] 4 | M8 |31 |11 ]4x12.8|40|17| 5x3 |8.5
60 | 0.37 167] 91 [112]55 | 60 [100|102|129]| 15 [127]257] 12 [130]110]160| 4 |M8 |33 |14 |5x16.3 |50 |22 | 6x3.5 | 12
70 237 20011091 44 | 65 | 79 |120|120|155| 20 |152|305| 15 [o0{110/160} , | M8 | 40 | 14 |5X16.3 | ¢ | 55| gx4 17
0.75 202111 165]130(200 Mi0| 42 |19 |6Xx21.8
1/10
go 215 1/15 |225|125(142| 70 | 80 [140|140|180| 20 |174|350| 15 [165130(200(4.5|M10 48 119 16X 21.8 {os 35| 10x5 | 26
1.5 s 52 | 24 [8x27.3
100 | 1.5 | /0 1280[148]169|90 |100190|165|215] 22 |224]410| 15 [165]130|200|4. 5|M10| 52 | 24 |8x27.3 |75 |38 | 10X5 [40.5
120 2'32 1/30 333|181 |190(100(120|220|195|255| 25 |264|494| 18 [215(180(250| 5 |M12| 63 |28 | 8X 31.3 |85 |45 | 14X 4.5 | 59
1/40
135 3 | 1/50[375|202]210]110|135]260[230|285| 30 |304[559| 18 |215[180[250| 5 [M12]63 |28 [8%31.3]095|55| 16X6 | 89
155 | 5.5 | 1,60 [448|247]252]140/155/290]250|305| 35 [345|605| 21 [265[230]300| 5 [M12|83 | 38 |[10X 41.3][110] 60 | 18X7 | 138
175 3; 481262 (262|150 |175 (320|273 (348 | 40 |374(675| 21 |265|230(300| 5 [M12|83 |38 (10X 41.3(110|65 | 18X 7 |172
200 | 11 543285305 |175(200(370/305(390| 40 [424]749| 21|300(250[350| 6 [M16]114] 42 |[12X 45.3[125/70 |20x 7.5 | 246
250 :; 615|330 (360|200 (250 (440|375 |475| 45 |510(902 | 28 [300(250(350| 6 |M16|114|42 [12X 45.3|155(90 | 25X 9 | 410
B BB 4xLZ rAQ;._ACT_
2, LE
1 I T
WPWDTz WPWDVza L AEST I
e\ | =94 I:
e NRRLY | —
VL I} T o
xY\\\B=ZE8// eU | qK ﬂa‘-’
g B = L N 9
8, I\ I H v [}
Ls ‘
L < i u‘: ©
4xZ =
iy
A I
_ L—JE LL
WiEm R M
A B C D E A B C D
A e N e = | A A
Jolpea L | B Ol TERLJER || el Dl
T T SN IPNLE T i e EBNE
ety o 22 =
e §€i)\ BB | 0l gg|cc L M| N|E|ET|E2]| G AL = AR thi 1 % =
hE | b LA|LB|LC|LE|LZ| @ | U | TXV [LS|s | WXY | Ke
40 |0.12 75 |79 | 40 [ 63 | 90 [187]70 |72 |97 |12 | 10 [115]/95 (140 4 |M8 |31 |11|4X12.8 |28 |14| 5x3 |5.4
50 |0.18 83|97 | 50 | 70 [120/226| 95 | 90 [110[ 14| 12 |115/95 [140| 4 [M8 |31 |11 |4X12.8 |40 [17| 5x3 |8.5
60 | 0.37 91 [112] 60 | 80 [130|257[105|102][129] 15| 12 |130[110[160] 4 | M8 [33 |14 |5x16.3 |50 |22 | 6x3.5 | 12
70 237 10911311 54 | 95 |150(305|115|120|155[ 20 | 15 (2011011601, | M8 140 14 15X 16.8 ) 50,5 gx4 17
0.75 111[142 165/130[200 M10| 42 |19 | 6x21.8
1/10
go 219 1/15 |125]142| 80 |105|170|350|135(140(180| 20 | 15 |165/130(200|4.5|M10 48 119 16X21.8 15135 | fox5 | 26
1.5 00 52 | 24 | 8X27.3
100 | 1.5 | /5 1148]169[100/185]190[410]155]165]215] 22 [ 15 [165]130]200[4.5[M10]52 [ 24 [8x27.3 |75 [38 ] 10x5 [ 40
120 2'32 1/30 |181[190(120(160(230|494|180|195|255| 25 18 [215(180(250| 5 |M12|63 |28 | 8X31.3 |85 |45 14X 4.5 | 59
1/40
135 4 | 4/50 |202]210]135]185|250559(200(230285( 30 | 18 |215/180|250| 5 |M12|63 | 28 | 8X 31.3 |95 | 55| 16X6 | 89
155 | 5.5 | 1,60 |247|252]155]220|275/605]220|250(305| 35 | 21 |265/230/300| 5 [M12|83 | 38 [10Xx 41.3]110| 60 | 18X7 | 138
175 3: 262|262 (175(240(310(675(250 (273|348 40 | 21 |265/230(300| 5 [M12|83 |38 |[10X 41.3[110|65 | 18X 7 |172
200 | 11 285/305/200/280(360(749(290(305390/ 40 | 24 [300[250(350| 6 |M16|114]42 [12X45.3[125|70 | 20X 7.5 | 246
250 :; 330/360(250(315(460(920(380(375(475(45 | 28 |300|250|350| 6 |[M16|114| 42 |[12X 45.3|155| 90 | 25X 9 | 410
N .\ N
SEAIEN], miE. 0769-88387287 137125802947 {5E . 22477253




WP % %1 % £k i %2 IRk 128 4/ WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER WP CYCLOID REDUCER

B A
WPWKaz ° e WPWK Oz : .
= o :| YxVi ) Zh v 2
J'\ S
A . U e e e
q W b ] @ @ l:l HS E) L‘I“J C—J— 1
Y — 8 ] Bi U|© oO)\U
E= Y N LHS | g
S 0 é ; g i
== - " e e
IR HE il MR S 5 [1© }
. A 1 e [ [ 1+ A A amw, B | A, © 4x7
bU3 il 8-7ZxL & o
# BD AD J @L JJ@ t J J@L E
A BC AC X A N BC M
) N5 i F13h =2 Ik i F1%h £
S | FIEEE| A | AB B AC | BC | AD | BD | CC | HL | H ZXL = RS [JFELk| A | AB| B | BC | CC| M N E | E1 | E2 | G yA LY
HS | U TXV S WXY Kg HS | U TXV S WXY Kg
40 149 | 89 90 95 | 61 | 78 | 42 | 40 | 35 | 125 | M6X12 | 25 | 12 | 4X2.5 16 5X18.3 | 4 40 149 | 89 | 90 | 45 | 40 | 95 | 187 | 70 | 72 | 97 | 12 10 25 | 12 | 4X2.5 16 5%X18.3 | 5
50 175 | 107 110 111 68 | 85 | 50 | 50 | 35 | 150 | M6X18 | 30 | 12 | 4X2.5 20 6X22.8 | 6.5 50 175 | 107 | 110 | 50 | 50 | 111|226 | 90 | 90 | 110 | 14 12 30 | 12 | 4%X2.5 20 6x22.8 | 8
60 198 | 122 120 127 | 76 | 105 | 55 | 60 | 42 | 177 | M8X20 | 40 | 15 | 5X3 25 8X28.3 | 9 60 198 | 122 | 120 | 55 | 60 | 127 | 257 | 100 | 102 | 129 | 15 12 40 | 15 | 5X%3 25 8%x28.3 | 11
70 mg 231 | 140 132 152 | 86 | 125 | 65 | 70 | 55 | 215 | M10X25| 40 | 18 | 6X3.5 30 8X33.3 | 13 70 :;}g 231 | 140 [ 132 | 65 | 70 | 152 | 305 | 120 | 120 | 155 | 20 15 40 | 18 | 6X3.5 30 8X33.3 [15.5
80 1/20 | 261 160 150 169 | 102 | 140 | 70 | 80 | 65 | 250 | M12X28| 50 | 22 | 6X3.5 35 10Xx38.3 | 21 80 1/20 | 261|160 | 150 | 70 | 80 | 174 | 350 | 140 | 140 | 180 | 20 15 50 | 22 | 6X3.5 35 10X38.3 | 24
100 1/25 | 322 | 190 174 216 | 117 | 180 | 90 | 100 | 80 | 310 | M12X 30| 50 | 25 | 8X4 40 12X43.3 | 34 100 | 1725 | 322|190 | 174 | 90 | 100 | 224 | 410 | 190 | 165 | 215 | 22 15 50 | 25 | 8X4 40 12X43.3 | 38
120 | 1/30 | 381 | 229 180 258 | 124 | 220 | 100 | 120 | 95 | 370 | M14X 32| 65 | 30 | 8X4 45 14X 48.8 | 51 120 | 1/30 | 381 | 229 | 180 | 100 | 120 | 264 | 494 | 220 | 195 | 255 | 25 18 65 | 30 | 8x4 45 14X 48.8 | 56
135 }jgg 433 | 260 214 296 | 147 | 260 | 110 | 135 | 105 | 425 | M16X35| 75 | 35 | 10X5 60 18X 64.4| 78 135 ];gg 433 | 260 | 214 | 110 | 135 | 304 | 559 | 260 | 230 | 285 | 30 18 75 | 35 | 10X5 60 18X 64.4 | 84
155 1/60 | 504 | 302 256 345 | 185 | 280 | 120 | 155 | 103 | 461 | M16X 35| 85 | 40 | 12X5 70 20X74.9 | 102 155 | 1,60 | 504 | 302 | 256 | 140 | 155 | 345 | 605 | 290 | 250 | 305 | 35 21 85 | 40 | 12X5 70 20X 74.9 | 129
175 545 | 325 282 374 | 192 | 320 | 140 | 175 | 123 | 521 | M16X 35| 85 | 45 |14X5.5 80 20X 85.4 | 142 175 545 | 325 | 282 | 150 | 175 | 374 | 675 | 320 | 273 | 348 | 40 21 85 | 45 |14X5.5 80 20%85.4 | 157
200 587 | 350 324 412 | 230 | 360 | 150 | 200 | 130 | 575 | M20X36 | 95 | 50 |14X5.5 85 22X 90. 4 | 202 200 587 | 350 | 324 | 175 | 200 | 424 | 749 | 370 | 305 | 390 | 40 24 95 | 50 |14X5.5 85 22X 90.4 | 224
250 705 | 420 400 500 | 285 | 420 | 190 | 250 | 150 | 700 | M24X 42| 110 | 60 | 18X7 110 28X 116. 4| 340 250 705 | 420 | 400 | 200 | 250 | 510 | 920 | 440 | 375 | 475 | 45 28 110 | 60 | 18X7 110 28X 116. 4| 374
5 A
AB B
WPWKAz WPWKS=: BO AG WPWKTa WPWKVa 5
T ‘\ \‘ 1 \\‘ ‘\\ $ ¢
1 1\ \1 ] \\1 1\\ =
Pl vy 2 1) "
| === Ak E
IO r iR i h
p| HS [&]
| (Nbp i : e
| (&)
) fany i ;
s@;{; & ) )
TR S ' ‘ = ¥ PR T
B 2] N _1 ;@ @; 4x7 — B <7.IT:A . i
7L A % | B ° 1] [T . A 1 L 7 R B
R I I i n n R
J E
it G | E F J QDE J é%L& i LL
M N
A N
DAL Pk 1 L t 1%k E4-1
B |JoEEL| A | AB| B | AC| BC | CC|H. | LL| H | M | N E F| G YA = BE | BuELk| AB | B | CC | LL | M N E | E1 | E2 G z =
HS | U TXV S WXY | Ke HS | U TXV S \ WXY Kg
40 149 | 89 | 90 | 95 | 61 | 40 | 45 | 60 | 135|100 | 130| 80 | 110| 10 10 | 25| 12| 4X2.5 | 16 | 5X18.3 | 4.5 40 87 | 90 | 40 | 63 | 90 | 187 | 70 | 72 | 97 12 10 25 | 12 | 4X2.5 16 5X18.3 | 5
50 175|107 | 110|111 | 68 | 50 | 50 | 80 | 165|120 | 140| 95 | 110| 15 12 | 30| 12| 4X2.5 | 20| 6X22.8 | 7.5 50 107 | 110 | 50 | 70 | 120 | 226 | 95 | 90 | 110 14 12 30 | 12 | 4%X2.5 20 6X22.8 | 8
60 198 | 122 (120 [ 127 | 76 | 60 | 60 | 93 | 195|130 | 150 | 105 |120| 18 12 | 40 | 15 | 5%X3 | 25| 8%x28.3 |11.5 60 122 | 120 | 60 | 80 | 130 | 257 | 105 | 102 | 129 15 12 40 | 15 | 5X%3 25 8x28.3 | 11
70 mg 231140 | 132|152 | 86 | 70 | 73 | 108 | 233 | 150 [ 190 | 115 | 150 | 18 15 | 40 | 18 | 6X3.5 | 30 | 8%X33.3 |15.5 70 mg 140 | 132 | 70 | 95 | 150 | 305 | 115 | 120 | 155 20 15 40 | 18 | 6X3.5 30 8X33.3 [15.5
80 | {/po | 261160 | 150 | 169 | 102 | 80 | 83 | 123 | 268 | 170 | 220 | 135 | 180 | 18 15 50 | 22 | 6X3.5 | 35 [10X38.3 | 24 80 1/20 | 160 150 | 80 | 105 | 170 | 350 | 135 | 140 | 180 20 15 50 | 22 | 6X3.5 35 10X38.3 | 24
100 | 1/25 |322 | 190 | 174 | 216 | 117 | 100 | 100 | 150 | 330 | 190 | 270 | 155 | 220 | 20 15 50 | 25 8x4 40 | 12X43.3 | 39 100 1/25 | 190 | 174 | 100 | 135 | 190 | 410 | 155 | 165 | 215 22 15 50 | 25 | 8X4 40 12X43.3| 38
120 | 1/30 | 381 | 229 | 180 | 256 | 124 | 120 | 120 | 180 | 395 | 230 | 320| 180 | 260 | 25 18 | 65 | 30 | 8X4 | 45 | 14X48.8| 57 120 | 1730 | 229 | 180 | 120 | 160 | 230 | 494 | 180 | 195 | 255 25 18 65 | 30 | 8X4 45 14X48.8| 56
135 }75‘8 433 | 260 | 214 | 296 | 147 | 135 | 135 | 215 | 455 | 250 | 350 | 200 | 290 | 30 18 | 75 | 35 | 10X5 | 60 | 18X64.4 | 85 135 Kgg 260 | 214 | 135 | 185 | 250 | 559 | 200 | 230 | 285 30 18 75 | 35 | 10X5 60 18X 64.4 | 84
155 | 1,60 | 504 | 302 | 256 | 345 | 185 | 155 | 135 | 235 | 493 | 280 | 380 | 220 |320| 32 | 21 85 | 40 | 12X5 | 70 | 20X74.9 | 110 155 | 1,60 | 302 | 256 | 155 | 220 | 275 | 605 | 220 | 250 | 305 35 21 85 | 40 | 12X5 70 20X74.9 | 129
175 545 | 325 | 282 | 374 | 192 | 175 | 160 | 260 | 558 | 310 | 410 | 250 | 350 | 37 21 85 | 45 | 14X5.5 | 80 | 20X85.4 | 152 175 325 | 282 | 175 | 240 | 310 | 675 | 250 | 273 | 348 40 21 85 | 45 |14X5.5 80 20X 85.4 | 157
200 587 | 350 | 324 | 412 [ 230 | 200 | 175 | 290 | 620 | 355 | 445 | 290 [390| 45 | 24 | 95 | 50 | 14X5.5 | 85 | 22X90.4 | 216 200 350 | 324 | 200 | 280 | 360 | 749 | 290 | 305 | 390 40 24 95 | 50 [14X5.5 85 22X90.4 | 224
250 705 | 420 | 400 | 500 | 285 | 250 | 200 | 350 | 750 | 460 | 460 | 380 | 480 | 50 | 28 | 110 | 60 | 18X7 |110|28X116.4|350 250 420 | 400 | 250 | 315 | 460 | 920 | 380 | 375 | 475 45 28 110 | 60 | 18%X7 110 28X 116. 4| 374

Bi%: 0769-88387287 13712580294 {6E . 22477253 EZRIFIEN SEARRIEN, ®i%: 0769-88387287 13712580294 f{EE. 22477253



WP % %1 % £k i %2 IRk 128 4/ WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER WP CYCLOID REDUCER

A
' WPWDKOsz B
WPWDK=: it B o
4xLZ - _ﬁ_
T - \,V )’
~ \\ﬂ e o8
Py 1 [ | —]
\% ' O T —]
& &Q ) & 0 =R
\\ \é& L sU o U ®
~1=- o
N P =
T &
=|
1@ JLLE
HhigE R HiEm R 1T 4 S f !
A B A B C D 4x7
At AL AWt AW AWt AW N -
pye
i . e | | e | e B ;
A A A BON WA
= = %= Iy g
8BS ssn)\m W EEL| A | AB| B | AC | BC | AD | BD | CC | HL | H ZXL s 205 ek ES | BS AmE WiEE| A |AB| B |BC|CC| M | N | E |E1|E2]| G z il 2l bk ER
ES LA | LB | LC | LE | LZ Q u TXV S WXy Kg KW LA | LB | LC | LE | LZ Q u TXV S WXy Kg
40 | 0.12 13575 (90 | 95 | 61 |78 |42 |40 |35 125 M6X 12 [115| 95 [140] 4 | M8 |31 |11 ]4%x12.8 16 5% 18.3 4 40 | 0.12 135] 75|90 | 45 | 40 | 95 (18770 | 72 |97 | 12 | 10 [115]95 [140] 4 | M8 |31 |11 [4x12.8 16 5X18.3 |5.4
50 | 0.18 151| 83 [110/111] 68 | 85 | 50 | 50 | 35 [150] M6X 18 [115| 95 [140] 4 | M8 |31 |11 ]4X12.8 20 6X22.8 7 50 | 0.18 151] 83 [110] 50 | 50 [111[226] 90 | 90 [110| 14 | 12 [115]95 [140] 4 | M8 |31 |11 [4x12.8 20 6X22.8 [8.5
60 | 0.37 167| 91 [120/127] 76 [105| 55 | 60 | 42 [177| M8X 20 [130[110[160/ 4 | M8 | 33|14 |5X 16.3 25 8X28.3 | 10 60 | 0.37 167] 91 [120| 55 | 60 [127[257]100/102]129| 15 | 12 [130[110]160| 4 | M8 |33 |14 |5x16.3 25 8X28.3 | 12
0.37 200[109 130/110[160 M8 | 40 | 145X 16.3 0.37 200[109 130[110[160 M8 | 40 | 14 | 5X 16.3
7 132[152| 86 [125| 65 | 70 | 55 |215| M10 X 25 4 30 8X33.3 [14.5 7 132 70 (152 120[120]1 2 1 4 X 33. 17
° o 75 202[111 165/130[200 M10| 42 | 19 | 6X 21.8 ® 975 202[111] 2| 69| 70 |152|305]120/120/155) 20 ® [165/130]200 M10| 42 [ 19 | 6X21.8 30 8x33.3
g0 275 11/10 | 225|125/ 150| 169|102 140| 70 | 80| 65 |250| M12x 28 |165|130|200 4. 5|m10| 28] 191 6x21.8 35 10X 38.3 | 23 80 2751 1/10 |205|125|150| 70 | 80 |174|350|140|140|180| 20 | 15 |165|130|200|4. 5 w10 28 [ 19]16x21.8 35 10X 38.3 | 26
1.5 | 1/15 52| 24| 8x%X27.3 1.5 | 1/15 52 | 24 | 8X27.3
100 | 1.5 | 1/20 |280[148|174/216|117/180| 90 [100| 80 [310| M12X 30 |165|130[200/4.5/M10| 52 | 24 | 8 X 27.3 40 12X 43.3 [36.5 100 | 1.5 | 1/20 [280]148|174| 90 |100|224]410[190|165|215| 22 | 15 [165/130/200|4.5/M10| 52 | 24 | 8 X 27.3 40 12X 43.3 |40.5
120 2'32 };ig 333[181(180|256(124|220(100|120| 95 [370| M14X 32 |215(180(250| 5 |[M12| 63 | 28 | 8 X 31.3 45 14X 48.8 | 54 120 2'32 %gg 333(181(180(100(120(264|494(220|195|255| 25 | 18 [215|180(250| 5 |M12| 63 | 28 | 8X 31.3 45 14X 48.8 | 59
1/40 1/40
135 2 1/50 |375(202|214|296|147|260|110|135(105|425| M16X 35 (215|180|250| 5 |[M12| 63 | 28 | 8X 31.3 60 18X 64.4 | 83 135 i 1/50 |375/202|214(110|135|304|559|260(230(285| 30 | 18 |215|180|250| 5 |M12| 63 | 28 [ 8X 31.3 60 18X 64.4 | 89
155 | 5.5 | 17689 [448|247]256|345/185]280]120/155/103]461] M16x 35 |265|230]300| 5 |M12] 83 |38 [10x41.3] 70 20X 74.9 | 110 155 | 5.5 | 1789 [448]247]256]140]155]345/605]290/250|305| 35 | 21 |265]230[300] 5 |M12]83 |38 [10x41.3] 70 20X 74.9 | 138
175 3: 481(262(282(374|192(320|140(175|123|521| M16X 35 [265(230(300| 5 [M12| 83 | 38 [10X 41.3| 80 22X 85.4 | 156 175 ?: 481(262(282|150(175(374|675(320(273|348| 40 | 21 [265/230(300| 5 [M12| 83 |38 [10X 41.3| 80 22X 85.4 | 172
200 11 543(285(324(412/230[360]150/200|130|575| M20X 36 [300/250(350| 6 |M16|114| 42 12X 45.3| 85 22X90.4 | 222 200 11 543/285(324(175/200(424|749]370(305/390| 40 | 24 [300/250(350| 6 |M16|114| 42 [12X 45.3| 85 22X 90.4 | 246
250 :; 615(330/400(500(285(420(190|250(150|700| M24 X 42 |300(250|350| 6 |M16|114| 42 |[12X 45.3| 110 |28X 116.4| 376 250 :; 615(330/400(200(|250(510(920|440(375|475| 45 | 28 |300(250|350| 6 |M16|114| 42 [12X 45.3| 110 [28X 116.4| 410
A
AB
] | ] ]
WPWDKAz WPWDKS= g WPWDKTz2 WPWDKV= i .
o —— "
= ‘ \ L ‘ =]
T =H 19L | I:
[ eplii= =1 EEL =
oU —'® 3
ML e
% T N\ -
s \Y% JlLE ‘
E \ O ik
_ = ‘@ ©)
g E R | -
A B 7 Alg B s
A I I ol [T 8- A
) a 1 8-ZxL — n = £
il BC AC 1 ] M LL
n E ] i i
® " F : :
x W N amg | Al Awwm X A
2L = b o =
BS ﬁ'gm WiELL| A | AB| B | AC[BC|CC|HL|LL| H | M| N|E|F|G]|Z il AL il E3 Filg= WA | A AC| B |[CC|LL| M| N|E |El|E2|G z mHLE S ANE th 7 4 ER
LA|LB|LC|LE|LZ]| Q| U TXV s WXy Kg mE | Ik LA|LB|LC|LE|LZ| Q | U TXV S WX Y Kg
40 | 0.12 135| 75| 90 | 95 | 61 | 40 | 45 | 60 |135]/100|130| 80 |110| 10 | 10 [115]| 95 [140| 4 | M8 | 31 | 11 [4X12.8| 16| 5X18.3 | 5 40 | 0.12 75 190 | 40 | 63|90 [187] 70| 7297 12 10 115| 95 [140| 4 [ M8 |31 |11 |4x12.8 16 5X18.3 | 5.
50 0.18 151| 83 |110]111| 68 | 50 | 50 | 80 |165[120|140| 95 |110| 15 | 12 |115] 95 |140| 4 | M8 | 31 | 11 |4X12.8| 20 | 6X22.8 8 50 0.18 83 [110| 50 | 70 [120/226| 95 | 90 |110| 14 12 115/ 95 (140 4 | M8 |31 | 11| 4X12.8 20 6X22.8 | 8.5
60 0.37 167| 91 |120({127| 76 | 60 | 60 | 93 |195(130|150|105|120| 18 | 12 |130|110|160| 4 | M8 | 33 | 14 | 5X16.3 | 25| 8X28.3 |12.5 60 0.37 91 [120| 60 | 80 |130/257/105|/102[129| 15 12 130/110|/160| 4 M8 | 33| 14| 5%X16.3 25 8% 28.3 12
0.37 200|109 130/ 110|160 M8 | 40 | 14 | 5% 16.3
70 132(152| 86 | 70 | 73 | 108|233|150(190|115|150| 18 | 15 4 30| 8x33.3 | 17 0.37 109 130[110/160 M8 | 40 | 14 | 5X 16.3
0.75 202|111 1650130 200 W10l 42 | 19 | 6x21. 8 70 o 75 ﬁmz 70 | 95 |150(305|115[120(155| 20 15 6511301200 4 wiol a2 T19 T6x21 8 30 8X33.3 | 17
0.75 | 1/10 48 | 19 [ 6X21.8 1/10 %
80 5 | 115 225/125|150| 169|102 80 | 83 | 123|268 170|220 135 180| 18 | 15 | 165|130|200| 4.5 W10~ ="~ -1 35 | 10X38.3 | 26 80 01. 755 115 |125] 150| 80 | 105|170|350|135| 140|180 20 15 165(130l200l4. 5lM10 ‘515 ;z :Xg.g 35 10x38.3 | 26
. . X 217. X 43. . - -
100 ;: :;5(5) 280[148|174]216|117|100| 100|150|330|190|270| 155|220 20 | 15 | 165|130 200|4.5|M10| 52 | 24 | 8X27.3 | 40 | 12X 43.3 |41.5 AR :;5(5) el anzelealanal el cel2iE] 22 5 65l 6l amal . slriel o | 2 | & o o 20 B lm gl
120 : 333[181(180|256|124|120(120|180|395|230|320|180|260| 25 | 18 |215|180(250| 5 |M12| 63 | 28 | 8X31.3 | 45 | 14X 48.8 | 60
3 | 1/30 120 2'32 1/30 [181[180(120|160(230|494|180(195|255| 25 18 215(180|250| 5 |M12| 63 | 28 | 8 X 31.3 45 14X 48.8 | 59
1/40
135 i 1/50 375|202|214|296|147(135|135|215|455|250(350|200(290| 30 | 18 [215|180(250| 5 |M12| 63 | 28 | 8X31.3 | 60 | 18X 64.4 | 90 135 4 :;gg 202|214|135/185|250|559|200(230(285| 30 18 215(180/250| 5 [M12| 63| 28 | 8X31.3 60 18X 64.4 | 89
155 | 5.5 | 1760 [448]247]256|345|185]155]135|235]493] 280 380]220[320] 32 | 21 [265]230|300] 5 |[m12| 83| 38 [10x41.3] 70 | 20x74.9 [ 118 155 | 5.5 | 1/60 [247]256/155/220/275]/605/220/250|305] 35 21 265/230/300] 5 |M12] 83 | 38 |10xX41.3] 70 20X 74.9 | 138
5.5
175 :: 481(262|282|374|192(175|160|260|558|310|410|250(350| 37 | 21 |265|230(|300| 5 [M12| 83 | 38 [10X 41.3| 80 | 22X 85.4 | 167 179 =55 262|2821175/2401310/675/250/273|348| 40 21 265/230(300| 5 |M12| 83 | 38 |10X41.3 80 22X85.4 | 172
200 11 543|285(324|412|230|200|175|290| 620|355 445/290|390| 45 | 24 |300|250(350| 6 |M16|114| 42 [12X 45.3| 85 | 22X 90. 4 | 237 200 | 11 285|324]200|280({360|749|290/305|390| 40 24 300/250/350| 6 |M16|114| 42 12X 45.3| 85 22X90.4 | 246
11
250 :; 615|330 400|500 285|250|200| 350|750 |460|560|380(480| 50 | 28 |300|250|350| 6 |[M16|114| 42 [12X 45.3/110|28X 116. 4| 395 250 s 330(400|250(315/460(920(380(375|475| 45 28 300(250(350( 6 |M16[114| 42 12X 45.3| 110 |28X116.4]| 410

HiZ. 0769-88387287 13712580294 {EE. 22477253 EZRIFIE SEASRHEEN], miE. 0769-88387287 13712580294 {EE. 22477253
1



WP 51| $% £X 4 % 8 18 41 WP 51| $% £X 4 % 5 18 41

WP CYCLOID REDUCER WP CYCLOID REDUCER

WPDZz I WPWE= —

T oLB BB BE AB
2
AR — \ = =L WG
& -0 — % k%rala
| } | Ls %: % f i Iq
WxY
%) ol | - Y = T ™ r
=9 3 N
| \wxy : LS , ‘
—
@R - BRI R =
IR . e T s $Mar'ﬁEAT T 1 b
L } ] el 8-7ZxL
!!= L F ] H;ﬁ%} EE [ 8o AD
U BC | c ]
> ¢
o | WA | OEE BlE= ABH ek 28 Nk & % E
BS | G| p M| LL|BB|CC ElE2 F G| N |M|Z Blelnlelmiolol v Ielsl oo o BIS | JEL| A | AA | AB | BB | BE | AC | BC | AD | BD | HH | HL | LL | H | ZXL
g HS | U | TXV | LS| S | WXY | Kg
50 | 0.18 88 | 77| 95|50 | 53 | 77 |100| 15 | 160|125 11 |115| 95 |140| 4 | M8 | 26 | 11 | 4x12.8| 40 | 17| 5x3 | 8
40-70 262|171( 126|131 89 | 152| 86 |125| 65 | 35 |200| 90 | 215 | M10X25 | 25 | 12 | 4X2.5 | 60 | 28 | 8x4 | 17
60 | 0.37 92 | 82 |110| 60 | 68 | 92 {100| 15 [190|130| 11 [130|110|160| 4 | M8 | 27 | 14 | 5X16.3| 50 | 22 | 6X3.5 | 12.5
50-80 297|197 144|142 107|169 | 102 | 140| 70 | 35 | 235 | 105|250 | M12X28 | 30 | 12 | 4x2.5 | 65 | 32 | 10X5 | 28
0.37 108 130|110/ 160 Mg | 32 | 14 |5x16.3
0 0 s 9511301 70/ 75 11151120} 20112301 155| 15 1= = o0 0 4 ol 22 | 19 lexar a| 0| 28| 874 | 16 60-100 | 1,500 | 363 | 231 (175|169 | 122|216 117|180 90 | 42 | 290|130 | 310 | M12X30 | 40 | 15 | 5x3 |75 | 38 | 10X5 | 43
0.75| 1/20 45|19 | 6x21.8 70-120 | 17300 | 408 | 256|193 | 190 | 140 | 256 | 124|220 100 | 55 | 345|155 | 370 | M14X32 | 40 | 18 | 6X3.5 | 85 | 45 | 14X5.5| 64
80 1,25 |125|100|140| 80 | 96 | 144|125| 20 |165|160| 15 | 165|130 200 4.5 M10 65|32 | 10x5 | 23 1/400
15 | 4/30 97124 8x27.3 80-135 | 1/500 | 471|298 | 226|210 | 160|296 | 147 | 260 | 110 | 65 | 400 | 185|425 | M16X35 | 50 | 22 | 6X3.5 | 95 | 55 | 16X6 | 99
1/600
100 | 1.5 :;;g 149|135/ 155|100| 100|150 | 155| 22 [310|195| 15 | 165|130|200|4.5/M10| 60 | 24 | 8x27.3 | 75 | 38 | 10x5 | 38 100-155 | |roon [ 555 | 354 | 269 252 | 190 | 345 | 185 | 280 120 | 80 |458 | 203 | 461 | W16%35 | 50 | 25 | 8x4 | 110| 60 | 18%7 | 136
2.2
120 1/60 | 176|160 185 120| 120|180 | 180| 28 |360|230| 18 |215|180|250| 5 |M12| 70 | 28 | 8x31.3 | 85 | 45 | 14X 4.5 | 60 120-175 | 17990 | 508 | 379 | 287 | 262 | 229 | 374 | 192|320 | 140| 95 | 518|223 | 521 | M16X35 | 65 | 30 | 8x4 |110| 65 | 18X7 | 193
3
s 135-200 662 | 425( 318|305 260|412 | 230 | 360 | 150 | 105 | 580 | 245 | 575 | M20X 36 | 75 | 35 | 10X5 |125| 70 | 20X 7.5 | 280
13 19611701 210)135/130| 200)200| 30 | 390)250) 18 | 215|180/ 250) 5 12| 70 ) 28 | 831.3| 95 ) 95| 16X6 | 80 155-250 795 | 510 | 380 | 360 | 302 | 500 | 285 | 420| 190 | 103 | 705 | 300 | 700 | M24X42 | 85 | 40 | 12X5 |155| 90 | 25X9 | 442
OLA A
WPDKZz = WPEAz ——
M@ i :iLfcﬁfff 1 — f - BB A —
. o ‘
M ‘ O
L == . | <
! =} A ) &
| 5 ‘S@ET =< - N o
i = Ls i ey
iR B R 5 oz :
!! A [ p—— WiERET ) ﬁ <JJ s 1 lyg
— F A B C D E 4x2 = U g
0 i S | A | wE s \ﬁ; 1 * 1]
5 = 7 = = L e | £
. = A A Al AT A | ATA M
o | A | R L% 2 ART e
WS | S| p |MB|LL|CC|EI|E2| F |G| N M Z
4 LB|LC|LA|LE|LZ| Q[ U | TXV | S| WXY Ke : L i 7% 3
BIS gLk | A |AA | AB | BB |BE |HL |[LL| H | M | N|E F G| z
50 | 0.18 88| 77|50 | 53 | 77 |100| 15 [160|125| 11 |115| 95 |140| 4 | M8 | 26 | 11 |4X12.8| 20 | 6X22.8 | 8 HS| U | TV | LS| S | WXY | Ke
SOTRessT 92 820 G0N REe RS 2 OO | S S O S Ol ST (S 0 0] IO 01|t (MR B2 70 TR R s 1165197 1257 NEH28 S NINT 29 40-70 262| 171|126 | 131| 89 | 110| 140|236 | 150 | 190| 115| 150 | 20 | 15| 25 | 12 | 4X2.5 | 60 | 28 | 8X4 | 20
70 L2300 P2 g5 | 70| 75 | 115]120] 20 | 230|155 15 o0 1101601, (M8 132 | T4 8X08.3] 0 axaza | 16 50-80 297|197 144| 142| 107| 130 | 160| 268 | 170 | 220 | 135| 180 | 20 | 15 | 30 | 12 | 4x2.5 | 65 | 32 | 10X5 | 27
0.75 | 4)y5 113 165|130 | 200 M10| 42 | 19 | 6x21.8
60-100 | 1,900 | 363|231|175| 169|122 160 | 200 | 336 | 190 270 (155| 220 | 25 | 15| 40 | 15| 5x3 |75 |38 | 10X5 | 44
0.75 | 1/20 45 | 19| 6x21.8 1/300
80 1/25 |125/100| 80 | 96 | 144|125| 20 [165|160| 15 | 165|130 |200| 4.5 M0 35| 10x38.3 | 23 70-120 | /7" 1408|256 | 193|190 | 140| 190 | 240 | 430 | 230 | 320 | 180| 260 | 30 | 18 | 40 | 18 | 6X3.5 | 85 | 45 | 14%5.5| 73
1.5 57 | 24 | 8X27.3
K 80-135 | 1/500 | 471|298 | 226 | 210 | 160 | 215 | 270 | 480 | 250 | 350 | 200| 290 | 30 | 18 | 50 | 22 | 6X3.5 | 95 | 65 | 16X6 | 101
100 | 1.5 | 1/40 |149[135/100|100| 150|155 22 {310[195| 15 | 165|130|200 4.5 M10| 60 | 24 | 8X27.3 | 40 | 12X43.3 | 38 1/600
g | 1/50 100-155 | 4 /g0q | 555|354 | 269 | 252 | 190 | 235 | 290 | 531|275 | 300|220 | 320 |35 | 21 | 50 | 25 | 8x4 |110| 60 | 18X7 | 144
3 135-200 662 | 425 | 318|305|260| 310 | 375|666 | 360 | 480 |290| 390 | 40 | 24 | 75 | 35 | 10X5 |125| 70 |20X7.5 | 293
135 196(170|135|130|200|200| 30 {390|250| 18 |215|180|250| 5 |M12| 70 | 28 | 8X31.3 | 60 | 18X64.4 | 80
4 155-250 795 | 510 | 380 | 360 | 302 | 355 | 450 | 800 | 460 | 560 | 380 | 480 | 45 | 28 | 85 | 40 | 12X5 |155| 90 | 25X9 | 462

102 BiE: 0769-88387287 13712580294 {&E. 22477253 E7NIRIEN] SEASIIEYL Bi%: 0769-88387287 13712580294 fEE. 22477253 103



WP % %1 % £k i %2 IRk 128 4/ g WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER et 2 WP CYCLOID REDUCER

g m R R HigmE R
A A B
H H
x| A NP
N W % BE R DNIR 3 BHEZ AR t 7 2
me || A lanlas e lee|mw|nlw n|eE 5 al = WS | | Ty | A|AB|BB|BE|AC|BC|AD|BD|HL|LL| H ZXL Tl ezl aTul 1w Tl sT mr | xe
HS U TXV LS S WXy Kg
40-70 | 0.12 287(126(131| 75 |152| 86 |125| 65 |200| 90 [215 M10x25 |115] 95 [140| 4 | M8 |31 | 11|4x12.8| 60| 28| 8x4 | 17
40-70 262|171|126|131| 89 | 35 | 105|238| 150|190 | 115| 150 | 20 | 15| 25 | 12 | 4X2.5 | 60 | 28 | 8X4 | 20 50-80 | 0.18 314|144|142| 83 |169]102|140| 70 |235(105|250| M12x28 |[115| 95 [140| 4 | M8 |31 |11 |4x12.8| 65| 32| 10x5 | 28
50-80 29711971 144 | 142| 107| 35 | 1201 2731 170 2201 135] 180 | 20 | 15 | 30 | 12 | 4%2.5 | 65 | 32 | 10x5 | 27 60-100 | 0. 37 387|175/ 169| 91 |216/117/180| 90 |290(130|310] M12x 30 |130/110|160| 4 | M8 | 33| 14| 5x16.3| 75| 38 | 10X5 | 44
70-120 237 11/20012% 193] 1901 %% 256 | 124| 220| 100| 345| 155(370| Wiaxaz |01 10[160] | M8 | 40| 14| 5XT6.3] o | ol 14ns 5| 66
60-100 1/200 363|231 |175|169|122| 42 | 150 | 334 | 190| 270 | 155 220 25| 15| 40 | 15 5X3 75 | 38 10X5 44 0.75 | 1/300| 445 11 1651130/ 200 wiol 22| 19| 6x21.8 .
70-120 1/300 408 | 256 | 193 | 190 | 140 | 55 | 180 423 | 230| 320| 180 260 30| 18| 40 | 18 | 6X3.5 | 85 | 45 | 14X5.5| 73 0.75 |1/400 48| 19| 6X21.8
1/400 80-135 1/500/499| 226 210| 125|296|147|260| 110|400| 185 425| M16x 35 |165|130/200|4.5/M10 95| 55| 16X6 | 101
80-135 | 1/500 | 471|298 | 226 | 210| 160| 65 | 215 482 250 | 350| 200| 290 | 30 | 18 | 50 | 22 | 6x3.5 | 95 | 55 | 16X6 | 101 1-5 14/600 52| 24| 8X27.3
1/600 100-155| 1.5 |1,700|570| 269| 252| 148| 345| 185| 280| 120| 458| 203 461| M16X 35 |165|130|200|4.5/M10| 52 | 24 | 8x27.3|110| 60| 18x7 | 139
100-155 1/800 555|354 | 269 | 252 | 190| 80 | 235| 541 | 275| 390| 220 320 35| 21| 50 | 25 8 X4 110| 60 18X7 144 2 9 [1/800
1/900 120-175 ——"-1,/900| 631|287/ 262| 181/ 374|192 320/ 140|518| 233/ 521| M16x 35 |215/180/250| 5 |M12| 63| 28| 8% 31.3|110| 65| 18x7 | 196
120-175 598|379 | 287 | 262| 229 | 95 | 260| 600 | 310|430 | 250 350 40 | 21 | 65 | 30 8 X4 110| 65 18 X7 | 201 3
3
135-200 662 | 425|318 | 305|260 | 105|290 | 677 | 360|480 |290| 390 | 40 | 24 | 75 | 35 | 10X5 |125| 70 | 20X 7.5 | 293 135-200— 680| 318/ 305|202 412/ 230 360 150/580| 245/575| M20X 36 |215/180/250 5 |M12| 63| 28| 8% 31.3|125| 70 | 20% 7.5 | 285
155-250 795|510 380 | 360 | 302| 103 | 350| 824 | 460 | 560 | 380 | 480 45| 28 | 85| 40 | 12X5 |155| 90 | 25X9 | 462 155-250| 5.5 815(380|360(247/500(285|420|190|705/300|700| M24Xx 42 |265|230|300| 5 [M12| 83|38 [10x41.3/155| 90| 25X 9 | 450
WPE Xz WPEO= WPED Az e b ——
Q
]
[ 2% z
%E_i Bl == T L
= o ‘
— )ﬁ/
45 1 R e | Y
)\E LD ¢ [~ A PNCEEN c D[x MERER: dxz 3 F
(e ) e | e |\ P | e ) e tp | | s | gy e e ‘
H PN s} H X H N pue — , ——
L L wed L9 e Lo JH e e AN Al AN A A
A8 8 8 EEINET: LA AN B B
BS | EELL| A | AA| AB| BB | BC|BE | HB| M N E | E1 E2 G z =3 ME |tk A | AB| BB BE|\HLILL) H HA| M )N )EF|G)2Z LA|LB|LC|LE|LZ| @ | U TXV | LS| s WXY Kg
HS \] TXV LS S WXy Kg
40-70 | 0.12 287/126|131| 75 |110|140|236| 70 |150|190|115|150| 20 | 15 [115| 95 [140| 4 M8 |31 |11 |4x12.8| 60 | 28 | 8x4 | 19
40-70 262171126 131| 65 | 89 | 50 | 156|295| 120|120 135 20| 15 | 25| 12 | 4X2.5 | 60 | 28 8 X4 19 50-80 | 0.18 314|144(142| 83 |130(160|268| 80 |170(220|135(180| 20 | 15 |115| 95 |{140| 4 | M8 |31 |11 |4X12.8 | 65 | 32 10X 5 27
50-80 297|197 | 144| 122| 70 | 107] 65 | 175|320 | 140 | 130] 150 | 20 | 15 | 30 | 12 | 4x2.5 | 65 | 32 | 10%x5 | 27 60-100 | 0. 37 387/175|169| 91 [160|200|336(100[190|270|155|220| 25 | 15 [130[110[160| 4 | M8 |33 | 14 | 5% 16.3 |75 | 38 | 10x5 | 45
70-120 227 11/2001*2%] 193] 1901°°%1 190| 240| 430|1 20| 230|320 180|260 30 | 18 Po0l 101160] , | M8 |40 |14 |5X16.3 | o) 0o | 14x5.5| 75
60-100 1/200 363|231 |175|169| 90 | 122| 75 | 224 375|190 | 155 180 26 | 15 | 40 | 15 5X3 75 | 38 10X5 44 0.75 |1 /300|445 11 16511301200 wiol 42 | 19 |6x 21 8 .
70-120 | /390 | 408 | 256|193 | 190 | 100|140 | 90 | 266|450 |220 | 185| 215 | 30| 18 | 40 | 18 | 6x3.5 | 85 | 45 | 14x5.5| 63 0. 75 |1/400 48 |19 |6x21.8
1/400 80-135 1/500/499 |226|210 125 |215|270|480 |135|250|350 |200|290| 30 | 18 |165|130|200|4. 5|M10 95 |55 | 16x6 |103
80-135 | 1/500 | 471 | 298 | 226 | 210| 110|160 | 105 | 306 | 495|260 |210| 235 | 30 | 18 | 50 | 22 | 6x3.5 | 95 | 55 | 16X6 | 96 -5 11/600 52 24 18%27.3
1/600 100-155| 1.5 |1,700|570|269|252|148|235|290|531|135(275|390|220(320| 35 | 21 [165|130|200|4. 5|M10| 52 | 24 | 8% 27.3 |110| 60 | 18X 7 | 147
100-155 1/800 555|354 |269|252| 140|190 |130| 350|590 | 290 | 245 295 35| 21 | 50 | 25 8 X4 110| 60 18 X7 149 2 o |1/800
1/900 120-175 1/900|631/287|262|181(280|335(600(160(310(430(250(350| 40 | 21 [215[180|250| 5 |M12|63 | 28 | 8 31.3 |110| 65 | 18X 7 |204
120-175 598|379 |287|262| 150|229 | 155|394 | 640 | 320 | 267 323 40 | 21 | 65 | 30 8Xx4 110| 65 18 X7 | 191 3
3
135-200 662 | 425|318 |305| 175 | 260 | 185 | 440|710 | 370|290| 360 | 40 | 24 | 75 | 35 | 10X5 |125| 70 | 20X 7.5 | 278 135-200 680|318|305(202(310(375|666(175(360(480(290(390| 40 | 24 [215(180|250| 5 [M12| 63 | 28 | 8 31.3 |125| 70 | 20X 7.5 | 298
155-250 795|510 380 | 360 | 200 | 302 | 203 | 510 | 860 | 440 | 350 | 440 45| 28 | 85| 40 | 12X5 |155| 90 | 25X9 | 442 155-250| 5.5 815/380|360|247|355|450|800|200|460(560(380(480| 45 | 28 {265(230|300| 5 |M12| 83 | 38 [10Xx 41.3|155| 90 | 25X 9 |470

104 Hi%. 0769-88387287 13712580294 {EE: 22477253 EZNIRIEMN SEASHIEN], miE. 0769-88387287 13712580294 {EE. 22477253 105



WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

I AA
WPEDS= - WPWEKz =
3 YT 1 [ = £l
| ,E[ s ol @ = g E=Ser— [H e R
s | ]
LE e <o/|p o (> i
- — w— FWXYSI | = 1 \ w@ T ™ r
= < I f 9
s | >
L Ba 5 fm , %
WIS EER I MIENET 1 O .
o & | wem O w A T " ° o
: )t | e | B {— t [8p ] AD *
= = M BC AG
g = i N g = B
NP A AN A A
N | R BAlE= AAA 714 EE L 4 7 4 ==
| = 2
BE Doz | | M| A8 BB BE|HLILLIHRA N N B R G2 LA|LB|LC|LE|LZ| Q| U| TxV |LS| S| wxy | ke BS | EiEEL| A | AA| AB| B | BE| AC | BC | AD | BD | HH | HL LL ZXL
40-70 | 0.12 287|126(131| 75 |215[105|238| 70 [150|190[115|150| 20 | 15 |115 95 |140 M8 | 31|11 |4x12.8|60| 28| 8x4 | 19 HS | U | TV S WXY | Ke
50-80 | 0.18 314|144|142| 83 |250|120|275| 80 |170|220/135|180| 20 | 15 [115| 95 | 140 M8 | 31|11 |4x12.8|65|32| 10x5 | 27 40-70 262|171|126|132| 89 | 152| 86 | 125| 65 | 35 | 200| 90 M10X25 | 25 | 12 | 4X2.5 30 8x33.3 | 17
60-100 | 0. 37 387|175|169| 91 |310|150|334(100|190|270| 155|220 25 | 15 |130|110|160 M8 | 33| 14| 5x16.3| 75| 38| 10X5 | 45 50-80 2907|1971 124 | 150 107 | 169 | 1021 120| 70 | 35 | 235| 105 | Mi2x28| 30 | 12 | 4x2.5 35 10x38.3 | 28
70-120 |27 11/200/%| 193] 190/ 2| 370| 180|423| 120| 230|320| 180| 260 30 | 18 | oo 10160 , | M8 | 40 14 5XT6.3] (ol 45| 14x5.5| 75
0.75 |1/300 445 11 165/ 130/ 200 wiol 42 19| 6% 21 8 . 60-100 | 1,200 | 363|231 175]|174|122|216 (117|180 | 90 | 42 | 290 130 M12X30 | 40 | 15 5X3 40 12X43.3 | 43
0.75 |1/400 48| 19| 6x21.8 - 1/300 X
80-135 1/500|499| 226|210 125| 430|215|482| 135|250/ 350| 200|290 30 | 18 |165|130|200|4. 5|M10 95| 55| 16X6 | 103 707120 1/400 408] 256] 193] 180| 140] 256| 124] 220| 100| 55 | 345| 155 | Mi4X32] 40| 18 | 6X3.5 ® 14%48.8 ) 64
-5 1/600 52| 24| 8X27.3 80-135 | 1/500 | 471| 298| 226 | 214| 160| 206 | 147|260 | 110| 65 | 400| 185 | M16X35| 50 | 22 | 6X3.5 | 60 | 18x64.4 | 99
100-155| 1.5 |1,/700|570|269| 252|148|490| 235|541| 135| 275|390| 220|320 35 | 21 [165|130|200|4. 5|M10| 52 | 24 | 8X 27.3 |110| 60 | 18X 7 | 147 1/600
2.9 |1/800 100-155 1/800 555|354 | 269|256 | 190 | 345| 185|280 | 120| 80 | 458 203 M16X35| 50 | 25 8X4 70 20X74.9 | 136
120-175 1/900| 631|287|262| 181|555 260| 600 160| 310|430/ 250| 350| 40 | 21 | 215|180|250| 5 |M12| 63 | 28| 8X 31.3|110| 65| 18X 7 | 204 17900
3 120-175 598 | 379|287 282|229|374|192| 320| 140| 95 | 518 223 M16X35| 65 | 30 8 X4 80 22X85.4 | 193
3
135-200— 680|318|305|202| 625|290/ 677|175/ 360| 480|290/ 390| 40 | 24 |215180(250| 5 |M12| 63 | 28 | 8X31.3 |125| 70 | 20X 7.5 | 298 135-200 662 | 425 | 318|324 | 260 | 412|230 | 360 | 150| 105 |580| 245 | M20X36| 75 | 35 | 10X5 85 22X90. 4 | 280
155-250| 5.5 815(380|360(247|755(350(824|200|460|560|380480| 45 | 28 | 265|230|300| 5 |M12| 83 | 38 |10 41.3|155| 90 | 25X 9 | 470 155-250 795|510 | 380| 400 | 302 | 500 | 285|420 | 103| 103|705 | 300 | M24X42| 85 | 40 | 12X5 110 128X 116.4| 442
A
WPEDXz WPEDO= - WPEKA= -
(5 i
IRk —
<z
(&)
\@\( !!y Y \ | i
> m@ o S
= Y f
B ? TASTA NS
o eu o ! : % e/
B ) 4x7 _ = ] |
WIERET: 3 2 WIEEET: 2 i ¢ 1 o
A A ~B| x C|[x A A_B o N D A E BB B i A B C z = © 3
e =R s e AR | AR e lijiee! HIAYE | wi=d | s H ‘Y{; i } i
WY U e i 3
# i # & # t = — — N
Lt Lbed RN e Lt Lt Lt R a1 A Al NTA
B | R BHE= AN tH 1% 2 L 7 % ==
2 A | AB|HB|BA|BB|BC|BE|CA| M| N|E|EI|E2|Z S =
s mE | b LA|LB|LC|LE|LZ| @ | U | TxVv [LS| S| WXY | Ke AE | @KLk | A |AA|[AB| B |BE|HL|LL| H | M| N|E F G| Z
HS | U TXV S WXY Kg
40-70 | 0.12 287|126| 50 | 40 [131] 65 | 75 |145[156|295(120|120|135| 15 [115| 95 |140 M8 | 31|11 |4x12.8|60|28| 8x4 | 19
50-80 | 0.18 314|144| 65 | 50 (142| 70 | 83 |{163|175(320(|140(130|150| 15 |115| 95 [140| 4 [M8 | 31 |11 |[4X12.8 |65 |32 | 10X5 27 40-70 262171126132 89 | 110| 140|236 | 150|190 | 115 150 20 | 15 | 25 | 12 | 4X2.5 30 8X33.3 20
60-100 | 0. 37 387/175| 75 | 60 |169| 90 | 91 |191]224(375(190|155|180| 15 [130[110[160| 4 | M8 |33 |14 | 5x16.3 | 75 | 38 | 10x5 | 45 50-80 2971197 144 150 107 | 130| 160| 268|170 220 135] 180 | 20 | 15| 30 | 12 | ax2.5 35 10x38.3 | 27
70-120 | 2 1/200ﬁ193 90 | 70 [190|100|110|230| 266|a50| 220 185|215 15 [ 1201101160}, | M8 |40 |14 [5XT6.8 | ool fo | 1455 | 65
075 :;igg 445 165/130/200 miol42 |19 l6x21 8 ; 60-100 | 1,900 | 363|231 |175|174|122| 160|200 | 336| 190| 270 | 155 220 25| 15| 40 | 15 5X3 40 12X43.3 | 44
0.75 |1/500 48 |19 | 6X21.8 70-120 1/300 408 | 256 | 193 | 180| 140| 190 | 240 | 430| 230 | 320 | 180 260 30| 18 | 40 | 18 | 6X3.5 45 14X48.8 | 73
80135 | =~ ) ggo| 499 226|105 80 /210110125 |260 306|495 260|210 235 18 |165|130|200|4. 5|MI0 | "=~~~ 95 | 55 | 166 | 98 1/400
- 1/700 - 80-135 | 1/500 | 471|298 | 226|214 |160| 215|270 | 480| 250 | 350 | 200 290 30 | 18 | 50 | 22 | 6X3.5 60 18X64.4 | 101
100-155| 1.5 |,’g00|570|269|130|100|252|140|148 303 |350 590|290 | 145|295 21 |165|130|200|4.5|M10| 52 | 24 | §x27.3 | 110| 60 | 18X7 | 152 1/600
2.2 11/900 100-155 1/800 555|354 | 269 | 256 | 190| 235|290 | 531 | 275| 390 220 320 35| 21| 50| 25 8X4 70 20X74.9 | 144
120-175 631|287|155|120|262|150|181|356 |394|640 (320 |267|323| 21 |215(180|250| 5 |[M12|63 | 28 [ 8% 31.3 [110| 65 | 18x7 |194 1/900
3 120-175 598 | 379|287 | 282| 229|280 | 335 | 600 | 310 | 430| 250 350 40 | 21 | 65 | 30 8X4 80 22X85.4 | 201
135-200 — 680|318 |185|135|305 |175(202|402|440(710(370|290|360| 24 |215]180|250| 5 |M12| 63 | 28 | 8x 31.3 |125| 70 | 20X 7.5 | 283 135-200 662 | 425 | 318|324 | 260 | 310| 375 | 666 | 360 | 480|290 390 | 40 | 24 | 75 | 35 | 10X5 85 22X90.4 | 293
155-250| 5.5 815/380|203|155|360|200|247(497|510|860|440|350|440| 28 |265|230(300| 5 |M12| 83 | 38 [10X 41.3|155| 90 | 25X 9 | 450 155-250 795|510 | 380 | 400 | 302| 355 | 450 | 800 | 460 | 560 | 380 | 480 45| 28 | 85| 40 | 12X5 110 [28X116. 4| 462
106 HiE: 0769-88387287 13712580294 f£E. 22477253 EZNIRIEM AR, ®iE. 0769-88387287 13712580294 f5E. 22477253 107




WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER

A
WPEKS=: WPWEDK= T B aa
- gm /K//’\\ N\,
§.--.?\ 86{ 1 E= == ! ‘Q“\ \\
?(j C__or__ \\\ Y g
o ] &:g L]— © 9) \k\(g‘/a)&/
I LE] ! K
J b L IR O
u r — |
o | {Cx & T
p— =|
[ NE; =gl =
_ 3 [/ L ©
B R R T s T AOE 2 R N
p—— 5 G : Y A B c T 8zxl
sy | s I i a 2l s AD
0 W| X BC L AC |
: == == E 5 E | et B
A A NT A Al A NEIPN
A% Eak £ ye | WA EE e 5 I BE|Ac | BC | AD | BD | HL|LL| H ZXL e NI ) LS |
FIES | @iELL| A |AA|AB| B |BE|HH|[LL| H M| N|E F G| Z B Ipx | LA|[LB|LC|LE|LZ|Q |U| TXV s WXy Keg
HS | U | TxV s WXY | Ke
40-70 0.12 287|126(132| 75 |152| 86 |125| 65 |200| 90 |215 M10X 25 115/ 95 (140 4 | M8 |31 |11 [4X12.8 30 8X33.3 17
40-70 262 171|126 132| 89 | 35 | 215|238 | 150|190 | 115| 150 | 20 | 15| 25 | 12 | 4x2.5 | 30 8%33.3 | 20 50-80 | 0.18 314|144]150| 83 |169]102|140| 70 [235]105/250] M12x28 |115] 95 |140| 4 |ms |31 |11 |4ax12.8| 35 |10x38.3]| 28
50-80 297|197 1241150 | 107 | 35 | 250|273 | 170 220 | 135| 180 | 20 | 15 | 30 | 12 | 4x2.5 | 35 | 10x38.3 | 27 60-100 | 0.37 387|175|174] 91 |216]117]180| 90 |290|130{310] M12x30 |130|110/160] 4 | M8 |33 | 14 |5x16.3| 40 | 12x43.3 | 44
70-120 | 227 11/200*2% 193] 19312 256 | 124|220 | 100|345 | 155|370| Miax3z 0|1 10|160 [ M8 40|14 |SXT6.3 o 1, sas 8| 66
60-100 | 1,900 | 363|231 175|174 |122| 42 |310(334 | 190 270|155 220 | 25| 15| 40 | 15 | 5x3 40 | 12x43.3 | 44 5 A I 165113012001 ¥ Tw1ol 22110 l6x21 8 -
70-120 | 17390 | 408|256 | 193 | 180 | 140 | 55 | 370|423 | 230 320|180| 260 |30 | 18 | 40 | 18 | 6x3.5 | 45 | 14x48.8 | 73 0.75 |1/400 48] 19| 6x21.8
1/400 80-135 1/500(499|226|214|125/296|147|260(110|400|185 425 M16 X 35 165(130(200(4. 5(M10 60 18X64.4 | 101
80-135 | 1/500 | 471|298 | 226|214 |160| 65 | 430|482 | 250|350 |200| 290 | 30 | 18 | 50 | 22 | 6X3.5 60 | 18X 64.4 | 101 -5 14600 52 | 24 | 8X27.3
1/600 100-155| 1.5 |1/700|570(269|256(148|345/185|280(120/458|203|461 M16 X 35 165/130/200(4.5|M10| 52 | 24 | 8 X 27.3 70 20X 74.9 | 139
100-155 | 4 ,g0q | 555 | 354|269 | 256 | 190 | 80 490 | 541|275 (390 220 320 |35 |21 |50 | 25 | 84 70 | 20X74.9 | 144 5 5 |1/800
17900 120-175 ——"11/900|631|287|282| 181|374| 192|320 |140|518|233|521| M16x35 |215/180(250| 5 |M12|63 | 28 |8x31.3| 80 | 20x85.4 | 196
120-175 598 | 379 | 287 | 282 | 229 | 95 | 555 | 600 | 310 430|250 350 | , | 21| 65|30 | 84 80 | 22x85.4 | 201 3
135-200 662 | 425 | 318|324 | 260 | 105 | 625 | 677 | 360 | 480 | 290| 390 | 40 | 24 | 75 | 35 | 10X5 85 | 22Xx90.4 | 293 135-200 680|318|324|202(412|230|360|150|580|245|575| M20x 36 |215180(250| 5 |M12| 63 | 28 | 8x31.3| 85 | 22x90.4 | 285
155-250 795|510 380 | 400 | 302 | 103 | 755 | 824 | 460|560 | 380 | 480 | 45 | 28 | 85 | 40 | 12X5 110 |128X116. 4| 462 155-250| 5.5 815|380/400|247|500|285|420|190|705|300|700| M24x 42 |265|230{300| 5 |M12|83 | 38 10X 41.3| 110 |28x116. 4| 450
H
BC AA
WPWEKO= HB ——8 WPEDKA=: 5
1 e
= o
2 <0 L
] O F 9
ﬁ I==NFYP
] & <
\ Y | \ i’ . °T~
—“\Q o | L ‘S‘g* == 2 .
|| = N |
I N
|l — g N |\ |
—] | LE]. =
iR B T —= q iR B ET = &
A B C ° s A \4xz
AN s (N 4x7 i 1 ]
| 7 E 7 = L e R —
x| % pis |G 5
A i 5§ N BALE ED 0 B
BIE |WiEtk| A |AA | AB | B |BC|BE|HB| M | N | E|EI| E2 |G|z BS ppm| g | M| AB| B BEIHL LLIH HAL M N B F 6 2 T Tz o Tul v s XY | Ke
HS | U | TxV s WXY | Ke
40-70 0.12 287|126|132| 75 [110{140(236| 70 [150[{190|115|/150| 20 | 15 |115]| 95 | 140 M8 | 31| 11]4X12.8 30 8X33.3 19
40-70 262 |171|126|132| 65 | 89 | 50 | 152|305|120| 120 155 20 | 15 | 25 | 12 | 4X2.5 30 8X33.3 |19.5 50-80 | 0.18 314|144(150| 83 |130|160/268| 80 [170(220(135|180| 20 | 15 |115| 95 | 140 M8 |31 |11|4X12.8 35 10X 38.3 | 27
50-80 2970197144 |150| 70 | 107| 65 | 174|350 | 140 | 140 180 20 15 | 30 12 4X2.5 35 10X 38.3 30.5 60-100 | 0. 37 387(175/174| 91 |160/200/336/100/190/270|155|220| 25| 15|{130{110{160| 4 | M8 | 33| 14| 5X 16.3 40 12X43.3| 45
70-120 |- 227 11/200 *2%/ 193 193] 12| 190| 240|430| 120| 230| 320| 180| 260| 30 | 18 | o0 110160, | M8 40| TALSXNE. 3] |y 4g s | 75
60-100 | 1,900 | 363|231|175|174| 90 |122| 76 |224|410|190|165| 215 |22 |15 |40 | 15| 5X3 40 | 12x43.3 | 47 o o 1651 1301200l * [w1ol 42| 19 621 8 :
70-120 | /300 | 408 | 256 | 193 | 180 | 100 | 140 | 90 | 264 | 494 |220 | 195| 255 |25 |18 |40 |18 | 6x3.5 | 45 | 14x48.8| 69 0.75 |1/400 48| 19] 6x21.8
1/400 80-135 1/500|499|226/214| 125|215/ 270/ 480| 135|250/ 350|200/ 290| 30 | 18 | 165/ 130|200/ 4. 5|M10 60 18X64.4 | 103
80-135 | 1/500 | 471|298 | 226|214 | 110 | 160 | 105|304 |559 |260 |230| 285 |30 |18 |50 | 22 | 6x3.5 | 60 | 18X64.4 | 105 -5 14 /600 52| 24] 8x27.3
1/600 100-155| 1.5 |1,700|570| 269 256| 148| 235| 290| 531| 135| 275/ 390| 220| 320| 35| 21| 165| 130|200(4. 5/M10| 52 | 24 | 8x27.3| 70 | 20%74.9 | 147
100-155 | { /g0 |555 | 354 |269 | 256 | 140 |190 | 130 | 345 | 605|290 |250 | 305 |35 | 21 | 50 |25 | 8X4 70 | 20%74.9 | 163 5 5 |1/800
17900 120-175 1/900| 631/ 287| 282| 181| 280| 335| 600/ 160| 310/ 430| 250| 350| 40 | 21 |215(180|250| 5 |M12| 63 | 28| 8x31.3| 80 | 20X 85.4 | 204
120-175 598 | 379 | 287 | 282 | 150 | 229 | 155 |374| 675|320 |273| 348 | 40 | 21 | 65 | 30 | 8x4 80 | 22x85.4 | 208 3
3
135-200 662 | 425 | 318|324 | 175| 260 | 185 | 424 | 749|370 |305| 390 | 40 | 24 | 75 | 35 | 10X5 85 | 22X90. 4 | 302 135-200 — 680|318| 324/ 202|310/ 375| 666|175/ 360| 480 290/ 390| 40 | 24 |215(180|250| 5 |M12| 63 | 28| 8x31.3| 85 | 22x90.4 | 298
155-250 795|510 | 380 | 400 | 200 | 302 | 203 | 510 | 920 | 440 | 375| 475 45 | 28 | 85 | 40 | 12X5 110 128X 116.4/ 476 155-250| 5.5 815|380|400|247|355|450|800|200|460|560|380480| 45 | 28 |265|230(300| 5 |M12| 83 | 38 [10x41.3| 110 [28X116.4| 470
108 BiE: 0769-88387287 13712580294 {&E: 22477253 EZNIRIER SEASREEN], miE. 0769-88387287 13712580294 {5 E. 22477253 109




WP % %1 % £k i %2 IRk 128 4/ ‘ WP % %1 % £k i %2 IRk 128 4/

WP CYCLOID REDUCER i WP CYCLOID REDUCER
B A
WPEDKS= o WP. WPK. WPW. WPWK (A, S. X. 0. T. V)
9 e
=R AN | 27
e sl = ’ (e)), BANNMMER L A%
—I \E\ |~ ﬂ/
LE [Tt N i H
Qi\? v il £y Eiiki
I e o ADHE (k) HAAE (N.m)
)] \ iitjj';} @ E b
g MR 3 4 CH v B 2 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60 | 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60
e il ;
I [ [ [Hi
ié%% i E £ 40 0.4 | 0.33]0.26|0.240.22]0.16|0.14]0.12 | 19 23 20 25 25 24 26 26
AL 50 0.65(0.52| 0.4 [ 0.37]0.34|0.27]0.24| 0.2 31 36 35 38 39 40 43 43
we | WA BE | e n el e v e F ez LA = AR i 714 B8 60 1 |0.82(0.65[059|054|045| 0.4 03| 5 | 58 | 56 | 68 | 62 | 71 | 75 | 70
mE| L LA|LB|LC|LE|LZ| Q | U | TxV S WX Y Ke
40-70 | 0.12 287|126(132| 75 |215/105|238| 70 |150|190{115[150| 20 | 15 |115| 95 [140| 4 | M8 | 31|11 |4x12.8| 30 8%33.3 | 19 70 1.6 | 1.35| 1.1 | 0.96 | 0.82 | 0.67 | 0.61 | 0.52 | 83 98 | 101 | 112 | 99 | 104 | 113 | 113
50-80 | 0.18 314/144|150| 83 |250|120|273| 80 [170|220|135|180| 20 | 15 |115| 95 |140| 4 | M8 | 31|11 |4Xx12.8| 35 |10x38.3 | 27
60-100 | 0.37 387/175]174] 91 |310]150|334] 100| 190] 270] 155] 220| 25| 15 [130|110[160| 4 [ M8 |33] 14 |5x16.3] 40 |12x43.3] 45 80 2.2 | 1.78 1 1.36 1 1.28 1 1.2 ) 0.9 | 0.8 | 0.75| 113 | 133 | 120 | 149 | 151 | 140 | 145 | 163
0.37 425 109 130|110/ 160 M8 | 40| 14| 5% 16.3
70-120 1/200——193(193——370|180(423|120/230|320(180|260| 30 | 18 4 45 14X48.8 | 75 100 3.6 3.1 2.6 | 2.35 | 2.1 1.68 1.3 1 193 237 258 284 277 291 257 229
0.75 |1,/300|445 111 165/130/200|  [M10| 42| 19| 6x21.8
0.75 |1/400 48| 19| 6%x21.8
80-135 1/5001499| 226| 214| 125| 430| 215|482 250| 250| 350| 200( 290 30 | 18 | 165| 130|200/ 4. 5|M10 60 | 18X 64.4 | 103 120 5.2 143 35 (32| 3 | 22| 1.9 1.5 262 | 336 | 361 | 404 |\ 413 | 392 | 399 | 355
1.5 |1 /600 52| 24| 8x27.3
100-155| 1.5 |1,/700|570|269|256|148|490| 235(541| 275/ 275|390| 220(320| 35 | 21 |165/130(200|4. 5|M10| 52 | 24 | 8x27.3| 70 | 20X 74.9 | 147 135 9.75| 7.85| 6 5.5 5 |3.69|289| 2.3 | 540 | 622 | 619 | 696 | 707 | 607 | 626 | 562
9 5 |1/800
120-175 = “|1/900| 631/ 287|262 181|555/ 260|600/ 310|310 430 250| 350| 40 | 21 |215|180|250| 5 |W12| 63 28| 8X31.3| 80 | 20X85.4 | 204 155 128 9.9 7 less!| 6 a4 361 3 709 | 785 | 722 | 842 | sas | 784 | 770 | 791
3
135-200— 680|318|324|202|625(290|677|360|360|480(290|390| 40 | 24 |215(180|250| 5 |M12| 63 | 28 | 8x31.3| 85 | 22x90.4 | 298 175 17.3113.6 | 10 | 9.13| 8.3 | 6.18 | 4.85 | 4.07 | 958 | 1091 | 1044 | 1221 | 1189 | 1133 | 1127 | 1078
155-250| 5.5 815/380(400|247|755|350|824|420|460|560|380(480| 45 | 28 |265|230(300| 5 |M12| 83 | 38 [10X41.3| 110 |28%116.4| 470 200 9261 18.2 | 13.86112.751 11. 67| 8.78 | 6.71 | 5.58 | 1280 | 1477 | 1482 | 1643 | 1782 | 1654 | 1516 | 1449
A
AA
WPVVED"(C);:FIJ 2.C  gpA_ HB AB |
== o
et A 1 AN
S| T .
l = @y ,é§= u WPD. WPDK. WPWD. WPWDK (A, S. X. 0. T. V)
il Ao R
Pany = 1 KV 773
| 9 el 1 RN NNE R 0 e
] Y : | |
— JIC_] = Y
EE 2 Y
) A B C h “} i Y i U . )\jliﬂilj]$ (kW) Hjj]mj]%E(N m)
Unes! | R r = Lt
7| 7l 7l = —__e& j%sz
Bl n |G E # 5 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60 | 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60
Leu | sl L 8 BGC i
0.12 6 8 9 13 14 15 19 20
WO\ | R BHEZ ANAFL H 28 40
BS | A|AB|BA| B |BC|BE|CA| M| N|E|EI|E2| 6|z
| Lk LA|LB|LC|LE|LZ| @ | U | TxvV s WXY | Ke 50 0.18 9 12 16 19 20 24 31 35
40-70 | 0.12 287|126 40 |132| 65 | 75 | 145|152|305|120|120|155| 20 | 15 |115| 95 [140| 4 | M8 |31 | 11|4x12.8| 60| 28| 8x4 | 20
50-80 | 0.18 314|144| 50 | 150| 70 | 83 |163|174|350|140|140(180| 20 | 15115/ 95 [140| 4 | M8 | 31| 11| 4X12.8| 65| 32| 10X5 31 60 0.37 19 26 34 42 42 58 67 73
60-100 | 0.37 387|175| 60 |174| 90| 91 [191|224/410|190| 165|215| 25 | 15|130|110{160| 4 | M8| 33| 14| 5Xx16.3| 75| 38| 10x5 | 48
0.37 425 130| 110|160 M8 | 40| 14| 5 16.3 70 e sl e o i & e e e i
70-120 1/200———1193| 70 | 180|100 111| 229| 264| 494| 220| 195| 255| 30| 18 4 85| 45| 14%5.5 | 71
0.75 |1/300[445 165/ 130{ 200 M10| 42| 19| 6X21.8 80 1.5 0.75 77 112 142 174 189 137 150 154
0.75 |1/400 48|19 6x21.8
80-135 1,500/ 499| 226| 80 | 214 110| 125| 260| 304| 559| 260/ 230| 285| 30 | 18 | 165| 130|200/ 4. 5|M10 95| 55| 16x6 | 107
-5 14600 52| 24| 8x27.3 100 1.5 80 | 115 | 149 | 181 | 198 | 260 | 307 | 344
100-155| 1.5 [1,/700|570| 269| 100| 256| 140| 148| 303| 345/ 605| 290| 250| 305| 35 | 21 | 165| 130|200/ 4. 5|/M10| 52 | 24 | 8 27.3 |110| 60 | 18X7 | 166
2 o |1/800 120 3 2.2 151 232 310 372 413 392 480 521
120-175 |~ 1/900| 631|287 120) 282| 150| 181356/ 374|675 320|273/ 348) 40 | 21 215/ 180|250 5 W12 63| 28| 8X31.3 110/ 65 | 18X7 | 211
3 135 4 3 219 321 413 509 565 542 649 690
135-200 680|318| 135| 324| 175|202/ 402| 424|749/ 370( 305|390/ 40 | 24 | 215|180|250| 5 |M12| 63 | 28 | 8% 31.3|125| 70 | 20X 7.5 | 307
. 155 5.5 270 | 411 | 525 | 709 | 760 | 904 | 1100 | 1260
155-250| 5.5 815|380 155|400 200|247|497|510|920|420|375|475| 45 | 28 |265|230(300| 5 [M12| 83 | 38 |10x 41.3|155| 90 | 25x9 | 484

110 BiE: 0769-88387287 13712580294 {4 E . 22477253 =7NIRIENL MEARIHIEYL mi%: 0769-88387287 13712580294 fEE. 22477253 111



WP 2 71| $% $X 4R %8 I 128 41

WP CYCLOID REDUCER

WPE. WPEK. WPWE. WPWEK
WPED. WPEDK. WPWEDK (A. S. X, 0. )

BANNWMNERL HHEE

ANFIEHINEE (KW) | 0.48 | 0.34 | 0.28 | 0.25 | 0.23 | 0.2 | 0.17 | 0.17 | 0.12 | 0.12 | 0.12 | 0.12 | 0.12 | 0.12

kgl
(N.m)

40-70
250 | 250 | 250 | 250 | 250 | 250 | 250 63 88 107 120 | 130 | 150 | 177

AFIEHTIEE (KW) | 0.95 | 0.67 | 0.52 | 0.44 | 0.4 | 0.35 | 0.33 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37

i Hihse
(N.m)

60-100
500 | 500 | 500 | 500 | 500 | 500 | 500 | 195 | 276 | 356 | 420 | 463 | 529 | 561

NSEHINZE (KW | 2.5 [ 1.75 | 1.39 | 1.19 | 1.08 | 0.98 | 0.85 | 1.5 | 1.5 | 1.5 | 1.5 | 1.5 | 1.5 | 1.5

HHEHE
(N.m)

80-135
1400 | 1400 | 1400 | 1400 | 1400 | 1400 | 1400 | 616 880 | 1108 | 1294 | 1426 | 1071 | 1811

NABHINZE (KW | 7.22 | 5.41 | 4.46 | 3.83 | 3.46 | 2.91 | 2. 71 3 3 3 3 3 3 3

kgl
(N.m)

120-175
3050 | 3050 | 3050 | 3050 | 3050 | 3050 | 3050 | 1798 | 2340 | 2798 | 3364 | 3616 | 2685 | 4463

112 Bi%: 0769-88387287 13712580294 f{EE:. 22477253 TEZRIFIEM




Bt TRl B &R E

DC DRUM MOTOR

ERZTRIFERE

mn & B9 R 770k

BL - T - 50 - A~ 25~ 380 - 40 - D - 24 - G [

7c Rl BB 41 REER 2% IR E (m/min) BEINE MW B JE (v)

T R _ D:E B 4753t
S | marEk| | amkE e B || EEER
S: 304N FHMINE 1:BHEEE (ZRFRE D)

SEANRIEA] miE: 0769-88387287 13712580294 fEE. 22477253 113




UigE ) AR - ~ | & T Rl 3R

DC DRUM MOTOR DC DRUM MOTOR

Bl42H B iR & M BL42R @ BL42 Outlining Dimensions

BL42 DRUM MOTOR | 81440 -

3| iR € 500 SL4+10 < 1
Lead outiet length 500

— SL+6 .

« R D2 7 BN « E: DC24V BN 2008010 - REAN WW
« Diameter: @42 - Wall thickness: 11.5  + Power supply: DC24V . Malerial: 204 carbon steel  + Surface treatment: zinc plating

B BL42#iR#$ W BL42 Mechanical Parameters

EZREDEAXSEARREGFROFAT, MATLRRABHNERMONE. RABGSSRBEGRINTEEHENDEEET, A - 439 923 00.9 X 5710
AUMETR, REP, RWi, EARNIRREEOGE SRS, EATF S0 One Stage ) 63 2 T P #240-600
This type of drum motor can be installed in limited space and meet the torque requirement. Using alloy steel grinded gears and 6:?5 58:8 a4 4: a 0:1 9 °:°5°

planetary transmission structure, it is reliable,free of maintenance and oil-renewing, space-saving. It can be use in many fields:
- BHWiRE Supermarket cashier
- BN Packaging machinery

; 5.
== ===
5. : 64 48
2 L= ) »260-600

19.1
. Belt con I b=t - 3 %.u
B iR onveyor line Two Stage =5
; 36 ﬁ .7 35.71
10W E 1.3
WBLA42#L )R M #§ i BL42 Characteristics Of Drum Motor z 8.70 65.8 1.1§ %
50.65 7.80 58.20 1.17 56.71
® Rk Drum:Shel 70.91 5.50 42.30 1.65 76.57
< AR M U H IR RER M T - iR BN A HB04F RN - AR MK R IN TAHBRIRE - HRED - WS MMM ERL, MREHN 78.95 5.00 38.00 1.83 87.14
(M - (7R B 163 = 92.41 4.30 32.50 2.15 102.4
+ Material of standard drum shell is mild steel - Food garde shell is 304 stainless steel - Standard cylinder rolling mill gear slip Thres Stage 107.14 3.70 28.00 2.49 118.6 =280-600
flower — gear - High alloy steel precision, ensures low noise transmission when the - Planetary gear transmission 1:._%37 3-20 23.20 :’-20 142.9
168.58 2.30 17.80 3.91 186.2
236.01 1.60 12.70 4.00 190.5
W L #1L 2 & 3§ % Basic Characteristics Of Motor 307.88 120 9.700 4.00 190.5

« b9 B W YLAE I § I 75 W 7200~ 300RPMBY This parameter is used for motor speed range in 200~-300RPM

® ShE42iR M (DCH IR AT E M F24VDC/36VDC/4BVDC) External diameter 42 drum motor (DC Power Supply When Applied To 24VDC/38VDC/48YDC)

BEt# Ratedspeed | in | 3000 B E# 1M Motion Characteristic Curve B 31 MR Lead Out Outlet
| WUE ¥ 46 Rated torque N.m | 0.082 -
s Sika - - ® (R i, Wil Lk 24137 KR M 2 8)
158 Bt 1 K §% 4B Instantaneous maximum torque N.m 0.048 Take the two stage of the reduction, the reduction
i f 451 % 75 [ Speed control range RPM | 200-~3000 ratio of 13.7K for the roller as an example
" } mawumMmm Mﬂﬂmammm |
: {8 [ On voltage +1.0%UF: & MERE +10%, WEHE, WEAK. WE 0 0 o A
: % ShLtes - Below  1%: condition rated vollage + 10%, rated speed, rated load, foom temperature osoq  Thelnelmnencevs
__ MEETHER
. _ e +1.0%E0F: &4 (# F R E0-+400C HEMKE, HEAY, BRERE - 20 Rated torque line
il i On temperature Below = 19%: Conditians of ambient temperature 0~+400C rated E o050
voltage, rated load and rated speed & 2% !
#iE L[ Rated vollage v |7/ [/ [ 24VDC(iOptional 36VDC/48VDC) § 01 e
o 7B 1% % VF 3¢ M Vollage tolerance range +10% g 10-NowPuSERnES
] g 3* Frequency Hz | / / i 0.82 - m-m' < '128::11-“!“:'::‘.:1&:? o e
: S [ PAESWEM Frequency tolerance range { £ o R —— .:m:mam e x:m —
® E :::Q:: ;a;:d e / ! 8.7 0.1 - — ) -~ ‘4200-2000RPM Continuous operation area
(0
Instantaneous maximum input current / / 1.4 - e . e e
_I —‘ $ti#Speed [rpm)

114 Mi%: 0769-88387287 13712580294 fEE. 22477253 JEANIIERHL FEASIEY], mi%: 0769-88387287 13712580294 fEE. 22477253 115




B T Rl 3R | , ‘ B TR R

DC DRUM MOTOR DC DRUM MOTOR

‘ BL50H &R i W BL50R @ BL50 Outlining Dimensions
SL+40 i
BL50 DRUM MOTOR B -
Laad outiet length 500]
F 5 @15
oo 1 B
._'.lJ SL 18]
SL+6 J
- R 050 CRmns « 1§ DC24V/AC220V - M 2008 CRELE WW

* Diameter: @50 - Wall thickness: 11.5  * Power supply: DC24V/AC220V - Material: 209 carbon steel  * Surface treatmant: zinc plating

B BL50#LIE# ¥ BL50 Mechanical Parameters

W= &8 B Product Information _

3.65 129 821.9 0.420 16.80
ERAHRMXSARAMOWRT, DTLURROHERNAE, RAEELONNERI0GREDENBERRI, R One Stage 838 23 e o 2 | =260-800
MEMTR, RBP, L0, EARIAOBRSASRE RN, EHF S0 563 34 6 347.6 ©.000 30.60
This type of drum molor can be installed in limited space and meet the torque requirement. Using alloy steel grinded gears and planetary 13. T; 7 u 7
transmission structure, it is reliable free ol maint @ and oil ing, space-saving. It can be use in many fields: 1 i 1
- MAWRE Supermarket cashier e 4, 19, T 101.6
@RNM  Packaging machinery Tws Brkos 25,08 16. 106. 2800 1156 | >270-800
- W% EE  Belt conveyor line @: 14.0 % m 140.0
40W 44, 10 7.1 4.61 1
58.22 51.50 5.00C 0
67.08 7.00 44.70 6.240 249.6
81.11 5.80 37.00 7.540 301.6
W BLS0M 3 iR M #4 & BL50 Characteristics Of Drum Motor TR o Sy S50 Ty
I i s i
AR EE 2RI R - A AAMEH304THN - FEMERENIHNRRE - R - EASWMEER, RECHMERE - (TRERIH Three Stage ] 45:“ 3:20 ;_.0:50 1.,:51 545:‘ =
+ Material of standard drum shell is mild stesl « Food garde shell is 304 stainless steel - Standard cylinder rolling mill gear slip flower — gear - High alloy 165.64 2.80 18.10 5.00 600.0
steel precision, ensures low noise transmission when the - Planetary gear transmission 231.61 2.00 12.90 15.00 800.0
301.68 1.50 9.8900 15.00 600.0

o k8 84 L LR R 66 i 76 B #E200~-300RPMBY This parameter Is usaed for motor speed range in 200-300RPM

W #12% X ¥4 Basic Characteristics Of Motor

250 VDC/36VDC/48VDC) External diameter 50 motor (DC Power Supply When Applied To 24VDC/36VDC/48VDC
dhns SRR, ; a4 = : B iE 5 %914 #h &8 Motion Characteristic Curve B 3 H&iIR A Lead Out Outlet

gaﬂudw r/min | 3000 ® (W fRwil, #iMtk%13.53K MM b %)

Rated Nm | 0.127 Take the two stage of the reduction, the reduction
InSantaneoLs maximum 1orquo Nm | 0.191 ratio of 13.53K for the roller as an example
| SRRFE 175 M Spoed controi mange RPM | 200-2500
21 #4% On load +1.0%ELT: S O-BEWSE. “QI. _IIIE . ®A _ 4
- " Below = 1%: condition 0-rated torque, rated speed, rated voltage, room lemperature :Hl*ﬂ!.
. 3.60 . G0N
H] A oo 0 L g i e L A D s
-2 - +1.0%GLF: R AFRBR0-1400C MM, BEAN, WERE s
g 48 B On temperature Balow % Condionsof asan ampersesO-+400C e volage, ated oad
¥ 2 L[5 Rated vollage V| MHSingle phase 110V] B #Single phase 220V | 24VDC( HOptional 36VDC/4BVOC)
- E Voltage tolerance range +10% <4i%: 1 Short-time operation area

" H [~ 9% Frequency Hz | 50/60 7 ® 3 2200-3000RPM Continuous operation area

= 2 ‘"ﬁ‘iﬁgﬁi Frequency lolerance range + 5% ! W_‘ _3 200-~3000RPM Continuous operation area

)\2 [ WRZE W\ R I Rated input current A | 072 0.36 2.70 : : _. - 4200-2000RPM Continuous operation ares

| 908 W\ 1B © 200 1500 2000 2500 3000
Instantaneous maximum input current A 1.40 0.55 5.60

_I —‘ WMSpeed [rpm)

116 Mi%: 0769-88387287 13712580294 fEE. 22477253 JEANIEIRHL FEANIEY], mi%: 0769-88387287 13712580294 {5 E. 22477253 117




B T Rl 3R | , ‘ B TR R

DC DRUM MOTOR DC DRUM MOTOR

BL60OH 3 iR & WBL60R @ BL60 Outlining Dimensions
BL60 DRUM MOTOR 81.+40
51 tHé% €1 500 SL+10
Lead autlet length 500/
[ \ '
L I 13 @15
— B {q/\"" 8 .
15 sL 15
SL+6 et
@/ 080 ] BiK « &1 DC24V/AC220V - B 204EE W - REAT W@
» Diameter: @60 - Wall thickness: t1.5 + Power supply: DC24V/AC220V - Material: 20/ carbon steel - Surface treatment: zinc plating
I BL6O#HLW £ ¥ BL60 Mechanical Parameters

W& 18 R Product Information 3.65 155 821.9 0.940 31.33
-9 5.36 105 559.7 1.380 46.00 =270-~1000
AN TAMRAEAROMAT, NTLREBHNERNNE. FASASWEMBESRITREADENY X, A One Stage 6.55 86.0 458.0 1.690 55'353
AERTR, RMP. RMl, EARIHERSASESKA, BEHTFEI AL 1‘:% A L 7_-; : ';’3" :‘-3-;
This type of drum motor can be installed in limited space and meel the torque requirement. Using alloy steel grinded gears and planetary 11-!--' 92 mm.o 231-1“.6 ‘ﬁ 3 “ﬂ-——'a
transmission structure, it is reliable, free of maintenance and oll-renewing, space-saving. It can be use in many fields: -—-‘-—M '23 0 121.7 5.720 1 ﬁ-'-?r .
*MRQARS  Swpemarketaashier ook 28.05 20.0 06.9 6510 217.0 | >280-1000
+ @%MK  Packaging machinery 98 T 3392 17.0 88.40 7.670 262.3
WM E  Belt conveyorline 4__4___3 3.0 67.10 10.37 345.7
58.22 0.0 51.50 12.00 400.0
aow 67.08 8.00 44.70 14.03 467.7
B1.11 7.00 37.00 16.96 5653
91.36 6.00 32.80 19.11 637.0
W BL60® %R M ¥ 4E BL60 Characteristics Of Drum Motor - 5556 555 TR —— L
® MY Drum Shell Thm:SIaga 118.98 5.00 25.20 24.88 829.3
127.74 4.40 23.50 25.00 833.3
BN A IR R - R2AWESH304THE - SREMERTNIHNRRE - G0 - SLRMEER, BREDIHERE - TREERNS 14536 2.00 20.60 35.00 8333 =305-1000
* Material of standard drum shell is mild steel + Food garde shell is 304 stainless steel + Standard cylinder rolling mill gear slip flower - gear + High alioy 165.64 :’:40 18:10 25:00 333:3
steel pracision, ensures low noise transmission when the « Planetary gear transmission 191.56 3.00 15.70 25.00 8333
231.61 2.40 12.90 25.00 833.3
301.68 2.00 9.900 25.00 833.3
392.98 1.44 7.600 25.00 833.3
W13 %414 Basic Characteristics Of Motor - B4 844 L OF A 4% i G [ 75200~ 300RPMAY This parameter is used for motor speed range in 200~300RPM

® HE60iRM (DCHHEE M F24VDC/36VDC/48VDC) External diameter 60 drum motor (DC Power Supply When Applied To 24VDC/36VDC/MBVDC)

L E— L —— M MM ME Motion Characteristic Cuve 1 3IH#8A Lead Out Outlet
Ratod spood r/min | 3000 O (WMZfali®, Witk H13.53Ka0RMA M)

Rated N.m | 0.285 Take the two stage of the reduction, the reduction
Instantaneous maximum tomue N.m | 0.570 ratio of 13.53K for the roller as an example
| A M7 B Speed control range RPM | 200-3000
2 1.0%ELTF: ”O-II'I. MI‘ Il‘ﬁs wa |
‘i 21 #1142 On load Bolow £1%: condhion O~rated tomes, rated Toom tempeature W R xS
: . - 8.46 - @ instantaneous
; HRE On voltage ;Lﬁfm? “..ﬁ*w“.’:.h."&.'m“..".‘. m.m“ o el BRI
— ated torque
& _ | 0%, & EAEAAR0-40C HENS. HENE. WERE § 40
a ¥} B On temperature Bolows 1%: ambient temperature 0-+400C rated valtage, £ 39
mmw E 345 |
_ﬁrnma vollage V__ | BHSingle phase 110V | SLISIngie phase 220V | 24VDG(W BOptional 36VDCA48VDC) lie 314 200 sooorPume g2 !
\'oﬂlgl tolerance range +10% et t 4t 1 Short-time operation area
i g Frequency Mz 50/60 / g ! L i l@ ‘l 2200~3000RPM Continuous operation area
= ’_i“_?fﬁnquam tolerance range +5% / 200-2000RPUERETE 4 o ' 3200-3000RPM Continuous operation area
A i!i)\. it Ratod input current A 23 1.2 5.3 0114 . - 4200-2000RPM Continuous operation area
.ﬂ!*')\ﬂﬂ e 200 1500 2000 2500 3000
—‘ Instantaneous maximum input current A |35 1.78 8.0 -—| WiltSpeed (rpm]

118 Fi%: 0769-88387287 13712580294 {4 E . 22477253 SRR TEANIRERYL BiE: 0769-88387287 13712580294 f6E . 22477253 119




LR LA - | | R B R

DC DRUM MOTOR DC DRUM MOTOR

BL70H iR & WBL70R @ BL70 Outlining Dimensions
BL70 DRUM MOTOR " - SL4d0 -
31 €500 SL410
Lead outietlength 500
- 3 @15
________________________ 2(\' 5 B/
15 SL J |15 )
I SLe6
» 8070 '] BIN - Ml DC24V/AC220V « R 200 SEWAN WS

- Diameter; ®70 - Wallthickness: t1.5 - Power supply: DC24V/AC220V - Malerial; 20# carbon steel  * Surface treatment: zinc plating

B BL70#l## ¥ BL70 Mechanical Parameters

3.65 180 821.9 1.250 35.7

W 7™ 5 {8 & Product Information
—i& 5.36 123 550.7 1.840 52.57 »320-1000
RN TEARKAEANAT, HFTULEBHERNNE. RASSSWMEGRITREHEND E&iQT, R One Stage 6.55 100 458.0 2.2560 64.29
HERTR, U9, o, EARINERSESESRA. EHFE G, 8.63 76.0 347.8 2.960 84.57
This type of drum molor can be Installed in limited space and meel the torque requirement. Using alloy steel grinded gears and planetary s.—'g g_‘o !2—1.‘1'— 4.180 1!"
transmission struclure, it is reliable,!ree of maintenance and cil-renewing, space-saving. It can be use In many flelds: 23':25 ﬁ:g : g—'—;‘% g—% 4-2-:-!-,1;
TRACRS. Searmeitel sahive Twabtage | 2805 23.5 06.9 8.680 248.0 | >340-1000
BRI  Packaging machinery 92 19.0 88.40 10.50 300.0
- WWIEER  Belt conveyor line 44.69 : 4,_0 a'fﬂ 151-0 )
58.22 11.0 51.50 18.00 514.3
90w 67.08 9.00 44.70 18.60 531.4
81.11 8.00 37.00 22.58 6545.1
91.36 7.00 32.80 25.44 726.9
M BL70M iR M3 4E BL70 Characteristics Of Drum Motor . L3 o0 22 80 24 i
® #Mtk Drum Shell Thre: Stage 118.98 5.00 25.20 33.13 046.6
5 . - n 4 z 127.74 5.00 23.50 35.57 1016.6
SOl MO IR R - R MK H304TRIAN - AR MR TR RIRIE - HRNE - RESEMBER, MEAHIHERS - (TRERED 14536 250 50.60 20.48 1156 6 =360-1000
« Material of standard drum shell is mild steel - Food garde shell is 304 stainless stee! - Standard cylinder rolling mill gear slip flower ~ gear - High alioy 135‘84 4'00 13'10 43'12 131?'7
steal precision, ensuras low nolse transmission when the + Planetary gear transmission 191.56 3.40 15.70 50.00 1428.6
231.61 2.80 12.90 50.00 1428.6
301.68 2.00 9.900 50.00 1428.6
392.98 1.60 7.600 50.00 1428.6

YL X% Basic Characteristics Of Motor
@ HE70{RM (DCHIEMIE M T24VDC/36VDC/48VDC) External diameter 70 drum motor (DC Power Supply When Applied To 24VDC/38VDCMBVDC)

P W iZ% %1% 8 & Motion Characteristic Curve W 51 tH#EIRM Lead Out Outlet
Rated speed r/min | 3000 -

: Nom 1 0.383 © (IR TERWE, WSk 13 53K WM h 5)
FAated Lo LU R Take the two stage of the reduction, the reduction
4 Instantanecus maximum torque N.m | 0.760 ratio of 13.53K for the roller as an example
315§l Speed control range RPM | 200-3000

« it 8 B 25 W8 4L 0 A §% 8 76 [ #£200~-300RPMBY This parameter is used tor motor speed range in 200~300RPM

%4 48 On load +10%ELT: R O-MEWIE. MAEWE, WERE. #E | 1
- Sulear &1 oo O-aulicd . ciad o Sl vilige. oo lanpmestors WY 8k 1198 £
N +1 M'F 1 MR MR £ 10%, 'm I!ﬁl- il 1078 Theinstantaneous
XA On voltage Bolow: 1% condition rated voltage + 10%, rated To0m temperaturs 178 maimum toraue e WUE (ISR
- ated torque
W + 1.0%ELF: &4 (f FIFIRE M0~ +400C m.. m& HERE € 600
g 2} i B On temperature m&mummmmwmm E 3
I peed 3 48 roonee - B e
WI7E L% Rated voltage V__ | MHiSingle phase 110V] I MSingle phase 220¥ | 24VOC(W BOplional 38VDC/48VDC) L [l P e—
LI 9% V¥ 70 B Voltage tolerance range +10% E PR «it: 1 Shori-time operation area
45 | | 200-2500RPNSREHE
" i Frequency Hz | 60/60 / g 2% B bl 12200~3000RPM Continuous operation area
: B hi Frequancy tolerance range + 5% / w y (3200~3000RPM Continuous operation area
)\g —“')\iﬂ Rated input current A 3.1 1.5 7.1 0.1 4 i 3 = 4200~2000RPM Continuous operation area
N T I T ol o R S0 | o 200 1500 2000 2500 3000
_I Instantaneous maximum input current 1 4 mSpasd (rpm]

120 Bmi%. 0769-88387287 13712580294 f{LE. 22477253 E7NIEIERY FERIHIENL ®i%: 0769-88387287 13712580294 fEE . 22477253 121




Eum%’rzﬂ] EE,Kj] ;f%:kk

DC DRUM MOTOR

BL8OH zhiE &
BL80 DRUM MOTOR

W 7 518§ B Product Information

HMEHEMATERCAROMWRT, O RRBEERN NG FARESNNRERNGTREHNSD &G, R
FMMTNR, M, fmib, BARNHERSOHIRBEA, EHTFE PG \

This type of drum motor can be installed in limited space and meet the torque requirement. Using alloy steel grinded gears and planetary
transmission structure, it is reliable,free of maintenance and oil-renewing, space~saving. It can be use in many flelds!
« W&  Supermarket cashiar
« 3 WL Packaging machinery
- BriiMiZ &k Belt conveyor line

W BL8OH %) ¥ 4§ i BLBO Characteristics Of Drum Motor

@ ik Drum Shell

o BTN A (R RO 1R« e 0 YO 2 BOAT AR AR « AR M1 T 0 T 4 B A IREAE - UARAER) - A R MMM e, WRIGRIRHEMT - 170 HRieRh
+ Material of standard drum shell is mild sleel + Food garde shell is 304 stainless steel + Standard cylinder rolling mill gear slip flower - gear - High alloy
steal precision, ensures low nolse iransmission when the « Planetary gear transmission

& 12 X ¥ 1% Basic Characteristics Of Motor
o ﬂ&mﬂﬁ {ocultiljnuvncmvncmvncl External diameter 80 drum motor (DC Power Supply When Applied To 24VDC/36VDC/48VDC)

SE Rl A epeed 3000
:%&.m N.m | 0.478
4E Instantaneous maximum torque N.m | 0.72
ﬂﬂﬂﬁmlwmw RPM | 200-3000 |
¥ 34 #58% On load +1.0%ATF: S O-BUEHIE, BUEIH, WENE, BB
i mammmm.mm.mew.mw
® *}eF On voltage £ 1.0%EAF: i BUERE £ 10%, BUESN, SERN. ®B
!‘lg - ! Below x 1% condition rated voltage +10%, rated speed, rated load, room lemperature
2 +1.0%UF: ﬂt!nmm—uooclm iz R, l!lﬁ
' % %} il B On temperature mmﬂmd rated voltage, rated
#iE B % Rated vollage V__ | RABSingle phase 110V] ®#ESingle phase 220V | 2¢VDC(iROpional 6VDC/48VDC)
8 % ¥ 4 76 M Vollage tolerance range +10%
gg | 91 Frequency Hz | 50/60 / |
= EX 3G %!Fraquancy tolerance range + 5% / |
)\E W7 S0\ M8 it Rated input curraent A 3.89 1.95 8.9 I
T3 e A K 9k N L EE
Instantaneous maximum Input current A |8.84 3.0 134 ‘

122 Hi%: 0769-88387287 13712580294 {5 E: 22477253 EZNIHIRL

E JIL 5% }r:'IJIJ EE. T\j] ;f_fl*\: ]

DC DRUM MOTOR

W BL8OR F @ BL80 Outlining Dimensions

SL+42 -
5| &k A 500 " SL+12 .
Lead outlet length 500
13 5‘-1317_
"
__________________________________________________ b 3T ‘@ﬁ
e
.15 8L 156 |
SL+8
« Wie: 8o «@§: 2.0 - @ill: DC24v/AC220V « W 208EKR - MWL @

- Diameter; @80 - Wall thickness: 12.0  + Power supply: DC24V/AC220V - Material: 20# carbon steel  * Surface treatment: zine plating

I BL8O#LiW £ ¥ BL80O Mechanical Parameters

3.65 211.7 821.9 1.570 39.25

— 5.36 144.0 559.7 2.300 57.50
One Stage 6.55 118.0 456.0 2.810 70.25 | 9360-1000
8.63 89.50 347.6 3.710 92.75
13.53 57.00 2217 5.230 130.8
18.92 47.0( 158.6 7.320 183.0
" 24.65 31.00 121.7 9.530 238.3 _
waBteos 28.05 27.50 106.9 10.85 271.3 | >380-1000
33.92 22.80 86.40 13.11 327.8
44.69 17.0( 67.10 17.28 432.0
58.22 3.00 51.50 22.52 563.0

150W 67.08 50 44.70 23.35 583.75
81.11 9.500 36.90 28.23 705.75

91.36 8.500 32.80 31.80 795.00

_— 102.88 7.500 26.20 35.8° 895.25

= 118.98 6.500 25.20 4141 1035.3

Three Stage 5774 6.000 23.50 44.56 115 | 400 1000

145.36 5.000 20.60 50.60 1265.0

165.64 4.600 18.10 57.66 14415

191.56 4.000 15.60 66.68 1667.0

231.61 3.000 12.90 80.62 20155

301.68 2.500 9.900 84.00 2100.0

392.98 2.000 7.600 84.00 2100.0

« WM 48 M 2 AL AL ) $% 58 76 B #£200~300RPMBY This parameter is used for motor speed range in 200~300RPM

W 5451 dh & Motion Characteristic Curve W 5| H&iIR# Lead Out Outlet

© (B FRollid, W%k 513, 53K IR M 2 )
Take the two stage of the reduction, the reduction
ratio of 13.53K for the roller as an example

[
IR e 1K 40 56 R
13,96 The Inslantaneous
maximum torgue line W iR {1 4B AR
- 104 Rated torque line
E 7.00
z i
S 577 [
g 524 [0
E """" e ityatdes «i%: 1 Short-time operation area
¥ 2200~3000RPM Continuous operation area
[3200-3000RPM Continuous operation area
041 | : : ; - '4200~2000RPM Continuous operation area
(0) 200 1500 2000 2500 3000
$iiSpeed [rpm]
FEANIIEY], mi%: 0769-88387287 13712580294 f&E: 22477253 123




APPEND | X =2}

FLiE: 0769-88387287 13712580294 {8 EH: 22477253

il

TN IRIERA

APPEND I X E, 1

=, BHR, HE, RITMEER:

oo ||| s | | [0
3 23 197|270 | 328
oo ||| EEmED
.55 1007 5 0 10 o o 5w m
130 200 12 | 255 | 290
o7 a0, 55 s 0 25 o BRI

T  wlw s
920 215 250 28 24 325| 370 405
B BB

m
IR e R R R e e e e e e
720

L ] o e oo o s |l

200 30 1480 300|400| 4 790 | 740 253 | 300 | 296 | 236

250 | 55 w0 1| o] o 1m0 s 50550 8 | 5| o vl 10 50| 10| s o s | | so|st0 e
2os | 5 i 4 w0 070 0 0 50 a5 75 v 20 10 [0 o o) s | a0 o e

VEARIHIENL EiE: 0769-88387287 13712580294 {EEH . 22477253




APPEND I X

& . IR E A0

126

Hi&E: 0769-88387287 13712580294 fEH: 22477253

TR NIRRT

APPEND I X

T %
RZAEAETAAFEFRAZERNBERECAZTFENZEETCE HHEESHER WR
RRNEBEGNAEEENE ERESHBRZRANERS HINEFTEEAED
UZHITENEENRRNENSESLIRFEFATRNE B ARSI 5 E MR MK &
MNBFNFERFELTEMEFKEIF S IR
N EBRRELEEMBAL2ANBEN M AALNTENN TSR ESR G NS
BE AR ERFEXKSE

EHNIBEREEAAXAIEBERTANRES R EARARERSIERFHRBINIFEE
Bt A 15 BA.

o EEENTE@RE, HREXRKBITIHBE;

BRSME. AL, HREMNEL RRAAEBRFEEREMEIE S TR B,
KGR BENFAERENBSTUEREHGRERFE LRI MEEEFRMER
ERERAH B X BREVREAMNERNEEXRRESWITREEABR A X,
R EELIEIAE R E AR BB,
EHERENEEFETERERFEILETERERAARNBABERRZST R E E K,
BAAURESAKIABSEFENITRFATARPRMEET BRITRS

R 2 & ik & E:
RIMEHRAAFRET BE+HZANA KA
MFRIEABRFRIEHRNEBEEATEEPNERLRR A EHBRENEREEHFTES SRR
EALAEEEASI R EEKDNRF X IEHITYE BN E R
AEFRERIENAS:
1) AEFRNRESHMEENHESE L 5 sl & %E;
2) FRABRAKLQXASFTREARBERENNE REFEHAMBRES H sl &/ EE,;
3) MEBUMEAMIIENKE RFERIEALXFEZFNIE BB E D KE,
4) APBEMEET S FH NS E B 8E,
5) M EARNA TR E LM 5| R R 8 RE;
6) ARPEREHAFTENEM S &£ /Y E;
7) ME. KR, KR, BKE#HK,. MRE. EFTEHEMEATTMNENE A RE S
X2 By ORE;
8) EEFR&HT MA. MHEZHRHFNBERE R R & L.

SEASHIEN, miE. 0769-88387287 13712580294 fEE: 22477253 127




